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(૧) ઉમેદવાર� વાધંા-�ચૂનો ર�ૂ કરવા વેબસાઇટ પર પ્રિસધ્ધ થયેલ િનયત ન�નૂાનો ઉપયોગ કરવો. 

(૨) ઉમેદવારોએ પોતાને પર�ક્ષામા ંમળેલ સીર�ઝની પ્ર���ુસ્તકામા ંછપાયેલ પ્ર�ક્રમાકં �જુબ વાધંા �ચૂનો ર�ૂ

ન કરતા તમામ વાધંા-�ચૂનો વેબસાઇટ પર પ્રિસધ્ધ થયેલ પ્રોિવ�ઝનલ આન્સર ક�(માસ્ટર કોપી)ના પ્ર�

ક્રમાકં �જુબ અને તે સદંભર્મા ંર�ૂ કરવા.

(૩)     માસ્ટર કોપીમા ંિન�દ�ષ્ટ પ્ર� અને િવકલ્પ િસવાય�ુ ંObjection ધ્યાને લેવામા ંઆવશે નહ�. 

(૪)    ઉમેદવાર � પ્ર�ના િવકલ્પ પર વાધંો ર�ૂ કર� છે અને િવક્લ્પ�પે � જવાબ �ચુવે છે એ જવાબ 

ઉમેદવાર� ઉ�રવહ�મા ંઆપેલ હોવો જોઈએ. ઉમેદવાર� �ચૂવેલ જવાબ અને ઉ�રવહ�નો જવાબ �ભ� 

હશે તો ઉમેદવાર�ુ ં Objection ધ્યાનમા ં  લેવાશે નહ�. �ૂંકમા ં ઉમેદવાર� આપેલ જવાબના સદંભર્મા ં

તેમ�ુ ંObjection હો�ુ ંજોઈએ.  

(૫)      ઉમેદવારોએ ઉક્ત �ચૂના�ુ ંપાલન કર�ુ ંઅન્યથા વાધંા-�ચૂનો �ગે કર�લ ર�ુઆતો ધ્યાને લેવાશે   નહ�.

(1) Suggestion(s) is to be sent in the prescribed format published on the website. 

(2) All suggestions are to be sent with reference to the Master Question Paper with 
provisional answer key (Master Copy), publishing herewith on the website. Objections 
should be sent referring to the question No. of Master copy. 

(3) Objections not in compliance with the Master Copy Question, Question No. and Options 
shall not be considered. 

(4) Objections and answerers suggested by the candidate should be in compliance with the 
responses given by him in his answer sheet. Objections shall not be considered, in case, if 
responses in the answer sheet and suggestions are differing. 

(5) Candidate Must ensure the above compliance. 
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CSP – 1 – M] 2 [Contd.

M
001.	 ®‚Äw ¾eý™e ‚tMf]rŒ rðþu ™e[u yk…u÷kt rðÄk™ku{ktÚke fÞwt(Þkt) rðÄk™(™ku) Mkk[wt / Mkk[kt Au?
	 1.	� nzÃ…k{kt R.‚. 1921{kt «Úk{ðkh y™u íÞkhƒkË R.‚. 1922{kt {kunutòu-Ëkhku{kt ®‚Ä «Ëuþ™e yk ‚tMf]rŒ™e 

yku¤¾ AŒe ÚkE.
	 2.	� ƒt™u þnuhku™kt Wíf]ü …rh{kýku, hksfeÞ fuLÿeÞfhý™u ‚q[ðu Au, fkt Œku ƒu {kuxk hkßÞku Œhefu yÚkðk Œku yuf 

‚k{úkßÞ Œhefu ðifrÕ…f hksÄk™eyku ‚kÚku.
	 3.	� fkrXÞkðkz îe…fÕ… y™u yuÚke yk„¤ Ërûký rðMŒkh™e ‚ÇÞŒk, ®‚Äw ‚tMf]rŒ™kt «{w¾ MÚk¤ku™e ‚h¾k{ýe{kt 

…kA¤Úke rðfMÞkt nkuÞ yu{ sýkÞ Au.
	 (A) 1 y™u 2 {kºk	 (B) 1 y™u 3 {kºk	 (C) 2 y™u 3 {kºk	 (D) 1, 2 y™u 3

002.	 fÞk yt„úuS rðîk™u ¼„ðËTøkeŒk™ku yt„úuS{kt y™wðkË fÞkuo?

	 (A) rðr÷Þ{ suB‚	 (B) [kÕ‚o rðrÕfL‚	 (C) ÷kuzo {ufku÷u	 (D) rðr÷Þ{ ƒurLxf

003.	 „ktÄkh f÷kþi÷e rðþu ™e[u …ife fÞwt(Þkt) rðÄk™(™ku)  Mkk[wt / Mkk[kt Au?
	 1.	� «k[e™ ¼khŒeÞ RrŒnk‚{kt «{w¾ f÷kþi÷eyku{kt™e yuf „ktÄkh f÷kþi÷e nŒe y™u Œu y™LÞ heŒu „úefku-hku{™ 

þi÷e™e f÷k ‚kÚku ‚tf¤kÞu÷e nŒe. 
	 2.	� {nkÞk™ ƒkiæÄðkË ‚kÚku „ktÄkh f÷kþi÷e ½r™c heŒu ‚tf¤kÞu÷e nkuðk™u fkhýu yk f÷k™kt {wÏÞ rð»kÞðMíkw  

(main theme) ¼„ðk™ ƒwæÄ y™u ƒkurÄ‚¥ðku hÌkk.
	 3.	� yV½kr™MŒk™ y™u nk÷™k W¥kh-…rù{ ¼khŒ™k rðMŒkhku{kt yk f÷kþi÷e {wÏÞíðu rðf‚e y™u Œûkrþ÷k,  

…uþkðh, ƒ„hk{ y™u ƒkr{Þk™ yu™kt «{w¾ MÚkk™ku nŒkt.
	 (A) 1 y™u 2 {kºk	 (B) 1 y™u 3 {kºk	 (C) 2 y™u 3 {kºk	 (D) 1, 2 y™u 3

004.	 rðsÞ™„h™k ‚k{úkßÞ rðþu ™e[u …ife fÞwt(Þkt) rðÄk™(™ku) Mkk[wt / Mkk[kt Au?
	 1.	 rðsÞ™„h ‚k{úkßÞ 1336{kt MÚk…kÞwt y™u ƒu þŒfkuÚke ðÄw yu «¼kðþk¤e ‚¥kk Œhefu Ërûký ¼khŒ{kt xfâwt.
	 2.	 nrhnh y™u ƒw¬k Lkk{Lkk ƒu ¼kEykuyu rðsÞ™„h ‚k{úkßÞ™e MÚkk…™k fhe. 
	 3.	� ƒw¬kyu ÔÞðMÚkkŒtºk™k MÚkku÷k, ™kzw y™u ‚e{k Lkk{Lkk yuf{ku håÞkt yLku MÚkkr™f ÔÞðMÚkkŒtºk™u [÷kððk y™u 

{nu‚q÷ ð‚q÷ðk {kxu yrÄfkheyku™e r™{ýqf fhe.  
	 4.	� R.‚. 1347{kt ƒn{™e ‚ÕŒ™Œ™e MÚkk…™k ™ðk y™u {kuxk ¾ŒhkY… nŒe, ƒn{™e ‚ÕŒ™Œ íkhVLkwt òu¾{ 

rLkðkhðk {kxu nrhnhu ‚k{úkßÞ™k rðMŒ]Œefhý™e «ð]r¥kyku™u ½xkzðkLke Vhs …ze nŒe.
	 (A) 1, 3 y™u 4 {kºk	 (B) 1, 2 y™u 4 {kºk	 (C) 2 y™u 3 {kºk	 (D) 1, 2, 3 y™u 4 

005.	 „Æh yktËku÷™ ‚tË¼uo ™e[u …ife fÞkt rðÄk™ku Mkk[kt Au? 
	 1.	� ¼khŒ Ëuþ{kt rƒúxeþ þk‚™™u WÚk÷kððk {kxu ™kýkt yufºk fhðk y™u ‚{Úko™ yk…ðk Mk{ŠÃkík, ËuþrLkfk÷ ÚkÞu÷k 

…tòƒeyku™k „XƒtÄ™ Y…u, 1913 {kt fur÷Vkur™oÞk{kt „Æh yktËku÷™ þY ÚkÞwt.
	 2.	 Œu™wt ykÞkus™ yuf …tòƒe ÷k÷k÷s…Œ hkÞ y™u rƒr…™[tÿ …k÷™e yæÞûkŒk{kt fhðk{kt ykÔÞwt nŒwt.
	 3.	� „Æh yktËku÷™ ytŒ„oŒ …rºkfkyku Ak…ðk {kxu y™u ¼khŒ™e ¢ktrŒ {kxu nrÚkÞkhku y™u MðÞt‚uðfku {kuf÷ðk {kxu™wt 

ykÞkus™ fÞwO nŒwt.
	 4.	� 1920 ™k ËkÞfk{kt, òufu, „Æh …kxeo™wt …w™„oX™ fhðk{kt ykÔÞwt nŒwt y™u ¼khŒeÞ ykÍkËe™k ‚{Þ 1947 ‚wÄe 

Œu …tòƒe y™u þe¾ku™e yku¤¾ {kxu™k fuLÿeÞ ®çkËw (focal point) Œhefu [k÷w hÌkwt.
	 (A) 1, 2 y™u 3 {kºk	 (B) 2, 3 y™u 4 {kºk	 (C) 1, 3 y™u 4 {kºk	 (D) 1, 2, 3 y™u 4
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M
001.	 Which of the following statements is/are correct about Indus Valley civilization?

	 1.	� The civilization was first identified in 1921 at Harappa and then in 1922 at Mohenjo-Daro.

	 2.	� The outstanding magnitude of both the cities suggests political centralization, either in two large 
states or in a single empire with alternative capitals.

	 3.	� The southern region of the civilization, on the Kathiawar Peninsula and beyond, appears to be of 
later origin than the major Indus sites.

	 (A) 1 and 2 only		  (B) 1 and 3 only

	 (C) 2 and 3 only		  (D) 1, 2 and 3

002.	 Name the English scholar who translated Bhagavad Gita (in) to English.

	 (A) William James		  (B) Charles Wilkins

	 (C) Lord Macaulay		  (D) William Bentinck

003.	 Which of the following statements is/are correct about Gandhara School of Art?

	 1.	� Gandhara School of Art was one of the major schools of art in the history of ancient India and it is 
uniquely associated with the Greco-Roman style of art

	 2.	� Gandhara style of art was closely associated with Mahayana Buddhism and hence the main 
theme of this art was Lord Buddha and Bodhisattvas

	 3.	� It mostly flourished in the areas of Afghanistan and present North-Western India and the prominent 
locations were Taxila (Takshashila), Peshawar, Begram (Bagram) and Bamiyan

	 (A) 1 and 2 only		  (B) 1 and 3 only

	 (C) 2 and 3 only		  (D) 1, 2 and 3

004.	 Which of the following statements is/are correct regarding Vijaynagar Empire?

	 1.	� Vijayanagar empire was established in 1336 and it lasted for more than two centuries as the 
dominant power in south India.

	 2.	 The kingdom of Vijayanagar was founded by Harihara and Bukka.

	 3.	� Bukka created administrative units called stholas, nadus, and simas and appointed officials to 
collect revenue and to carry on local administration.

	 4.	� The foundation of the Bahmani Sultanate in 1347 created a new and greater danger, and Harihara 
was forced to lessen his own expansionist activities to meet the threat posed by Bahmani kings.

	 (A) 1, 3 and 4 only	 (B) 1, 2 and 4 only	 (C) 2 and 3 only	 (D) 1, 2, 3 and 4

005.	 Which of the following statements is/are correct about Ghadar movement?

	 1.	� The Ghadar Movement began, in 1913 in California, as a coalition of expatriate Punjabis dedicated 
to raising money and support for the overthrow of British rule in India.

	 2.	 It was organized and headed by a Punjabi Lala Lajpat Rai and Bipin Chandra Pal.

	 3.	� The Ghadar movement organized to print pamphlets and even to send arms and volunteers for a 
revolution in India.

	 4.	� In the 1920s, however, the Ghadar Party was reorganized and it continued as a focal point for 
Punjabi and Sikh identity until the time of Indian Independence in 1947.

	 (A) 1, 2 and 3 only	 (B) 2, 3 and 4 only	 (C) 1, 3 and 4 only		  (D) 1, 2, 3 and 4
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M
006.	 ™e[u …ife fE òuze(yku) ¾he Au?

	 1. …kïo™kÚk – ƒ™kh‚™k hkò yï‚u™™k …wºk	 2. {rÕ÷™kÚk – r{rÚk÷k™k hkò™e …wºke

	 3. he»k¼™kÚk – ƒ¤Ë™wt «Œef	 4. ™ur{™kÚk – ©ef]»ý™k r…ŒhkE

	 (A) 2 y™u 3 {kºk	 (B) 1, 2 y™u 4 {kºk	 (C) 1, 2, 3 y™u 4	 (D) 1, 2 y™u 3 {kºk

007.	 ™e[u …ife fÞkt rðÄk™ku Mkk[kt Au?

	 1. ßÞkhu yì÷uõÍktzhu ¼khŒ …h yk¢{ý fÞwO íÞkhu ykB¼e Œûkrþ÷k™k hkò nŒk. 

	 2. …kuh‚™wt hkßÞ Íu÷{ y™u r[™kƒ ™Ëe™e ðå[u nŒwt.

	 3. Íu÷{™k rf™khu yì÷uõÍktzhu Boukephala (Bucephala) þnuh™e MÚkk…™k fhe.  

	 4. yì÷uõÍktzhu 2 ÷k¾ ƒ¤Ë ¼khŒÚke {i‚uzkur™Þk {kufÕÞk.

	 (A) 1 y™u 2 {kºk	 (B) 2 y™u 4 {kºk	 (C) 1, 2, 3 y™u 4	 (D) 1, 2 y™u 4

008.	 ™e[u …ife fÞkt rðÄk™ku Mkk[kt Au?

	 1. R÷kuhk™wt «ÏÞkŒ fi÷kþ {trËh hk»xÙfqx™k hkò r¢»™k-I yu ƒktæÞwt nŒwt. 

	 2. hk»xÙfqx™k hkßÞfk¤{kt ÷kuf‚u™u ‘{nk…whký’ håÞwt nŒwt.

	 3. Œktòuh™k hkshksuïh {trËh{kt 400 ™]íÞkt„™kyku nŒe.

	 4. ftƒ™™wt ‘hk{kðŒkh{’ Œr{¤™wt {nk™ {nkfkÔÞ „ýkÞ Au. 

	 (A) 1 y™u 2 {kºk	 (B) 2 y™u 3 {kºk	 (C) 1 y™u 4 {kºk	 (D) 1, 2, 3 y™u 4 

009.	 fr™»fk rðþu ™e[u …ife fÞkt rðÄk™ku Mkk[kt Au?

	 1.	 Œu™e hksÄk™e …wÁ»k…wh nŒe.

	 2.	 [e™e s™h÷ …k™-[kyku (Pan-chao) yu Œu™u nhkÔÞku nŒku.

	 3.	 Œuýu ºkeS ƒkiæÄ …rh»kË™wt ykÞkusLk fÞwO níkwt.

	 4.	 Œu™k hkßÞfk¤{kt {Úkwhk f÷k™wt {nk™ fuLÿ ƒLÞwt. 

	 (A) 1, 2 y™u 4 {kºk	 (B) 1 y™u 3 {kºk	 (C) 2 y™u 4 {kºk	 (D) 3 y™u 4 {kºk

010.	 fw{kh…k¤ ‚ku÷tfe rðþu ™e[u …ife fÞkt rðÄk™ku Mkk[kt Au?

	 1.	 ði»ýððkË™k y™wÞkÞe nŒk.

	 2.	 ðkø¼è yu{™k {nk{kíÞ nŒk.

	 3.	 yu{ýu sw„kh, ®n‚k y™u ËkY™k ð…hkþ …h «rŒƒtÄ {qfâku nŒku.

	 4.	 Œu{ýu ¼kð ƒ]nM…rŒ™u ‚ku{™kÚk™k {ntŒ Œhefu r™BÞk nŒk. 

	 (A) 2, 3 y™u 4 {kºk	 (B) 1 y™u 2 {kºk	 (C) 3 y™u 4 {kºk	 (D) 1, 2, 3 y™u 4
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M
006.	 Which of the following pairs are correct?

	 1.	 Parsvanatha - Son of king Asvasena of Banaras.

	 2.	 Mallinath - Daughter of the ruler of Mithila.

	 3.	 Rishabhanath – symbol Bull.

	 4.	 Neminath - cousin of Shri Krishna.

	 (A) 2 and 3 only		  (B) 1, 2 and 4 only

	 (C) 1, 2, 3 and 4		  (D) 1, 2 and 3 only

007.	 Which of the following statements are correct?

	 1.	 When Alexander invaded India Ambhi was the ruler of Takshashila.

	 2.	 Kingdom of Purus was between the rivers Jhelum and Chenab.

	 3.	 Alexander founded a city named Boukephala (Bucephala) on Jhelum.

	 4.	 Alexander had sent 2 lakh oxen from India to Macedonia.

	 (A) 1 and 2 only		  (B) 2 and 4 only

	 (C) 1, 2, 3 and 4		  (D) 1, 2 and 4 only

008.	 Which of the following statements are correct?

	 1.	 Rashtrakut ruler Krishna-I had constructed the famous Kailash Temple of Ellora.

	 2.	 During Rashtrakuta Rule Loksen had written ‘Mahapurana’.

	 3.	 400 dancers were in Rajrajeshwar temple of Tanjore.

	 4.	 Kamban’s ‘Ramavataram’ is considered the great epic of Tamil.

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1 and 4 only		  (D) 1, 2, 3 and 4

009.	 Which of the following statements about Kanishka is/are correct?

	 1.	 His capital was Purushpura.

	 2.	 He was defeated by Ban-Chao, the famous Chinese general.

	 3.	 He had convened the third Buddhist council.

	 4.	 In his reign Mathura became a great centre of art.

	 (A) 1, 2 and 4 only		  (B) 1 and 3 only

	 (C) 2 and 4 only		  (D) 3 and 4 only

010.	 Which of the following statements about Kumarpal Solanki are correct?

	 1.	 He was the follower of Vaishnavism.

	 2.	 His mahaamatya was Vagbhatt.

	 3.	 He had prohibited gambling, violence and use of liquor.

	 4.	 He had appointed Bhav Brihaspati as the Mahant of Somnath.

	 (A) 2, 3 and 4 only		  (B) 1 and 2 only

	 (C) 3 and 4 only		  (D) 1, 2, 3 and 4
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M
011.	 ‚ku÷tfe ÔÞðMÚkkŒtºk rðþu ™e[u …ife fE òuzeyku Mkk[e Au?

	 1. ËMŒkðus rð¼k„ – yûk…x÷	 2. ƒtËh rð¼k„ – ðu÷kfw÷

	 3. {nu÷ rð¼k„ – ËwŒf		  4. Lkkýkt rð¼k„ – ©e fhý

	 (A) 1, 2 y™u 3 {kºk		  (B) 1, 2 y™u 4 {kºk

	 (C) 1 y™u 4 {kºk		  (D) 2 y™u 3 {kºk 

012.	 ÉøðuË{kt ËrÄfhk (Dadhikara) ™k{ .......... ‚q[ðu Au.

	 (A) s{e™™wt {k…	 (B) Ëiðe ½kuzku	 (C) ðirËf Ér»k	 (D) ðirËf ykrËòrŒ

013.	 {ehkƒkE yu  .......... hksðtþLkk fwtðhe níkk.

	 (A) r‚‚kurËÞk	 (B) [kinký	 (C) hkXkuz	 (D) fAðknk

014.	 ‘ç÷q BÞwrx™e’ ‚t¿kk .......... {kxu ð…hkÞ Au.

	 (A) ‚tLÞk‚e rðÿkun	 (B) ‚ktÚkk÷ rðÿkun	 (C) fku÷ rðÿkun	 (D) RrLz„ku rðÿkun

015.	 yu{. fu. „ktÄeLkwt SðLk[rhºk (Biography) Mkki «Úk{ .......... yu ÷ÏÞwt níkwt.

	 (A) yk™kuoÕz xkuÞLƒe	 (B) òu‚uV zkìf	 (C) hku{uELk hku÷uLz	 (D) ÷wE‚ rVþh

016.	 ™k™k ‚knuƒ rðþu ™e[u …ife fÞkt rðÄk™ku Mkk[kt Au?

	 1.	 ™k™k ‚knuƒ ytrík{ Ãkuïk ƒkShkð-II™k Ë¥kf …wºk nŒk.

	 2.	 ™k™k ‚knuƒ™wt {q¤ ™k{ ÄkUzw …trzŒ nŒwt.

	 3.	 ƒkShkð-II yu ykí{níÞk fhe níke.

	 4.	 zu÷nkW‚eyu ™k™k ‚knuƒ™u …uïk Œhefu yku¤¾ðk™e ™k fne y™u yu{™wt …uLþ™ yxfkðe ËeÄwt.

	 (A) 1, 2 y™u 3 {kºk	 (B) 1, 2 y™u 4 {kºk	 (C) 2, 3 y™u 4 {kºk	 (D) 1, 2, 3 y™u 4

017.	 ELËw÷k÷ Þkr¿kf rðþu ™e[u™k{ktÚke fÞwt rðÄk™ Mkk[kt Au?

	 1. Œu{ýu {wtƒEÚke yt„úuS ¼k»kk™wt ‚k{rÞf ‘Þt„ ErLzÞk’ «fkrþŒ fÞwO.

	 2. Œu{ýu „ktÄe™e yk„uðk™e{kt ¾uzk ‚íÞk„ún{kt ¼k„ ÷eÄku nŒku.

	 3. Œu{ýu yr¾÷ ¼khŒeÞ rf‚k™ ‚¼k™e h[™k{kt ‚r¢Þ …nu÷ fhe y™u Œu™k …nu÷k ‚ºk{kt ¼k„ ÷eÄku.

	 4. Œu{ýu ™qŒ™ {nk „wshkŒ s™Œk …rh»kË™e MÚkk…™k fhe.

	 (A) 2, 3 y™u 4 {kºk	 (B) 3 y™u 4 {kºk	 (C) 1, 2, 3 y™u 4	 (D) 1, 3 y™u 4 {kºk

018.	 RLÿ„ún{kt ykðu÷ rË„tƒh si™ku™wt ™k™wt {trËh fÞk si™ ŒeÚkOfh™u ‚{r…oŒ Au? 

	 (A) «Úk{ ŒeÚkOfh	 (B) îerŒÞ ŒeÚkOfh	 (C) Œ]ŒeÞ ŒeÚkOfh	 (D) WÃkh Ãkife fkuE Lknª
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M
011.	 Which of the following pairs about Solanki administration of Gujarat are correct?

	 1. Record Department - Akshapatal	 2. Port Department - Velakul

	 3. Palace Department - Dutak	 4. Finance Department – Shri Karan

	 (A) 1, 2 and 3 only		  (B) 1, 2 and 4 only

	 (C) 1 and 4 only		  (D) 2 and 3 only

012.	 Dadhikara is the name of a _______ mentioned in Rigveda.

	 (A) Land measurement		  (B) Divine horse

	 (C) Vedic rishi		  (D) Vedic Tribe

013.	 Mirabai was born a Princess of the _______.

	 (A) Sisodia dynasty		  (B) Chauhan dynasty

	 (C) Rathor dynasty		  (D) Kachhawaha dynasty

014.	 The term ‘Blue Mutiny’ is used for _______.

	 (A) Sanyasi Revolt		  (B) Santhal Revolt

	 (C) Kol Revolt		  (D) Indigo Revolt

015.	 The first biography of M. K. Gandhi was written by _______.

	 (A) Arnold Toynbee		  (B) Joseph Doke

	 (C) Romain Rolland		  (D) Louis Fischer

016.	 Which of the following statements about Nana Sahib are correct?

	 1.	 Nana Sahib was the adopted son of Baji Rao II, the last Peshwa.

	 2.	 The original name of Nana Sahib was Dhondu Pandit.

	 3.	 The Baji Rao II committed suicide.

	 4.	 Dalhousie refused to recognise Nana Sahib as the Peshwa and suspended his Pension.

	 (A) 1, 2 and 3 only	 (B) 1, 2 and 4 only	 (C) 2, 3 and 4 only	 (D) 1, 2 3 and 4

017.	 Which of the following statements about Indulal Yagnik are correct?

	 1.	  He published an English language magazine, Young India, from Bombay.

	 2.	 He participated in the Kheda Satyagraha led by Gandhi.

	 3.	� He took active initiative in the formation of the All India Kisan Sabha and participated in its first 
session.

	 4.	 He founded the Nutan Maha Gujarat Janata Parishad.

	 (A) 2, 3 and 4 only		  (B) 3 and 4 only

	 (C) 1, 2, 3 and 4		  (D) 1, 3 and 4 only

018.	 The smaller temple of Digambara Jains at Indargarh is dedicated to which Jain Tirthankar?

	 (A) First Tirthankar		  (B) Second Tirthankar

	 (C) Third Tirthankar		  (D) None of the above
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M
019.	 R.‚. 1943{kt ‚w¼k»k[tÿ ƒkuÍu h[u÷e MðŒtºk ¼khŒ™e ‚hfkh™u ™e[u …ife fÞk Ëuþkuyu {kLÞŒk yk…u÷e 

	 1. ò…k™		  2. ykÞ÷uoLz

	 3. fkurhÞk		  4. Rx÷e

	 (A) 1 y™u 4 {kºk		  (B) 2 y™u 3 {kºk

	 (C) 1, 2 y™u 3 {kºk		  (D) 1, 2, 3 y™u 4

020.	 {kiÞofk÷e™ ¼khŒ rðþu ™e[u …ife fÞwt(Þkt) ²kkuŒ(Œku) òýfkhe yk…u Au? 

	 1. Ëe…ðtþ		  2. {nkðtþ

	 3. yÚkoþkMºk		  3. {wÿkhkûk‚

	 (A) 1 {kºk		  (B) 1 y™u 2 {kºk

	 (C) 1, 2 y™u 3 {kºk		  (D) 1, 2, 3 y™u 4

021.	 ‚kÞ{™ fr{þ™ rðþu ™e[u …ife fÞwt(Þkt) rðÄk™(™ku) Mkk[wt / Mkk[kt Au? 

	 1. fr{þ™{kt ‚kŒ ¼khŒeÞku nŒk.

	 2. ‚kÞ{™ fr{þ™™ku rðhkuÄ fhðk {kxu {nkuB{Ë y÷e rsLnkyu fkut„úu‚ ‚kÚku nkÚk {u¤ÔÞku.

	 3. ‚kÞ{™ fr{þ™ ‚k{u rðhkuÄ fhŒe ð¾Œu ÷k÷k ÷s…ŒhkÞ™wt {]íÞw ÚkÞwt.

	 (A) 1 {kºk	 (B) 2 y™u 3 {kºk	 (C) 1 y™u 3 {kºk	 (D) 3 {kºk

022.	 ¼khŒ™k ‚ktMf]rŒf rðfk‚{kt y{eh ¾w‚hkuyu ™e[u …ife fÞkt «Ëk™ku yk…u÷ Au
	 1.	 Œu{ýu ½ýk ™ðk hk„™u þkuæÞk su{ fu, ½kuhk y™u ‚™{.
	 2.	 Œu{ýu fÔðk÷e Œhefu yku¤¾kŒe ‚t„eŒ™e ™ðe þi÷e rðf‚kðe.
	 3.	 Œu{ýu ‚kht„e yLku hƒkƒ™e þkuÄ fhe.
	 4.	 Œu{ýu …rþoÞ™ frðŒk™e ™ðe þi÷e ‚ƒkfe-®nË þkuÄe.
	 (A) 2 y™u 3 {kºk	 (B) 1, 2 y™u 4 {kºk	 (C) 2, 3 y™u 4 {kºk	 (D) 1, 2, 3 y™u 4

023.	 .......... {tz¤ ¼khŒeÞ hsðkzkyku{kt ™uþLkkr÷Mx …e…Õ‚ ‚tMÚkk Œhefu òýeŒwt nŒwt. 

	 (A) {wVTŒe	 (B) rf‚k™	 (C) «ò	 (D) rËðk™

024.	 ™e[u …ife fÞkt rðÄk™ku „wshkŒ{kt Wí¾™™ fhu÷kt MÚk¤ku™kt ‚tË¼uo Mkk[kt Au

	 MÚk¤		 ™Ëerf™khu yÚkðk yLÞºk
	 1. ÷kuÚk÷	 ‚hMðŒe
	 2. hkusze	 ¼kËh
	 3. Äku¤kðehk	 fåA™k hý{kt
	 4. {k÷ðý	 Œk…e

	 (A) 1 y™u 2 {kºk	 (B) 1, 2 y™u 3 {kºk	 (C) 2, 3 y™u 4 {kºk	 (D) 2 y™u 3 {kºk
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M
019.	� Government of Independent India formed by Subash Chandra Bose in 1943 A.D. was recognised by 

which of the following countries?

	 1. Japan	 2. Ireland	 3. Korea		  4. Italy

	 (A) 1 and 4 only		  (B) 2 and 3 only

	 (C) 1, 2 and 3 only		  (D) 1, 2, 3 and 4

020.	 Which of the following source(s) throw light on Mauryan India?

	 1. Dipavamsa		  2. Mahavamsa

	 3. Arthasastra		  4. Mudrarakshasa

	 (A) 1 only		  (B) 1 and 2 only

	 (C) 1, 2 and 3 only		  (D) 1, 2, 3 and 4

021.	 Which of the following statements is/are correct regarding the Simon Commission?

	 1.	 The Commission included seven Indians.

	 2.	� Mohammad Ali Jinnah joined hands with the Congress over the protest against the Simon 
Commission.

	 3.	 Lala Lajpat Rai died during the protest against the Simon Commission.

	 (A) 1 only		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 3 only

022.	� Which of the following are the contributions of Amir Khusrao to cultural development of India?

	 1.	 He introduced many new ragas such as ghora and sanam.

	 2.	 He evolved a new style of music known as qawwali.

	 3.	 He invented sarangi and rabab.

	 4.	 He created a new style of Persian poetry called Sabaq-i-hind

	 (A) 2 and 3 only		  (B) 1, 2 and 4 only

	 (C) 2, 3 and 4 only		  (D) 1, 2, 3 and 4

023.	 _______ mandal was the Nationalist People’s organization in the Indian Princely States ?

	 (A) Mufti		  (B) Kisan

	 (C) Praja		  (D) Diwan

024.	 Which of the following statements are correct regarding excavated sites in Gujarat?

	 Site	On the River/Or Esle

	 1. Lothal	 Saraswati

	 2. Rojadi	 Bhadar

	 3. Dholavira	 In the Desert of Kutch

	 4. Malvan	 Tapi

	 (A) 1 and 2 only		  (B) 1, 2 and 3 only

	 (C) 2, 3 and 4 only		  (D) 2 and 3 only
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M
025.	 n»koðÄo™ MktË¼uo ™e[u yk…u÷ …ife fÞkt rðÄk™ku Mkk[kt Au? 

	 1.	 Œuýu ðÕ÷¼e™k r{ºk þk‚f Äúwð‚u™ ƒeò™u …hkrsŒ fÞko nŒk.

	 2.	 {i‚qh™k ¼kMfhð{o™ Œu{™k ‚kÚke nŒk.

	 3.	 Ëh …kt[ ð»kuo Œu{ýu «Þk„{kt {nk{kuûkk …rh»kË ƒku÷kðe.

	 4.	 Œu{ýu …kuŒu fkËBƒhe ÷¾e nŒe.

	 (A) 1 y™u 2 {kºk	 (B) 2 y™u 3 {kºk	 (C) 1 y™u 3 {kºk	 (D) 2, 3 y™u 4 {kºk

026.	 ™e[u™k{ktÚke fÞkt rðÄk™ Mkk[kt Au?

	 1.	 fÕn™™e hkshŒht„e™e ‚tMf]Œ{kt ÷¾kE Au.

	 2.	 RçLk ƒŒwŒk (IbanBatuta) rËÕne™k fkÍe nŒk.

	 3.	 y{eh ¾w‚hku r‚Œkh™k þkuÄf nŒk.

	 4.	 n{eËkƒk™w ƒu„{u nw{kÞw™k{k ÷ÏÞwt nŒwt.

	 (A) 1 y™u 4 {kºk	 (B) 1, 2 y™u 3 {kºk	 (C) 1, 2, 3 y™u 4	 (D) 3 y™u 4 {kºk

027.	 ™e[u yk…u÷kt rðÄk™ku …ife fÞkt rðÄk™ku ¾hkt Au?

	 1.	 ¼rõŒ [¤ð¤™e {wÏÞ rðþu»kŒk yux÷u ¼õŒku y™u Eïh ðå[uLkku yíkqx MktçktÄ.

	 2.	 ¿kk™uïhe yu ðfohu…tÚk™e {q¤ f]rŒ Au.

	 3.	 ƒt„k¤™k [iŒLÞ f]»ý ¼rõŒ™k ‚kiÚke «ÏÞkŒ rn{kÞíke nŒk

	 4.	 {ehkƒkEyu f]»ý r„hÄh-„ku…k÷™e W…k‚™k fhe

	 (A) 1, 2, 3 y™u 4	 (B) 3 y™u 4 {kºk	 (C) 1, 3 y™u 4 {kºk	 (D) 2, 3 y™u 4 {kºk

028.	 1857™e ½x™k™e «f]rŒ ‚tƒtrÄŒ ™e[u™k{ktÚke fÞkt rðÄk™ku Mkk[kt Au?

	 1.	 yþkuf {nuŒkyu Œu™u ykÞkursŒ ÞwØ „ýkÔÞwt nŒwt.

	 2.	 ðe.ze. ‚kðhfh Œu™u MðŒtºkŒk™wt ÞwØ fnu Au.

	 3.	 …e hkuƒxT‚o Œu™u r‚…kne rðÿkun fnu Au.

	 4.	 zkìõxh yu‚. yu™. ‚u™ fnu Au fu Œu Ä{o™e ÷zŒ Œhefu þY ÚkE y™u ÷kufku™k ÞwØ™e su{ ‚{kÃík ÚkE.

	 (A) 1, 2 y™u 3 {kºk	 (B) 1, 2, 3 y™u 4	 (C) 1 y™u 2 {kºk	 (D) 1, 2, y™u 4 {kºk

029.	 ™e[u yk…u÷kt rðÄk™ku …ife fÞkt rðÄk™ku ¾hkt Au?

	 1. „wshkŒ{kt …eðk™k …kýe {kxu xktfe çkktÄLkkh ¼kð™„h ‚ki «Úk{ hsðkzwt nŒwt.

	 2. ò{™„h™k hýSŒ®‚nS {nk™ r¢fuxh nŒk.

	 3. ÷k¾kS hksu hksfkux™k «ò «rŒr™rÄ ‚¼k{kt {rn÷kyku {kxu …kt[ ƒuXfku y™k{Œ hk¾e nŒe.

	 4. {nkhkò ‚ÞkShkð „kÞfðkzu 1894{kt ƒhkuzk ¾kŒu yuf ‚t„únk÷Þ (museum) ™e MÚkk…™k fhe nŒe.

	 (A) 1, 2 y™u 4 {kºk	 (B) 2, 3 y™u 4 {kºk	 (C) 1, 2, 3 y™u 4 	 (D) 3 y™u 4 {kºk
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025.	 Which of the following statements is/are correct regarding Harshavardhana?

	 1.	 He had defeated Dhruvsena II the Mitra Ruler of Vallabhi.

	 2.	 Bhaskervarman of Mysore was his ally.

	 3.	 Every five years he convened Mahamoksha Parishad at Parayag.

	 4.	 He himself had written Kadambari.

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 2, 3 and 4 only

026.	 Which of the following statements are correct?

	 1.	 Kalhana’s Rajatarangini is written in Sanskrit.

	 2.	 Iban Batuta was kazi of Delhi.

	 3.	 Amir Khusro was the inventor of Sitar.

	 4.	 Hamidabanu Begum had written Humayunama.

	 (A) 1 and 4 only		  (B) 1, 2 and 3 only

	 (C) 1, 2, 3 and 4		  (D) 3 and 4 only

027.	 Which of the following statements are correct?

	 1.	� Bhakti Movement’s chief feature was loving relationship between the devotees and  
the God.

	 2.	 Gyaneshwari is the basic text of Varkarepanth.

	 3.	 Chaitanya of Bengal was the most renowned exponent of Krishna Bhakti.

	 4.	 Mirabai worshipped Krishna Girdhar-gopal.

	 (A) 1, 2, 3 and 4		  (B) 3 and 4 only

	 (C) 1, 3 and 4 only		  (D) 2, 3 and 4 only

028.	� Which of the following statements is/are correct regarding the nature of the event of 1857?

	 1.	 Ashok Mehata had called it a planned war.

	 2.	 V D Savarkar calls it a war of Independence.

	 3.	 P Roberts calls it a Sepoy Mutiny.

	 4.	 Dr S N Sen says that it began as a fight for religion and ended as the people’s war.

	 (A) 1, 2 and 3 only		  (B) 1, 2, 3 and 4

	 (C) 1 and 2 only		  (D) 1, 2 and 4 only

029.	 Which of the following statements are correct?

	 1.	 Bhavnagar was the first in Gujarat to construct a tank for drinking water.

	 2.	 Ranjitsinhji of Jamnagar was a great cricketer.

	 3.	 Lakhajiraj had reserved five seats for women in Praja Prathinidhi Sabha of Rajkot.

	 4.	 Maharaja Sayajirao Gaekwad had established a museum at Baroda in 1894.

	 (A) 1, 2 and 4 only	 (B) 2, 3 and 4 only	 (C) 1, 2, 3 and 4	 (D) 3 and 4 only
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M
030.	 {æÞÞw„e™ „wshkŒ™k {wÏÞ hksðtþku rðþu ™e[u yk…u÷kt rðÄk™ku …ife fÞkt rðÄk™ku ¾hkt Au?

	 1.	 {æÞÞw„e™ Þw„{kt, [kðzk, ‚ku÷tfe y™u ðk½u÷k hksðtþkuyu „wshkŒ{kt þk‚™ fÞwO.

	 2.	 {w¤hks, ¼e{Ëuð, r‚Øhks sÞ®‚n, fw{kh…k÷ ‚ku÷tfe ðtþ™k {nk™ þk‚fku Ãkife nŒkt.

	 3.	 «ÏÞkŒ rðîk™ ©e nu{[tÿk[kÞo™u r‚Øhks sÞ®‚n™k þk‚™{kt hkßÞk©Þ {éÞku nŒku.

	 4.	� ðk½u÷k ðtþ™k ytrŒ{ hksðe fhýËuð ðk½u÷kLku  rMkftËh ÷kuÄeyu …hkrsŒ fÞko y™u Œu Úkfe yýrn÷ðkz …kxý 
W…h hks…qŒ þk‚™™ku ytŒ ÷kÔÞku.

	 (A) 1, 2 y™u 3 {kºk	 (B) 1, 3 y™u 4 {kºk	 (C) 1, 2 y™u 4 {kºk	 (D) 1, 2, 3 y™u 4 

031.	 {kiÞo hksðtþ rðþu ™e[u yk…u÷kt rðÄk™ku …ife fÞkt rðÄk™ku Mkk[kt Au?

	 1.	� {kiÞo ðtþLkk MÚkkÃkf [tÿ „wÃík {kiÞo Ãknu÷k hksðe níkkt fu suykuyu {kuxk¼k„™k ¼khŒ™u yuf ðneðxeíktºk nuX¤ 
yufef]ík fÞwO.

	 2.	� fkixeÕÞyu [tÿøkwÃík {kiÞoLku {økÄ ûkuºkLkk Ãkkx÷eÃkwºk ¾kíkuLkk þrõŒþk¤e LktË ðtþLku WÚk÷kððk{kt [kðeYÃk ¼qr{fk 
¼sðe.

	 3.	 [tÿ„wÃík {kiÞo™k …wºk rƒLËw‚khu {æÞ y™u Ërûký ¼khŒ™k «Ëuþku{kt ‚k{úkßÞ™ku rðMŒkh fÞkuo.

	 4.	� AuÕ÷k {kiÞo hkò™e níÞk Œu{™k MkuLkkÃkrík (general in chief) …w»Þr{ºkyu fhe nŒe, suýu þ]t„ ðtþ  
(Shunga dynasty)™e MÚkk…™k fhe nŒe.

	 (A) 1, 2 y™u 3 {kºk	 (B) 1, 2 y™u 4 {kºk	 (C) 2 y™u 3 {kºk	 (D) 1, 2, 3 y™u 4 {kºk

032.	 ¼khŒ{kt ÚkÞu÷kt ¼rõŒ yktËku÷™ku rðþu ™e[u yk…u÷kt rðÄk™ku …ife fÞkt rðÄk™ku Mkk[kt Au?

	 1.	� ¼rõŒ [¤ð¤™e þYykŒ ‚kŒ{e ‚Ëe{kt Ërûký ¼khŒ{kt (nk÷{kt Œr{÷™kzw y™u fuh¤™k ¼k„ku){kt ÚkE  
y™u W¥kh ŒhV Vu÷kÞu÷e.

	 2.	� Œu 15 {e ‚ËeÚke …qðo y™u W¥kh ¼khŒ ŒhV Vu÷kÞwt yLku 15 {e y™u 17 {e ‚Ëe ðå[u Œu{™e xku[ …h …nkUåÞwt.

	 3.	� ‚qhËk‚ fu suyku ðÕ÷¼k[kÞoLkk rþ»Þ níkkt, íku{ýu ¼khíkLkk W¥kheÞ ¼k„{kt f]»ý Mkt«ËkÞ (Krishna Cult)Lku 
÷kufr«Þ fÞkuo.

	 4.	 fƒehËk‚ ‚qhËk‚™k ‚kiÚke «ÏÞkŒ rþ»Þ nŒk.

	 (A) 1, 2 y™u 3 {kºk	 (B) 1, 2 y™u 4 {kºk	 (C) 2 y™u 3 {kºk	 (D) 1, 2, 3 y™u 4

033.	 ƒúñku‚{ks rðþu ™e[u yk…u÷kt rðÄk™ku …ife fÞkt rðÄk™ku Mkk[kt Au?

	 1.	� ƒúñku‚{ks™e þYykŒ 1828 {kt fku÷fkŒk{kt hk{{kun™ hkÞ îkhk rnLËw Ä{o™e ytËh ‚wÄkhkðkËe [¤ð¤ Œhefu 
ÚkE nŒe.

	 2.	� ƒúñku‚{ks™e MÚkkÃkLkk, rnLËw Mk{ks{kt «ðíko{kLk ‚k{krsf-Äkr{of Ëw»kýku Ëqh fhe, ‘‚Œe’ y™u òrŒ «Úkk suðe 
…ØrŒyku™u ™kƒqË fhe rnLËw ‚{ks{kt MkwÄkhýk ÷kððk {kxu fhðk{kt ykðe nŒe.

	 3.	 ËuðuLÿ™kÚk xk„kuh y™u fuþƒ[tÿ ‚u™u …kA¤Úke ƒúñku‚{ks™e ƒu ykð]r¥k ƒ™kðe.

	 (A) 1 y™u 2 {kºk	 (B) 1 y™u 3 {kºk	 (C) 2 y™u 3 {kºk	 (D) 1, 2 y™u 3 

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



CSP – 1 – M] 13 [P.T.O.

M
030.	� Which of the following statements are correct regarding major dynasties of medieval Gujarat?

	 1.	� In the Medieval age, the Chavada, the Solanki and the Vaghela dynasties ruled over Gujarat.

	 2.	� Mulraj, Bhimdev, Siddhraj Jaysinh, Kumarpal were among the great rulers of Solanki dynasty.

	 3.	� The famous scholar Shri Hemchandracharya was patronized during the rule of Siddhraj Jaysinh.

	 4.	� The last emperor of the Vaghela dynasty, Karandev Vaghela, was defeated by Sikandar Lodhi and 
it brought to the end of Rajput rule over Anhilwad Patan.

	 (A) 1, 2 and 3 only		  (B) 1, 3 and 4 only

	 (C) 1, 2 and 4 only		  (D) 1, 2, 3 and 4

031.	 Which of the following statements are correct regarding Maurya dynasty?

	 1.	� Chandra Gupta Maurya, the founder of Mauryan dynasty, was the first emperor to unify most of 
India under one administration.

	 2.	� Kautilya was instrumental in helping Chandragupta Maurya overthrow the powerful Nanda 
dynasty at Pataliputra, in the Magadha region.

	 3.	� Bindusara, son of Chandragupta Maurya, extended the empire into central and parts of southern 
India.

	 4.	� The last Mauryan King was killed by his general-in-chief, Pushyamitra, who founded the Shunga 
dynasty.

	 (A) 1, 2 and 3 only		  (B) 1, 2 and 4 only

	 (C) 2 and 3 only		  (D) 1, 2, 3 and 4

032.	 Which of the following statements are correct regarding Bhakti movements in India?

	 1.	� The Bhakti Movement originated in the seventh century in South India (now parts of Tamil Nadu 
and Kerala), and spread northwards.

	 2.	� It swept over east and north India from the 15th century onwards, reached its peak between 
15th and 17th century CE.

	 3.	� Surdas, the disciple of Vallabhacharya, popularized Krishna cult in the Northern part of India.

	 4.	 Kabir Das was the most famous disciple of Surdas.

	 (A) 1, 2 and 3 only		  (B) 1, 2 and 4 only

	 (C) 2 and 3 only		  (D) 1, 2, 3 and 4

033.	 Which of the following statements are correct regarding Brahmo Samaj?

	 1.	� Brahmo Samaj as a reformist movement within Hinduism was founded in Kolkata in 1828 by  
Raja Ram Mohan Roy.

	 2.	� Brahmo Samaj was founded to reform the Hindu society by eradicating prevailing socio-religious 
evils and removal of practices like the ‘Sati’ and caste system.

	 3.	� Debendranath Tagore and Keshab Chandra Sen formed two versions of Brahmo Samaj later.

	 (A) 1 and 2 only		  (B) 1 and 3 only

	 (C) 2 and 3 only		  (D) 1, 2, and 3
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034.	 yþkuf™k þkMkLkfk¤ ËhBÞkLk ‚kiÚke Wå[ ðneðxe yrÄfkhe .......... níkk.

	 (A) …wr÷‚kMkT (Pulisas)		  (B) y{kíÞkMkT (Amatyas)

	 (C) Mk{níkko (Samharta)		  (D) hkswfkMkT (Rajukas)

035.	 .......... R.‚. 1945™k ™ðuBƒh{kt ÞkuòÞu÷ fuLÿ rðÄk™‚¼k™e [qtxýeyku™k fuLÿeÞ [qtxýe ƒkuzo™k [uh{u™ nŒk. 

	 (A) {ki÷k™k ykÍkË		  (B) ‚hËkh ðÕ÷¼¼kE …xu÷

	 (C) Mkhík [tÿ ƒkuÍ		  (D) ƒ÷Ëuð ®‚½

036.	 ¿kk™Ëuð y™u ™k{Ëuð .......... [¤ð¤™k òýeŒk ™uŒkyku Au.

	 (A) „kirzÞk		  (B) ðÕ÷¼k[khe

	 (C) ®÷„kÞŒ		  (D) ðhfhe

037.	 ƒkiØ …rh¼k»kk{kt ‘…h{[¢ «ðŒo™’ þçË .......... ‚q[ðu Au.

	 (A) ƒwØ îkhk «Úk{ W…Ëuþ		  (B) ƒwØ îkhk r™ðkoý™e «kÂÃík

	 (C) yþkuf™ku yt„Œ Ä{o		  (D) WÃkhLkk Ãkife fkuE Lknª

038.	 ™e[u yk…u÷ òuzeyku {u¤ðku.

	 1. rƒÕný     	 a. rð¢{kfo[rhŒk{T (Vikramarkacharitam)

	 2. ¼khðe  	 b. fehkŒkswor™Þ{T (Kiratarjuniyam)

	 3. Ëtze	 c. Ëþfw{kh[krhŒk (DasakumaraCharita)

	 4. {nuLÿð{o™-I	 d. {è ðkÞ÷k‚k «n‚™ (Matta Vialasa Prahasana)

	 (A) 1 - a, 2 - b, 3 - c, 4 - d	 (B) 1 - d, 2 - c, 3 - a, 4 - b

	 (C) 1 - b, 2 - a, 3 - d, 4 - c	 (D) 1 - c, 2 - d, 3 - b, 4 - a

039.	 ƒn{™e y™u rðsÞ™„h™k þk‚fku ðå[u™k rððkË / Mkt½»koLkwt fkhý ™e[u™k{ktÚke fÞwt níkwt ?

	 (A) Œu÷t„kýk		  (B) „kuðk

	 (C) hkR[wh Ëkuykƒ (Raichur Doab)	 (D) r¢»™k-„kuËkðhe íkx «Ëuþ

040.	� ™e[u™k ¼rõŒ ‚tŒku{ktÚke fkuýu fÌkwt fu “nwt ™ Œku {trËh{kt Awt fu ™ {rMsË{kt, ™ Œku nwt fkƒk{kt Awt fu ™ fi÷k‚{kt, ™ Œku nwt 
‚tMfkh y™u ‚{khkun{kt Awt, ™ íkku Þku„ y™u íÞk„{kt.”

	 (A) fƒeh		  (B) „wÁ™k™f

	 (C) ™k{Ëuð		  (D) Œw÷‚eËk‚

041.	 ƒunhk{S yu{ {÷ƒkheyu Lke[uLkk Ãkife fÞk yrLkü Mkk{u ‚{ks ‚wÄkhýk yr¼Þk™ [÷kÔÞwt?

	 (A) fw÷e™eÍ{		  (B) ƒnw…íLkeíð

	 (C) Mºke ¼]ý níÞk		  (D) ƒk¤ ÷ø™
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M
034.	 The highest administrative officer during Ashoka regime was _______.

	 (A) Pulisas		  (B) Amatyas

	 (C) Samharta		  (D) Rajukas

035.	� _______ was the Chairman of the Central Election Board in the Central Legislative elections held in 
November 1945?

	 (A) Maulana Azad		  (B) Sardar Vallabhai Patel

	 (C) Sarat Chandra Bose		  (D) Baldev Singh

036.	 Janandev and Namdev are well known leaders of the _______ movement.

	 (A) Gaudiya		  (B) Vallabhachari

	 (C) Lingayat		  (D) Varkari

037.	 In Buddhist terminology, the word “Paramachakra Pravartana” indicates_______.

	 (A) The first Sermon by Buddha	 (B) The Attainment of Niravana by Buddha

	 (C) The personal religion of Ashoka	 (D) None of the above

038.	 Match the following:

	 1. Bilahana	 a. Vikramarka charitam

	 2. Bharavi	 b. Kiratarjuniyam

	 3. Dandin	 c. Dasakumara Charita

	 4. Mahendravarman-I	 d. Matta Vialasa Prahasana

	 (A) 1 - a, 2 - b, 3 - c, 4 - d		  (B) 1 - d, 2 - c, 3 - a, 4 - b

	 (C) 1 - b, 2 - a, 3 - d, 4 - c		  (D) 1 - c, 2 - d, 3 - b, 4 - a

039.	� Which of the following was the bone of contention between the Bahamanis and the rulers of 
Vijayanagara?

	 (A) Telangana		  (B) Goa

	 (C) Raichur Doab		  (D) Krishan-Godavari Delta

040.	� Who among the following Bhakti Saints said “I am neither in temple nor in Mosque, I am neither in 
Kaaba nor in Kailash, Neither am I in rites and ceremonies, nor in yoga and renunciation”?

	 (A) Kabir		  (B) Gurunanak

	 (C) Namdev		  (D) Tulsidas

041.	� Behramji M Malabari carried on social reform campaign against which one of the following evils?

	 (A) Kulinism		  (B) Polygamy

	 (C) Female Infanticide		  (D) Infant and Child marriage
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M
042.	  Government of India Act, 1858 rðþu ™e[u …ife fÞwt(Þkt) rðÄk™(™ku) Mkk[wt / Mkk[kt Au? 

	 1. RMx $rzÞk ft…™e …k‚uÚke ðneðxeŒtºk rƒúxeþ íkks (British Crown)™u MkkU…kÞwt,

	 2. rƒúxeþ ‚hfkh™e òuuzký ™erŒ (Policy of Annexation)™ku ytŒ ykÔÞku

	 3. „ð™oh s™h÷ ¼khŒ™k ðkR‚hkuÞ ƒLÞk

	 4. Œuýu {nk÷ðkhe «Úkk™ku ytŒ ykÛÞku

	 (A) 1 y™u 2 {kºk	 (B) 2 y™u 4 {kºk 	 (C) 1, 2 y™u 3 {kºk	 (D) 1, 2, 3 y™u 4

043.	 ™e[u™e skuzeyku {u¤ðku. 

	 1. ðe.ze. ‚kðhfh 		  a. r[¥kkøkkU„ yk{ohe huRz

	 2. ‚qÞo ‚u™		  b. r{ºk {u÷k

	 3. ~Þk{S f]»ý ð{ko 		  c. fÍo™ rð÷e

	 4. {Ë™÷k÷ ®Ä„hk 		  d. ELzeÞLk Mkku~Þku÷kuSMx

	 (A) 1 - b, 2 - a, 3 - d, 4 - c	 (B) 1 - a, 2 - b, 3 - c, 4 - d

	 (C) 1 - c, 2 - d, 3 - b, 4 - a	 (D) 1 - d, 2 - c, 3 - a, 4 - b

044.	 ƒeS „ku¤{uS …rh»kË{kt „ktÄeyu .......... Œhefu ¼k„ ÷eÄku.

	 (A) ¼khŒeÞ ‚hfkh™k ™k{ktrfŒ	 (B) rƒúxeþ ‚hfkh™k ™k{ktrfŒ

	 (C) fkut„úu‚™k «rŒr™rÄ		  (D) yt„Œ ¼qr{fkyuÚke

045.	 “{nkr¼r™»¢{ý” rðþu ™e[u™k{ktÚke fÞwt(Þkt) rðÄk™(™ku) Mkk[wt / Mkk[kt Au?

	 1.	 {nkðeh îkhk ‚kt‚krhf Sð™™ku íÞk„

	 2.	 ðuËku™e Mk¥kk™ku yMðefkh

	 3.	 ƒwØ îkhk ‚kt‚krhf Sð™™ku íÞk„

	 4.	 ƒwØ™ku yüktøk {køko

	 (A) 3 {kºk	 (B) 1 y™u 3 {kºk	 (C) 3 y™u 4 {kºk	 (D) 2, 3 y™u 4 {kºk

046.	 n»kuo ƒu {nk™ Äkr{of ‚¼kyku fhe nŒe. ™e[u …ife fÞwt(Þkt) MÚk¤(¤ku)yu yk ‚¼kyku ÞkuòE nŒe? 

	 1. f™kis	 2. Úkkýuïh	 3. ð÷¼e	 4. «Þk„ 

	 (A) 1 y™u 3 {kºk		  (B) 2, 3 y™u 4 {kºk

	 (C) 1 y™u 4 {kºk		  (D) 4 {kºk

047.	� {khe ¿kkrŒ r™B™ Au, {khkt fkÞkuo r™B™ Au y™u {khku ÔÞð‚kÞ …ý r™B™ Au, yk r™B™ rMÚkrŒ{ktÚke Rïhu {™u Ÿ[ku  
fÞkuo Au. – yk fkuýu fÌkwt? 

	 (A) ‚qhËk‚	 (B) [iŒLÞ	 (C) ™k{Ëuð	 (D) hrðËk‚
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042.	 Which of the following statements are correct regarding Government of India Act of 1858?

	 1.	 It transferred the administration from the East India Company to the British Crown.

	 2.	 It ended the policy of annexation by the British govt.

	 3.	 The Governor General became the viceroy of India.

	 4.	 It abolished the Mahalwari System

	 (A) 1 and 2 only		  (B) 2 and 4 only

	 (C) 1, 2 and 3 only		  (D) 1, 2, 3 and 4

043.	 Match the following:

	 1. V D Savarkar		  a. Chittagong Armoury Raid

	 2. Surya Sen		  b. Mitra Mela

	 3. Shayamji Krishna Verma	 c. Curzon Wyllie

	 4. Madanlal Dhingra		  d. The Indian Sociologist

	 (A) 1 - b, 2 - a, 3 - d, 4 - c		  (B) 1 - a, 2 - b, 3 - c, 4 - d

	 (C) 1 - c, 2 - d, 3 - b, 4 - a		  (D) 1 - d, 2 - c, 3 - a, 4 - b

044.	 Gandhi took part in second Round Table conference as _______.

	 (A) Indian government nominee	 (B) British government nominee

	 (C) Congress representation	 (D) Individual capacity

045.	 Which of the following statements is/are correct regarding “Mahabhinishkramana”?

	 1.	 The renunciation of worldly life by Mahavira

	 2.	 Rejection of the authority of the Vedas

	 3.	 The renunciation of the worldly life by Buddha

	 4.	 Eightfold path of Buddha

	 (A) 3 only		  (B) 1 and 3 only

	 (C) 3 and 4 only		  (D) 2, 3 and 4 only

046.	� Harsha is said to have held two great religious assemblies. Which of the following places were the 
venues for these assemblies?

	 1. Kannuj		  2. Thaneshwar

	 3. Valabhi		  4. Prayag

	 (A) 1 and 3 only		  (B) 2, 3 and 4 only

	 (C) 1 and 4 only		  (D) 4 only

047.	� My caste is low, my deeds are low, and lowly is my profession, from this low position God has raised 
me high” – Who said this?

	 (A) Surdas		  (B) Chaitanya

	 (C) Namdev		  (D) Ravidas
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048.	 hkò hk{{kun™ hkuÞ™k Äkr{of rð[khku rðþu ™e[u™k{ktÚke fÞwt(Þkt) rðÄk™(™ku) Mkk[wt / Mkk[kt Au?

	 1.	 Œu yufuïhðkË, yuf ¼„ðk™™e fÕ…™k{kt {k™Œk nŒk.

	 2.	 Œu ðuËku™u þkïík y™u y{ku½ {k™Œk nŒk.

	 3.	 Œu{ýu Œ{k{ Äkr{of ƒkƒŒku{kt {k™ðeÞ fkhý y™u ‚{sËkhe …h ¼kh {qfâku.

	 4.	 Œu{ýu {qrŒo…qò™ku rðhkuÄ fÞkuo.

	 (A) 1, 3 y™u 4 {kºk	 (B) 1, 2 y™u 3 {kºk	 (C) 2 y™u 3 {kºk	 (D) 1, 2, 3 y™u 4

049.	 “fÕfk[kÞo fÚkk” .......... økútÚk Au.

	 (A) siLk	 (B) çkkiæÄ	 (C) ®nËw	 (D) WÃkhLkk Ãkife fkuE Lknª

050.	 MÚkkÃkíÞLkku ði¼ð, “¼e{ hÚk”, .......... îkhk çkktÄðk{kt ykÔÞku níkku.

	 (A) {w½÷	 (B) ÃkÕ÷ð	 (C) [ku÷k	 (D) Mkku÷tfe

051.	 “nkÚkeøkwVk rþ÷k÷u¾” Lke[uLkk Ãkife fÞk hksðe {kxuLkku Mºkkuík çkLÞku Au ?

	 (A) Mk{wÿøkwÃík	 (B) MftËøkwÃík	 (C) ¾khðu÷	 (D) YÿË{ý-III

052.	 Lke[uLkk Ãkife fÞk MÚk¤ku ¼ªíkr[ºkku {kxu òýeíkk Au ?

	 1. ystíkk økwVkyku	 2. R÷kuhk økwVkyku	 3. ÷uÃkkûke {trËhku

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3

053.	 .......... {Lkkuxe f¤k {kxu «ÏÞkík Au su{kt ðMíkwykuLku ŸxLke [k{zeÚke þýøkkhðkLkku Mk{kðuþ ÚkkÞ Au.

	 (A) WËÞÃkwh	 (B) sÞÃkwh	 (C) rçkfkLkuh	 (D) òuÄÃkwh

054.	� .......... yuf «fkhLkwt ¼híkfk{ Au su{kt MkVuË Ëkuhku Vw÷ku yLku yLÞ ¼kík çkLkkððk {kxu ðÃkhkÞ Au yLku íku ÷¾LkW{kt 
«ÏÞkík Au.

	 (A) Vw÷fkhe	 (B) fþeËk	 (C) f÷{fkhe	 (D) [efLkfkhe

055.	 Lke[uLkk ÃkifeLkwt fÞwt Lkð hMkku{kt LkÚke ?

	 (A) nkMÞ	 (B) Yÿ	 (C) ðeh	 (D) ykLktË

056.	 Lke[uLkk Ãkife fÞk rðÄkLkku “MkºkeÞk” Lk]íÞ çkkçkíku Mkk[kt Au ?

	 1. MkºkeÞk þkMºkeÞ Lk]íÞ Au.

	 2. íku Mktøkeík, Lk]íÞ yLku LkkxfLkwt MktÞkusLk Au.

	 3. íku ykMkk{Lkk ði»ýðkuLke MkËeyku sqLke Sðtík ÃkhtÃkhk Au.

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3
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048.	� Which of the following statements about the religious ideas of Raja Ram Mohan Roy are correct?

	 1.	 He believed in monotheism, the concept of one God

	 2.	 He considered the Vedas to be eternal and infallible

	 3.	 He laid emphasis on human reason and rationality in all religious matters

	 4.	 He opposed idol worship

	 (A) 1, 3 and 4 only		  (B) 1, 2 and 3 only

	 (C) 2 and 3 only		  (D) 1, 2, 3, and 4

049.	 Kalkacharya Katha is a _______ text.

	 (A) Jain		  (B) Buddhist

	 (C) Hindu		  (D) None of the above

050.	 The architectural splendor Bhima Ratha was built by _______.

	 (A) Mughals		  (B) Pallavas

	 (C) Cholas		  (D) Solankis

051.	 Hathigumpha inscription stands as the source for which ruler ?

	 (A) Samudragupta		  (B) Skandagupta

	 (C) Kharavela		  (D) Rudradaman-III

052.	 Which of the following places are known for mural paintings ?

	 1. Ajanta Caves	 2. Ellora Caves	 3. Lepakshi Temples

	 (A) Only 1 and 2	 (B) Only 2 and 3	 (C) Only 1 and 3	 (D) 1, 2 and 3

053.	 _______ is famous for Manoti Art, which involves decorating articles with camel skin.

	 (A) Udaipur		  (B) Jaipur

	 (C) Bikaner		  (D) Jodhpur

054.	� _______ is a type of embroidery which uses white thread to make flowers and other beautiful patterns 
and is famous in Lucknow.

	 (A) Phulkari		  (B) Kashida

	 (C) Kalamkari		  (D) Chikankari

055.	 Which among the following is not among the nine rasas?

	 (A) Hashya	 (B) Rudra	 (C) Veer	 (D) Ananda

056.	 Which of the following statements are correct regarding the famous Sattriya dance ?

	 1.	 Sattriya is a classical dance.

	 2.	 It is a combination of music, dance and drama.

	 3.	 It is a centuries-old living tradition of Vaishnavites of Assam.

	 (A) Only 1 and 2		  (B) Only 2 and 3

	 (C) Only 1 and 3		  (D) 1, 2 and 3
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057.	 fwr[Ãkwze yLku ¼hík Lkkxâ{T ðå[uLkku ¼uË Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Ëþkoðu Au ?

	 1.	 fwr[Ãkwze Lk]íÞ{kt õÞkhuf Lk]íÞfkhku MktðkËku çkku÷u Au Ãkhtíkw ¼hík Lkkxâ{T{kt Lknª.

	 2.	� rÃk¥k¤Lke Úkk¤eLke Äkh WÃkh Ãkøk {qfeLku Lk]íÞ fhðwt yu ¼hík Lkkxâ{TLke yuf ÷kûkrýfíkk Au ßÞkhu fwr[Ãkwze Lk]íÞ{kt 
ykðk MðYÃkLkwt fkuE n÷Lk[÷Lk nkuíkwt LkÚke.

	 (A) Võík 1		  (B) Võík 2

	 (C) 1 yLku 2 çktLku		  (D) 1 yLku 2 Ãkife fkuE Lknª

058.	 Lk]íÞfkh yLku íkçk÷kðkËf ðå[uLke yuf MÃkÄkoí{f h{ík, swøk÷çktÄe, fÞk þkMºkeÞ Lk]íÞ MðYÃk MkkÚku Mktf¤kÞu÷e Au ?

	 (A) {kurnLkeyè{T	 (B) fwr[Ãkwze	 (C) ykurzMMke	 (D) fÚÚkf

059.	 Þ{Ãkwhe .......... Au.

	 (A) yuf «fkhLke ÞwæÄf¤k		  (B) fXÃkwík¤eLkwt MðYÃk

	 (C) ÷kufLk]íÞ		  (D) ÷kufMktøkeík

060.	 Lke[uLkk Ãkife fÞwt Mkk[e heíku òuzkÞu÷wt LkÚke ?

	 (A) [hfMktrníkk – íkçkeçke		  (B) {kÄðrLkËkLk – ÃkuÚkku÷kuS

	 (C) ÷øÄk[kÞo – ßÞkurík»kþkMºk	 (D) Ãkt[rMkæÄktríkfk – ònuh ðneðx

061.	 ¼khíkeÞ rMkLku{k{kt fux÷k xfk MkeÄw rðËuþe hkufký (FDI) Lke ÃkhðkLkøke ykÃkðk{kt ykðe Au ?

	 (A) MkeÄw rðËuþe hkufkýLke ÃkhðkLkøke LkÚke.	 (B) 51%

	 (C) 90%		  (D) 100%

062.	� fuLÿeÞ rVÕ{ «{kýÃkºk çkkuzo (Central Board of Film Certification) çkkçkíku Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / 
rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1.	 U/A «{kýÃkºk 14 ð»ko fhíkk ykuAe ðÞ Ähkðíkk çkk¤fku {kxu ðze÷kuLkwt {køkoËþoLk MkkÚku Mktf¤kÞu÷ Au.

	 2.	 S ðøko «{kýÃkºk rVÕ{ku ¾kMk «uûkfku Ãkwhíke Mker{ík Au.

	 (A) Võík 1		  (B) Võík 2

	 (C) 1 yLku 2 çktLku		  (D) 1 yLku 2 Ãkife fkuE Lknª

063.	 «k[eLkÞwøk{kt Lke[uLkk Ãkife fkuý ÔÞðMkkÞu hMkkÞýþkMºke níkk ?

	 (A) yÃkMíkt¼	 (B) ðhknr{rnh	 (C) çkúñøkwÃík	 (D) LkkøkkswoLk

064.	 Lke[uLkk Ãkife fÞk þe¾ økwY/økwYyku yu {w½÷ku Mkk{u ÃkkuíkkLkku Sð økw{kÔÞku ?

	 (A) økwY yswoLkËuð		  (B) økwY íkuøk çknkËwh

	 (C) (A) íkÚkk (B) çktLku 		  (D) (A) yÚkðk (B) çktLku{ktÚke fkuE Lknª
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057.	� Which of the following statement(s) distinguish(es) between Kuchipudi and Bharatanatyam dances ?

	 1.	 Dancers occasionally speak dialogues in Kuchipudi dance but not in Bharatanatyam.

	 2.	� Dancing on the brass plate by keeping the feet on its edges is a feature of Bharatanatyam but 
Kuchipudi dance does not have such a form of movements.

	 (A) Only 1		  (B) Only 2

	 (C) Both 1 and 2		  (D) Neither 1 nor 2

058.	� Jugalbandhi, a competitive play between the dancer and tabla player, is related to which classical 
dance form ?

	 (A) Mohiniattam		  (B) Kuchipudi

	 (C) Odissi		  (D) Kathak

059.	 Yampuri is _______.

	 (A) A type of martial art		  (B) A puppetry form

	 (C) Folk dance		  (D) Folk music

060.	 Which of the following is not correctly matched ?

	 (A) Charak Samhita – Medicine

	 (B) Madhavanidana – Pathology

	 (C) Lagdhacharya – Astrology

	 (D) Panchasiddhantika – Public Administration

061.	 What is the percentage of Foreign Direct Investment (FDI) allowed in Indian Cinema ?

	 (A) FDI is not allowed		  (B) 51%

	 (C) 90%		  (D) 100%

062.	 Which of the following statements is/are correct regarding to Central Board of Film Certification ?

	 1.	 U/A certification relates to parental guidance for children under the age of 14 years.

	 2.	 S category certification films are restricted to specialized audiences.

	 (A) Only 1		  (B) Only 2

	 (C) Both 1 and 2		  (D) Neither 1 nor 2

063.	 Who of the following was an alchemist (chemist) by profession in ancient era ?

	 (A) Apastamba		  (B) Varahamihira

	 (C) Brahmagupta		  (D) Nagarjuna

064.	 Which of the following Sikh Guru/Gurus lost his/their life/lives to the Mughals ?

	 (A) Guru Arjun Dev		  (B) Guru Tegh Bahadur

	 (C) Both (A) and (B)		  (D) Neither (A) nor (B)
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065.	 Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. ÃkkuíkkLkk MktËuþkLkk «Mkkh {kxu rnLËeLkku WÃkÞkuøk fhLkkh «Úk{ ¼Âõík Mktík hk{kLktË níkk.

	 2. {ehktçkkE Mkøkwý Mktík níkk.

	 3. ¼Âõík [¤ð¤ yu MkqVe [¤ð¤Lke Mk{fkr÷Lk níke.

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3		  (D) 1, 2 yLku 3

066.	 Lke[uLkk Ãkife fÞku MíkwÃk {kiÞofk¤ ËhBÞkLkLkku LkÚke ?

	 (A) MkkhLkkÚk	 (B) çkihkík	 (C) LktËLkøkZ	 (D) y{hkðíke

067.	 rðLkÞrÃkxf{kt Lke[uLkk Ãkife fÞkLkku Mk{kðuþ fhðk{kt ykÔÞku Au ?

	 (A) íku{kt {nkLk MkíÞ rðþuLkk «ð[Lkku yLku r¼ûkwýeykuLke fÚkkyku Au.

	 (B) íku{kt Mºke-ÃkwY»kLkk MktçktÄkuLke [[koyku Au.

	 (C) íku{kt MkkÄwykuLke Vhòu íkÚkk Ãknuhðuþ, Ëðkyku yLku ðknLkkuLkk rLkÞ{kuLkwt ðýoLk Au.

	 (D) íku{kt Lk{úíkk, Mk{krÄ yLku yð÷kufLkkuLke íku{s LkeríkrLkÞ{kuLke [[ko fhðk{kt ykðe Au.

068.	 rËøkBçkhÃktÚkeyku ÃkÞwo»ký ÃkðoLku .......... Lkk{Úke yku¤¾u Au.

	 (A) ËMk ÷ûkýk	 (B) Ãkt[ ÷ûkýk	 (C) «rík¢{ý		  (D) yÃkkæÞkLk

069.	 røkhLkkhLke ík¤uxe{kt ykðu÷ku Lke[uLkk Ãkife fÞku fwtz ¼økðkLk Ë¥kkºkuÞ MkkÚkuLkk MktçktÄ {kxu rðÏÞkík Au ?

	 (A) f{tz÷ fwtz	 (B) fk÷e fwtz	 (C) {]øke fwtz		  (D) rºkLkuºk fwtz

070.	 ¼ðkELkk fÞk «ÏÞkík ðuþ ÃkhÚke sÞþtfh MkwtËheyu Mke{kr[Ln Lkkxf rËøËŠþík fhu÷wt ?

	 (A) sMk{k ykuzý	 (B) ÃkiMkku çkku÷u Au	 (C) {uLkk økwsohe		  (D) Mktíkw htøke÷e

071.	 økwshkíkLkk sLkòríkÞ Lk]íÞ “fkfzk Lk]íÞ” çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk Mkk[wt Au ?

	 (A) yk Lk]íÞ zktøkLkk ykrËðkMkeyku yLku ¾k¾rhÞk Xkfkuhku fhu Au.

	 (B) çkk¤fLku çkr¤Þk Lkef¤u íÞkhu nkuhk{ýk rðrÄ {kxu {trËhu yk Lk]íÞ fhu Au.

	 (C) nkur÷fk{kíkkLke Ãkqòy[oLkk {kxu yk Lk]íÞ fhðk{kt ykðu Au.

	 (D) ðkãku yLku nkfkuxk MkkÚku ykrËðkMke Mk{wËkÞ yk Lk]íÞ fhu Au.

072.	 òuzfkt òuzku.

	 a.  fkfkMkknuçk fk÷u÷fh		  1. yýMkkh

	 b.  ¼økðíkefw{kh þ{ko		  2. VxVxeÞwt

	 c.  ð»kko yzk÷ò		  3. SðLk-ÔÞðMÚkk

	 d.  Mkw{Lk þkn		  4. yMkqÞo÷kuf
	 (A) a - 3, b - 4, c - 1, d - 2	 (B) a - 3, b - 4, c - 2, d - 1
	 (C) a - 4, b - 3, c - 1, d - 2	 (D) a - 4, b - 3, c - 2, d - 1
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M
065.	 Which of the following statements are correct ?

	 1.	 Ramananda was the first Bhakti saint to use Hindi for the propagation of his message.

	 2.	 Mirabai was a saguna saint.

	 3.	 Bhakti movement was contemporary to Sufi movement

	 (A) Only 1 and 2		  (B) Only 2 and 3

	 (C) Only 1 and 3		  (D) 1, 2 and 3

066.	 Which of the following Stupas is not of Mauyra era ?

	 (A) Sarnath	 (B) Bairat	 (C) Nandangadh	 (D) Amaravati

067.	 Which of the following is included in Vinaya Pitaka ?

	 (A)	 It has speeches about the great truth and stories of female monks.

	 (B)	 It has discussions of relationships of men-women.

	 (C)	� It has description on the duties of monks and rules of the use of clothes, medicines, vehicles, etc.

	 (D)	� There is a dicussion on modesty, burin and observations as well as policy-regulations  
in it.

068.	 Digambaras refer Paryushan Parva as _______ .

	 (A) Das Lakshna		  (B) Panch Lakshana

	 (C) Pratikraman		  (D) Apadhyana

069.	� Which of the following ‘Kunds’ at the bottom of Girnar is famous for its connection with Lord  
Duttatreya ?

	 (A) Kamandal Kund	 (B) Kali Kund	 (C) Mrugi Kund	 (D) Trinetra Kund

070.	 Which landmark play based on the famous vesh of Bhavai was directed by Jaishankar Sundari ?

	 (A) Jasma Odan		  (B) Paiso Bole Chhe

	 (C) Mena Gurjari		  (D) Santu Rangili

071.	 Which of the following statements is correct regarding the tribal kakada dance of Gujarat ?

	 (A) This dance is performed by the tribals of Dang and Khakhariya Thakores.

	 (B) This dance is performed at temple for the rituals of horamana when child has smallpox.

	 (C) This dance is done for the worship of Holikamata.

	 (D) Tribals perform this dance with musical instruments and yelling.

072.	 Match the column.

	 a.  Kakasaheb Kalelkar		  1. Ansar

	 b.  Bhagwatikumar Sharma	 2. Fatfatiyu

	 c.  Varsha Adalja		  3. Jivan-Vyavastha

	 d.  Suman Shah		  4. Assuryalok

	 (A) a - 3, b - 4, c - 1, d - 2		  (B) a - 3, b - 4, c - 2, d - 1

	 (C) a - 4, b - 3, c - 1, d - 2		  (D) a - 4, b - 3, c - 2, d - 1
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M
073.	 .......... «ðkMkðýoLkku {kxuLkk òýeíkkt økwshkíke ÷ur¾fk Au.

	 (A) ntMkk {nuíkk	 (B) LktËfwtðhçkk	 (C) «eríkMkuLk økwÃíkk	 (D) yrïLke çkkÃkx

074.	 Ítzk-Íw÷ýLkku ðuþ .......... Lkku MktËuþku ykÃku Au.

	 (A) Mkkt«ËkrÞf MkkinkËo		  (B) MkirLkfLkk Lkiríkf {qÕÞku

	 (C) Mºke rþûký		  (D) Mkíke«ÚkkLke LkkçkwËe

075.	 swLke økwshkíke htøk¼qr{Lkk «rMkæÄ ÷u¾f Ãkh{kLktË ¼èLkwt WÃkLkk{ þwt níkwt ?

	 (A) h{ýe	 (B) ºkkÃksfh	 (C) Ãkkøk÷	 (D) hMkfrð

076.	 fÞk íknuðkh Mk{Þu ‘zktøk Ëhçkkh’ ÞkuòÞ Au ?

	 (A) nku¤e	 (B) økkufw¤ ykX{	 (C) rËðk¤e	 (D) hûkk çktÄLk

077.	� ykrËðkMkeykuLkku yuf rðMík]ík Ãkx Mk{økú ¼khíkLkk ½ýk çkÄk ¼køkku{ktÚke ÃkMkkh ÚkkÞ Au. yk sLkòríkÞ sqÚkkuLkkt Lk]íÞkuLkwt 
ðøkeofhý {kLkðþkMºkeÞ, òríkÞ yLku «òríkÞ ík¥ðkuLkk ykÄkhu fhe þfkÞ. yk MktË¼uo Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / 
rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1.	� ÔÞÂõíkøkíkYÃku yLku Mkk{qrnf heíku ykrËðkMkeykuLkk hku®sËk fkÞkuo yLku yLkw¼ðku MkkÚku Mktf¤kÞu÷e yu yr¼ÔÞÂõík 
nkuÞ Au.

	 2.	 ¼kiøkkur÷f Ãkrhðuþ yuLkwt yrLkðkÞo ½xf Au.

	 3.	 íku{Lkkt Lk]íÞ yLku Mktøkeík þkMºkeÞ þi÷eLkkt WËknhýku çkLku Au.

	 (A) Võík 1	 (B) Võík 1 yLku 2	 (C) Võík 2 yLku 3	 (D) 1, 2 yLku 3

078.	� ®MkÄw MktMf]ríkLke þkuÄ ¼khíkeÞ f÷k«ð]r¥kLkk EríknkMkLku ËqhLkk ¼qíkfk¤ MkwÄe ÷E òÞ Au. yk MktË¼uo Lke[uLkk Ãkife fÞk 
rðÄkLkku Mkk[kt Au ?

	 1.	 ÷kuÚk÷{ktÚke {¤u÷ Ãkfðu÷e {kxeLke ykf]ríkyku rþÕÃkLkk Lk{qLkk çkLke hnu Au.

	 2.	 nzÃÃkk{ktÚke ÃkÚÚkhLkk Äz MkkÚku MkkBÞ Ähkðíke ykf]ríkykuLkk Lk{qLkk {¤u Au.

	 3.	 Ãkfðu÷e {kxe{ktÚke ½zu÷e ykf]rík ErsÃíkLkk ‘{{e’Lku {¤íke ykðu Au.

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3

079.	 økwshkík{kt ½hþýøkkhLkk ¼híkfk{{kt ÄúkrýÞkLkwt rðrþü MÚkkLk Au. yk MktË¼uo Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1. ¼híkfk{ þe¾Lkkh ÔÞÂõík Ãknu÷kt ÄúkrýÞku ¼hðkÚke þYykík fhíke.

	 2. ÷øLkLkk rËðMkku{kt ÄúkrýÞk ÷kuf¼híkLkwt òýu fu ¼ªíkr[ºk çkLke hnuíkkt.

	 3. ÄúkrýÞk{kt fuð¤ ¼kir{ríkf ykfkhku s ÃkMktË fhðk{kt ykðíkkt.

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3
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M
073.	 _______ is a known Gujarati writer for travelogues.

	 (A) Hansa Mehta		  (B) Nandkuwarba

	 (C) Priti Sengupta		  (D) Ashwini Bapat

074.	 The vesh of Zanda-Zulan gives the message of _______.

	 (A) Communal harmony		  (B) Ethical values of a soldier

	 (C) Women education		  (D) Abolition of Sati tradition

075.	 What was the pen name of Parmanand Bhatt, the famous playwright of old Gujarati theatre ?

	 (A) Ramani		  (B) Trapajkar

	 (C) Paagal		  (D) Raskavi

076.	 At the time of which festival is the ‘Dang Darbar’ organized ?

	 (A) Holi		  (B) Gokul Atham

	 (C) Diwali		  (D) Rakshabandhan

077.	� An extensive belt of tribals passes through many parts of India. The classification of the dances of 
these tribal groups can be done on the basis of anthropology, race and species. Which of the following 
statement(s) is / are correct in this reference ?

	 1.	� It is an expression which is individually and collectively connected with the daily routines and 
experiences of the tribals.

	 2.	 Geographical attire is considered as its mandatory ingredient.

	 3.	 Their dance and music become the illustrations of classical style.

	 (A) Only 1		  (B) Only 1 and 2

	 (C) Only 2 and 3		  (D) 1, 2 and 3

078.	� The discovery of Indus Civilization leads the history of art activity of India to the long past. Which of 
the following statements are correct in this reference ?

	 1.	 The baked clay figures found in Lothal have become the models of sculpture.

	 2.	 The models of figures showing similarity with the torso of stone are found from Harappa.

	 3.	 The figures scalped from the baked clay is like ‘mummy’ of Egypt.

	 (A) Only 1 and 2		  (B) Only 2 and 3

	 (C) Only 1 and 3		  (D) 1, 2 and 3

079.	� The place ‘Dhraniya’ is special in embroidery of house decoration in Gujarat. Which of the following 
statements are correct in this reference ?

	 1.	 The person learning the embroidery started with the making of ‘Dhraniya’ first.

	 2.	 In the days of wedding  ‘Dhraniya’ almost became wall painting of folk embroidery.

	 3.	 Only Geometric shapes were selected in  ‘Dhraniya’.

	 (A) Only 1 and 2		  (B) Only 2 and 3

	 (C) Only 1 and 3		  (D) 1, 2 and 3
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M
080.	 ÃkkhMke htøk¼qr{ yuf heíku «kÞkurøkf htøk¼qr{ níke. yk MktË¼uo Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?
	 1.	 ÃkkhMke htøk¼qr{ îkhk WËwo økeík-LkkxfLkku «kht¼ ÚkÞu÷ku.
	 2.	� ÃkkhMke Lkkxâfkhkuyu ytøkúuS LkkxfkuLkk YÃkktíkh WÃkhktík EhkLkLke íkðkhe¾, ¼khíkLke Ãkkihkrýf yiríknkrMkf ¼qr{fk 

Ãkh ykÄkheík Lkkxfku Ãký ykÃÞkt níkkt.
	 3.	� ÃkkhMke htøk¼qr{Lkk «¼kðu økwshkíke yufktfeykuLkwt «ËþoLk çkË÷kÞwt.
	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3

081.	� çktøkk÷e rVÕ{, ‘{kuLkuh {kLkw»k’, fu suýu ¼khíkLkk yktíkhhkr»xÙÞ rVÕ{ {nkuíMkð{kt ©uc rVÕ{ íkhefuLkku Ãkkrhíkkur»kf 
{u¤ÔÞku, Lke[uLkk Ãkife fÞk ¼khíkeÞ Mkt«ËkÞLkwt rLkYÃký fhu Au ?

	 (A) çkkW÷	 (B) yk÷ðkh	 (C) Ãkt[-Mk¾k	 (D) Mk¾e

082.	 ÄúwÃkË ÃkhtÃkhk þwæÄ ®nËw-Mktøkeík ÃkhtÃkhk Au. yk MktË¼uo Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1.	 yuLku f]»ý ¼Âõík MkkÚku MkeÄku MktçktÄ Au.

	 2.	 yk ÃkhtøkhkLku ÷eÄu Mktøkeík ðÄw ÷kufkr¼{w¾ yLku {Lkkuhtsf çkLÞwt.

	 3.	 íkuLkwt {kuøk÷kuLkk Ëhçkkh{kt MÚkkLk níkwt.

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3

083.	� økwshkíkLke htøk¼qr{Lkk MktøkeíkLkk rðfkMk{kt rðþu»k ÞkuøkËkLk økwshkíkLkk LkkÞfku yLku ¼kusfkuLkwt Au. yk MktË¼uo Lke[uLkk Ãkife 
fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	 íkuyku ÃkkMku þkMºkeÞ ÃkæÄríkLkk økkÞLk-ðkËLkLke fw÷ÃkhtÃkhk níke.

	 2.	 íku{Lku ¼ðkE îkhk ÷kufhtsf MktøkeíkLke Ãkqhe òýfkhe níke.

	 3.	 yk{ktLkk fux÷kf hksËhçkkh{kt Wå[ økkÞf f÷kfkh íkhefu fkÞo fhíkkt níkkt.

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3

084.	 ykMkk{{kt ykrËðkMke WíMkð rçknqLke Wsðýe ¾kMk «fkhu ÚkkÞ Au. yk MktË¼uo Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1.	 ykMkk{{kt ºký «fkhLkk rçknq WsðkÞ Au.

	 2.	 ðMktík ÉíkwLkwt ykøk{Lk yLku ¾uíkeLke hkuÃkýe hkUøkkr÷ rçknqLke rðrþüíkk Au.

	 3.	 rçknw yu ykMkk{Lkk Lkðk ð»koLke WsðýeLkku WíMkð Au.

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3

085.	� Ãkèýe çkku÷e{kt fux÷kf çkku÷e÷ûkýku {æÞ økwshkíkLke çkku÷e MkkÚku y{wf ík¥ðkuLku çkkË fhíkkt ½ýkt Mk{kLk sýkÞ Au. yk 
MktË¼uo Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1.	 Ãkèýe{kt “Äku¤ku” þçËLkwt “Äkuhku”, “Wíkkð¤”Lkwt “Wíkkðh” Wå[khý ÚkkÞ Au.

	 2.	 Ãkèýe{kt “n” ©ríkLkku ½Mkkhku ÚkkÞ Au íkuÚke “ðnw” Lkne Ãký “ðW” Wå[khkÞ Au.

	 3.	 {æÞ økwshkík{kt “n”Lkk Mkkðorºkf WÃkÞkuøkLku ÷eÄu “Ëkz{” Lkku Wå[kh “ËTnkzâ{” YÃku ÚkkÞ Au.

	 (A) Võík 1 yLku 2	 (B) Võík 1 yLku 3	 (C) Võík 2 yLku 3	 (D) 1, 2 yLku 3
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M
080.	� Parsi theatre was in a way an experimental theatre. Which of the following statements are correct in 

this reference ?

	 1.	 The Urdu song-drama was initiated by Parsi theatre.

	 2.	� In addition to the adaptations of the English plays, the Parsi playwrights also gave plays based on 
the history of Iran and India’s mythical-historical role.

	 3.	 The performance of Gujarati one-act plays changed due to the impact of Parsi theatre.

	 (A) Only 1 and 2		  (B) Only 2 and 3

	 (C) Only 1 and 3		  (D) 1, 2 and 3

081.	� The Bengali film ‘Moner Manush’ which got the award of best film at International Film Festival of India, 
depicts which of the following Indian cults ?

	 (A) Baul	 (B) Alwar	 (C) Panch-Sakha		  (D) Sakhi

082.	� Dhrupad tradition is purely a Hindu music tradition. Which of the following statements are correct in 
this reference ?

	 1.	 It has a direct relationship with Krishna worship.

	 2.	 Due to this tradition music became more people-oriented and entertaining.

	 3.	 It had a place in Mughal court.

	 (A) Only 1 and 2		  (B) Only 2 and 3

	 (C) Only 1 and 3		  (D) 1, 2 and 3

083.	� In the development of the music of Gujarati theatre the contribution of the Nayaks and Bhojaks is 
special. Which of the following statements are correct in this reference ?

	 1.	 They had the ancestral tradition of classical method of singing and playing

	 2.	 They had a complete knowledge of people-entertaining music through Bhavai.

	 3.	 Some of these were working as esteemed singer artist in court.

	 (A) Only 1 and 2	 (B) Only 2 and 3	 (C) Only 1 and 3		  (D) 1, 2 and 3

084.	� The celebration of tribal festival in Assam is done in a special way. Which of the following statements 
are correct in this reference ?

	 1.	 Three types of Bihu are celebrated in Assam.

	 2.	 The arrival of Spring festival and sowing in agriculture is the speciality of Rongali Bihu.

	 3.	 Bihu is the festival of celebration of the New Year in Assam.

	 (A) Only 1 and 2	 (B) Only 2 and 3	 (C) Only 1 and 3	 (D) 1, 2 and 3

085.	� Some of the dialectal features of Pattani dialect with the exception of certain elements are largely 
similar to the dialect of central Gujarat. Which of the following statements are correct in this reference?

	 1.	 In Pattani, the word ‘dholo’ is pronounced as ‘dhoro’, ‘Utaval’ as ‘Utavar’.

	 2.	 In Pattani, the sound ‘h’ is diluted and thus not ‘vahu’ but ‘vau’ is pronounced.

	 3.	� In central Gujarat due to the universal use of ‘h’, the pronunciation of ‘dadam’ is in form of 
‘dhyadyam’.

	 (A) Only 1 and 2	 (B) Only 1 and 3	 (C) Only 2 and 3	 (D) 1, 2 and 3
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M
086.	 Lk{oËu økwshkíke{kt “zktrzÞku” Lkk{Lkwt Ãkkrûkf Ãkºk þY fÞwO níkwt. yk MktË¼uo Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1.	 Lk{oËu MktMkkh MkwÄkhkLkwt yktËku÷Lk ðuøkðtík çkLkkÔÞwt.

	 2.	 Ãkkrûkf îkhk ÷kufkuLku yûkh¿kkLk ykÃkíkku níkku.

	 3.	 økwshkíkLke «òLku y¿kkLk yLku szíkk{ktÚke çknkh ÷kðe òøk]ík fhðkLkwt yuýu yu îkhk çkezwt ÍzÃÞwt níkwt.

	 (A) Võík 1 yLku 2	 (B) Võík 1 yLku 3	 (C) Võík 2 yLku 3	 (D) 1, 2 yLku 3

087.	 nku¤eLkk rËðMku “yktçk÷e fkZðe”Lke h{íkku fkuý h{u Au ?

	 1.	 Mkkihk»xÙLkk fkhrzÞk hksÃkqíkku

	 2.	 Ãkt[{nk÷Lkk ykrËðkMkeyku

	 3.	 Mkkihk»xÙLke {uh «ò

	 (A) Võík 1 	 (B) Võík 2	 (C) Võík 3	 (D) Võík 2 yLku 3

088.	� “®nËðkýe íkwt ¼÷e rÃkAkýe, þeh Ãkkýefk çkuzk ¼hu fqðu {U íkuíkh çkku÷u, hk{Mkeíkk fk òuzk, íkk ÚkiÞk fíkk ÚkE...” - yk 
MktðkË ¼ðkELkk fÞk ðuþLkku Au ?

	 (A) Ítzk Íq÷ý	 (B) sMk{k	 (C) r{Þkt sqXý	 (D) WÃkhkuõík Ãkife fkuE Lknª

089.	 ¼khíkeÞ ÃkhtÃkhk{kt ½uh ½uh Ãkqòíkk “ôçkh”Lku þkLkwt «ríkf {kLkðk{kt ykðu Au ?

	 (A) Lkh®Mkn ¼økðkLkLkwt ®MknkMkLk	 (B) ykãþÂõíkLkwt rºkþq¤

	 (C) økýÃkríkLkwt ykMkLk		  (D) WÃkhkuõík Ãkife fkuE Lknª

090.	 fkcrþÕÃkLkkt {fkLkku, {trËhku, [çkqíkhkyku{kt økwsoh f÷kfkhkuLkk nkÚku su Lk{ýwt YÃk ftzkhkÞwt Au íkuLku þwt fnuðkÞ Au ?

	 (A) Lkusðkt		  (B) fwt¼e

	 (C) {kuríkÞwt		  (D) WÃkhkuõík Ãkife fkuE Lknª

091.	 Ãkwhkík¥ð Mktøkúnk÷Þ .......... ¾kíku ykðu÷wt Au.

	 1. økqshkík rðãkÃkeX	 2. ÷kuÚk÷	 3. ðzLkøkh

	 (A) Võík 1	 (B) Võík 2	 (C) Võík 2 yLku 3	 (D) 1, 2 yLku 3

092.	 ¼khíkeÞ MktøkeíkLkk hkøkku{kt Þ{Lk hkøkLkku W{uhku fkuýu fÞkuo ?

	 (A) økkuÃkk÷ LkkÞf		  (B) y{eh ¾wþY

	 (C) Mkkhtøk Ëuð		  (D) WÃkhkuõík Ãkife fkuE Lknª

093.	 Lke[uLkk Ãkife fkuý økwshkíkLkk rþûký{tºke níkk íku{s ÃkÈ©e Ãkkrhíkkur»kfLkk «kÃíkfíkko níkk ?

	 (A) ntMkkçkuLk Sðhks {nuíkk		 (B) $Ëw{íke r[{Lk÷k÷ þuX

	 (C) nu{kçkuLk yk[kÞo		  (D) WÃkhkuõík ík{k{
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086.	� Narmad had started his biweekly named ‘Dandiya’ in Gujarati. Which of the following statements are 

correct in this reference ?

	 1.	 Narmad accelerated the world reformation movement.

	 2.	 He imparted literacy through his biweekly.

	 3.	 He took up the challenge of bringing out the people from ignorance and crass through it.

	 (A) Only 1 and 2	 (B) Only 1 and 3	 (C) Only 2 and 3		  (D) 1, 2 and 3

087.	 Who plays the games of ‘Ambali Kadhavi’ on the day of Holi ?

	 1.	 Karadiya Rajputs of Saurashtra

	 2.	 The tribals of Panchmahal

	 3.	 The Mer community of Saurashtra

	 (A) Only 1 	 (B) Only 2	 (C) Only 3	 (D) Only 2 and 3

088.	� Hindvani tu bhali pichani, shir pani ka bedo bhare kuve me tetar bole, Ram-Sita ka joda, Ta thaiya ka ta 
thai.” - The dialogue is of which vesh of Bhavai ?

	 (A) Zanda Zulan		  (B) Jasma

	 (C) Miya Juthan		  (D) None of the above

089.	� Of whose symbol is “Umbar” Threshold, which is worshipped house to house in Indian tradition, 
believed to be ?

	 (A) The throne of Lord Narsimha	 (B) The trident of Aadhyashakti

	 (C) The seat of Ganapati		  (D) None of the above

090.	� What are the goodly sculpted wood sculptures in buildings, temples, chabutaro, by Gurjar artists 
known as ?

	 (A) Nejwa		  (B) Kumbhi

	 (C) Motiyu		  (D) None of the above

091.	 The archeological museum is located at _______.
	 1.	 Gujarat Vidhyapith
	 2.	 Lothal
	 3.	 Vadnagar
	 (A) Only 1		  (B) Only 2
	 (C) Only 2 and 3		  (D) 1, 2 and 3

092.	 Who added ‘Yaman’ raga to the ragas of the Indian music ?

	 (A) Gopal Nayak		  (B) Amir Khushru

	 (C) Sarang Dev		  (D) None of the above

093.	� Who among the following was the education minister of Gujarat as well as the recipient of the 
Padmashree award ?

	 (A) Hansaben Jivraj Mehta	 (B) Indumati Chimanlal Sheth

	 (C) Hemaben Acharaya		  (D) All of the above
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094.	 Lkf¤tøkLkk {u¤k çkkçkíku Lke[uLkk Ãkife fÞwt Mkk[wt Au ?

	 (A) íku rËðk¤e ÃkAe Lkðk ð»koLkk rËðMku ÞkuòÞ Au.

	 (B) íku {nk¼khík fÚkkLkk Ãkktzðku MkkÚku Ãkkihkrýf heíku Mktf¤kÞu÷wt Au.

	 (C) íku îkhfkLkk ËrhÞk fktXu ÞkuòÞ Au.

	 (D) WÃkhkuõík ík{k{

095.	 Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	 “MkÞkS þkMkLk þçËfÕÃkíkhw” økkÞfðkz þkMkLkLkwt «ËkLk Au.

	 2.	 “¼økðËTøkku{tz¤”Lkwt «ËkLk økkUz÷Lkk hkò ¼økðík®Mkn îkhk fhðk{kt ykÔÞwt níkwt.

	 3.	� “MkkÚko òuzýefkuþ”Lke «Úk{ ykð]r¥k økwshkík hkßÞLkk yÂMíkíð{kt ykÔÞk çkkË økwshkík MkhfkhLkk {krníke ¾kíkk 
îkhk «fkrþík fhðk{kt ykðe níke.

	 4.	 “Lk{ofkuþ” Ë÷Ãkíkhk{ îkhk íkiÞkh fhðk{kt ykÔÞku níkku.

	 (A) Võík 1 yLku 2	 (B) Võík 1, 2 yLku 3	 (C) Võík 2, 3 yLku 4	 (D) 1, 2, 3 yLku 4

096.	 W{kþtfh òuþe çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1.	 íku{Lke frðíkk, “rðï þktrík” økktÄeSLkk MktËuþ yLku SðLkfkÞo MktË¼ou Au.

	 2.	 íkuyku hkßÞMk¼k{kt [qtxkÞk níkkt.

	 3.	 íkuyku ¿kkLkÃkeX ÃkwhMfkh {u¤ðLkkh «Úk{ økwshkíke ÷u¾f níkk.

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3

097.	 Lke[uLkk Ãkife fkuý çktÄkhýeÞ Mk¼kLkk MkÇÞku níkkt ?

	 1. fLkiÞk÷k÷ {wLþe	 2. ðÕ÷¼¼kE Ãkxu÷	 3. {kuhkhS ËuMkkE	 4. r{Lkw {Mkkýe

	 (A) Võík 1, 2 yLku 3	 (B) Võík 1, 2 yLku 4	 (C) Võík 2, 3 yLku 4	 (D) 1, 2, 3 yLku 4

098.	� fçkeh yæÞkí{ðkËe ¿kkLke frðLke MkkÚkkuMkkÚk ¢kÂLíkfkhe Mk{ksMkwÄkhf Ãký níkkt. Lke[uLkk Ãkife fE ÃktÂõíkyku yk çkkçkík 
Ëþkoðu Au ?

	 1.	 “ÃkíÚkh Ãkqsu nrh r{÷U, íkku {I Ãkqswt Ãknkz.”

	 2.	 “s÷ {U fwt¼, fwt¼ {U s÷ ni, çkknh ¼eíkh ÃkkLke, xqxâk fwt¼, s÷ s÷ rn Mk{kLkk, yu íkÚÞ fÌkku røkÞkLkk.”

	 3.	 “EMkf yk÷nfe òrík, EMkf y÷nfk ytøk, EMkf y÷øk ykiswË ni, EMkf y÷n fk htøk.”

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3

099.	� çktÄkhý{kt Lke[uLkk Ãkife fÞk MkwÄkhkÚke «Úk{ ð¾ík hk»xÙÃkríkyu {tºke{tz¤Lke Mk÷kn {wsçk fkÞo fhðwt ykð~Þf  
çkLkkÔÞwt níkwt ?

	 (A) 41 {ku MkwÄkhku	 (B) 44 {ku MkwÄkhku	 (C) 54 {ku MkwÄkhku	 (D) WÃkh{ktÚke fkuE Lknª
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094.	 Which of the following is/are correct about the fair of Naklang ?
	 (A) It is held on the New Year Day after Diwali.
	 (B) It has a mythological connection with Mahabharata story of Pandavas.
	 (C) This fair is held on the seashore of Dwarka.
	 (D) All of the above are correct.

095.	 Which of the following statements are correct ?
	 1.	 “Sayaji shashan Sabdakalpataru” was a contribution by Gaikwad reign.
	 2.	 “Bhagavadgomandal” was a contribution by King Bhagvatsinh of Gondal
	 3.	� The first edition of “Sarth Jodanikosh” was published by Information Department, Government of 

Gujarat after the state of Gujarat came into existence.
	 4.	 “Narmkosh” was prepared by Dalpatram.
	 (A) Only 1 and 2		  (B) Only 1, 2 and 3
	 (C) Only 2, 3 and 4		  (D) 1, 2, 3 and 4

096.	 Which of the following statements regarding Umashankar Joshi are correct ?

	 1.	 His poetry ‘Vishwa Shanti’ refers to Gandhiji’s message and lifework.

	 2.	 He was elected to Rajya Sabha.

	 3.	 He was the first Gujarati writer to receive the Jnanpith Award.

	 (A) Only 1 and 2		  (B) Only 2 and 3

	 (C) Only 1 and 3		  (D) 1, 2 and 3

097.	 Who among the following were members of the Constituent Assembly ?

	 1. Kanaiyalal Munshi		  2. Vallabhbhai Patel

	 3. Morarji Desai		  4. Minoo Masani

	 (A) Only 1, 2 and 3		  (B) Only 1, 2 and 4

	 (C) Only 2, 3 and 4		  (C) 1, 2, 3 and 4

098.	� Along with being a spiritualist wise poet, Kabir was also a revolutionary social reformer. Which of his 
following lines reflect this fact ?

	 1.	 “patthar puje Hari mile tuo mei puju pahad”

	 2.	� “Jal me kumbh, kumbh me jal hei, bahar bhitar pani, tutya kumbh, jal jal hi samana, e tathya kahyo 
giyana”

	 3.	 “Isak alah ki jati, isak alah ka ang, isak alag oujud hei, isak alah ka rang”

	 (A) Only 1 and 2		  (B) Only 2 and 3

	 (C) Only 1 and 3		  (D) 1, 2 and 3

099.	� Which one of the following Amendments to the Constitution for the first time, made it obligatory for 
the President to act on the advice of the Council of Ministers?

	 (A) 41st Amendment		  (B) 44th Amendment

	 (C) 54th Amendment		  (D) None of the above
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100.	 ¼khík{kt rðÄkLk Ãkrh»kËLke h[Lkk yÚkðk hÆ .......... îkhk ÚkE þfu Au.

	 1.	 hkßÞ rðÄkLkMk¼kLkk XhkðLku yLkwMkheLku fkÞËk ðzu MktMkË

	 2.	 MktçktrÄík hkßÞLkk hkßÞÃkk÷Lke ¼÷k{ý Ãkh hk»xÙÃkrík

	 3.	 MktçktrÄík hkßÞLkk {tºke{tz¤Lke ¼÷k{ý Ãkh hkßÞÃkk÷

	 (A) {kºk 1 yLku 3	 (B) {kºk 1	 (C) {kºk 2 yLku 3	 (D) {kºk 2

101.	 Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1.	 MktMkË yLku hkßÞ rðÄkLkMk¼kyku íku{Lkk MktçktrÄík yrÄfkhûkuºk{kt fkÞËk çkLkkðu Au.

	 2.	 MktMkË yLku hkßÞ rðÄkLkMk¼kLke fkÞËkfeÞ Mk¥kk yçkkrÄík LkÚke.

	 3.	 MktMkË ¼khíkeÞ çktÄkhýLke {q¤¼qík h[Lkk (Basic structure) Lku hË fhe þfþu Lknª yÚkðk çkË÷e þfkþu Lknª.

	 (A) {kºk 1 yLku 3	 (B) 1, 2 yLku 3	 (C) {kºk 2	 (D) {kºk 1

102.	 MktMkËLkk MkÇÞkuLku WÃk÷çÄ rðþu»kkrÄfkhku ytøku Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1.	 yk rðþu»kkrÄfkhku MktMkËLkk MkÇÞku {kxu Mkk{qrnf yLku ÔÞÂõíkøkík heíku çku «fkhLkk WÃk÷çÄ Au.

	 2.	 fkuEÃký yËk÷íkLku øk]n yÚkðk íkuLke fkuEÃký Mkr{ríkLke fkÞoðkneLke íkÃkkMk fhðkLkku yrÄfkh LkÚke.

	 3.	 MktMkË íkuLkk MkÇÞku yÚkðk çknkhLkk ÷kufkuLku íkuLkk rðþu»kkrÄfkhkuLkk ¼tøk çkË÷ Mkò fhe þfu Lknª.

	 (A) {kºk 1 yLku 3		  (B) {kºk 1 yLku 2

	 (C) {kºk 2		  (D) 1, 2 yLku 3

103.	 yþkuf {nuíkk Mkr{ríkLkk ynuðk÷ (1978) Lkk MktË¼uo Lke[uLkk Ãkife fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1.	 Ãkt[kÞíke hksLke rî MíkheÞ ÃkæÄrík {kxu Mkr{ríkyu ¼÷k{ý fhe níke.

	 2.	 hkßÞLke Lke[u rðfuLÿefhý {kxuLkku «Úk{ íkçk¬ku rsÕ÷ku nkuðku òuEyu.

	 3.	 rsÕ÷k Ãkrh»kË fkhkuçkkhe {tz¤ nkuðe òuEyu yLku rsÕ÷k fûkkyu ykÞkusLk {kxu sðkçkËkh nkuðe òuEyu.

	 (A) {kºk 2 yLku 3		  (B) {kºk 2

	 (C) {kºk 1 yLku 3		  (D) 1, 2 yLku 3

104.	 Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	� {rn÷kykuLkk rník yLku yrÄfkhkuLkk hûký yLku «kuíMkknLk {kxu 1992 {kt hk»xÙeÞ {rn÷k ykÞkuøkLke h[Lkk fhðk{kt 
ykðe níke.

	 2.	 1990 {kt MktMkË îkhk ½zðk{kt ykðu÷k fkÞËk nuX¤ íkuLke MÚkkÃkLkk fhðk{kt ykðe níke.

	 3.	� ¼khík MkhfkhLkwt {rn÷k yLku çkk¤ rðfkMk {tºkk÷Þ ykÞkuøk {kxu Lkkuz÷ {tºkk÷Þ Au.

	 (A) {kºk 1 yLku 3		  (B) {kºk 2 yLku 3

	 (C) 1, 2 yLku 3		  (D) {kºk 1 yLku 2
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100.	 A State legislative council in India can be created or abolished by

	 1.	 The Parliament by law in pursuance of the State Assembly resolution to that effect

	 2.	 The President on the recommendation of the Governor of concerned State

	 3.	 The Governor on the recommendation of the Council of Ministers of concerned State

	 (A) 1 and 3 only		  (B) 1 only

	 (C) 2 and 3 only		  (D) 2 only

101. 	 Which of the following statements is/are correct?

	 1.	 The Parliament and the state Legislatures make Laws in their respective Jurisdiction.

	 2.	 The Legislative Power of Parliament and State Legislatures is not absolute.

	 3.	 The Parliament cannot delete or alter the basic structure of the Constitution of India.

	 (A) 1 and 3 only		  (B) 1, 2 and 3

	 (C) 2 only		  (D) 1 only

102.	� Which of the following statements is/are correct regarding privileges available to the members of 
Parliament?

	 1.	� These privileges are of two types available collectively and individually to members of Parliament.

	 2.	 No Court has the right to investigate proceedings of the House or any of its Committees.

	 3.	 Parliament cannot punish its members or outsiders for breach of its privileges.

	 (A) 1 and 3 only		  (B) 1 and 2 only

	 (C) 2  only		  (D) 1, 2 and 3

103.	� Which of the following statements is/are correct regarding Ashok Mehta Committee Report (1978)?

	 1.	 Committee recommended for two-tier system of Panchayati Raj.

	 2.	 A district should be the first point for decentralization below the state-level.

	 3.	� ZilaParishad should be the executive body and should be responsible for planning at the  
district level.

	 (A) 2 and 3 only		  (B) 2 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

104.	 Which of the following statements are correct?

	 1.	� The National Commission for Women was constituted in 1992 for protecting and promoting the 
interests and rights of women

	 2.	 It was established under a legislation enacted by the Parliament in 1990

	 3.	� The Ministry of Women and Child Development, Government of India, is the nodal Ministry for the 
Commission

	 (A) 1 and 3 only		  (B) 2 and 3 only

	 (C) 1, 2 and 3		  (D) 1 and 2 only
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105.	 ¼khíkeÞ çktÄkhýLkk rðfkMk ytøku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	 çktÄkhý Mk¼kyu 9 rzMkuBçkh, 1946 Lkk hkus íkuLke «Úk{ çkuXf ÞkuS níke.

	 2.	 zkp. hksuLÿ «MkkË çktÄkhý Mk¼kLkk fkÞ{e yæÞûk íkhefu [qtxkÞk níkk.

	 3.	 Mke. hksøkkuÃkk÷k[kheyu 11 òLÞwykhe, 1947 Lkk hkus ‘WÆuþ Xhkð’ hsq fÞkuo níkku.

	 4.	 WÆuþ Xhkð{kt {q¤¼qík yLku çktÄkhýeÞ {k¤¾kLke rV÷MkqVe hsq fhðk{kt ykðu÷.

	 (A) {kºk 1, 2 yLku 4	 (B) {kºk 1, 2 yLku 3	 (C) {kºk 2 yLku 3	 (D) {kºk 3 yLku 4

106.	 hk»xÙÃkríkLke ÄkhkfeÞ Mk¥kkyku MktçktÄ{kt Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	� hk»xÙÃkríkLku MktMkË [k÷w Lk nkuÞ íÞkhu ðxnwf{ku «rMkæÄ fhðkLkk yrÄfkh nkuÞ Au y™u íkuykuLku sYhe sýkÞ íkuðk 
Mktòuøkku{kt ykðku ðxnwf{ «rMkæÄ fhe þfu Au.

	 2.	� hk»xÙÃkrík îkhk «rMkæÄ ÚkÞu÷k ðxnwf{Lkku MktMkËLkk yrÄrLkÞ{Lkk sux÷ku s «¼kð yLku yMkh hnuþu.

	 3.	� Ãkhtíkw ykðku Ëhuf ðxnwf{ MktMkËLkk çktLku øk]nku Mk{ûk {qfðku òuEþu yLku MktMkË VheÚke {¤u íÞkhÚke ºký yXðkrzÞk 
Ãkqhk ÚkÞu íku y{÷{kt hnuþu Lknª.

	 4.	 yufðkh ònuh fÞko ÃkAe hk»xÙÃkrík îkhk fkuEÃký Mk{Þu ðxnwf{ ÃkkAku ¾U[e þfkíkku LkÚke.

	 (A) {kºk 1, 2 yLku 3	 (B) {kºk 1 yLku 2	 (C) {kºk 1 yLku 3	 (D) 1, 2, 3 yLku 4

107.	 ¼khíkLkk çktÄkhý{kt WÕ÷ur¾ík {q¤¼qík yrÄfkhku ytøku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	� hkßÞ fkuEÃký ÔÞÂõíkLku fkÞËk Mk{ûk Mk{kLkíkk yÚkðk ¼khíkLkk ûkuºk{kt fkÞËkykuLke Mk{kLk MkwhûkkLku Lkfkhe  
þfþu Lknª.

	 2.	� {q¤¼qík yrÄfkhku{kt Mk{krðü çktÄkhýLkku yLkwåAuË 29 yu ¼kh {qfu Au fu ¼khíkLkk çkÄk LkkøkrhfkuLku ðkýe yLku 
yr¼ÔÞÂõíkLke MðíktºkíkkLkku yrÄfkh nþu.

	 3.	 ytík:fhýLke yLku {wõík heíku Ä{oLke {kLÞíkk, Ãkk÷Lk yLku «[khLku {q¤¼qík yrÄfkhku{kt Mk{kððk{kt ykðu÷ Au.

	 (A) {kºk 1 yLku 2	 (B) {kºk 1 yLku 3	 (C) {kºk 2 yLku 3	 (D) 1, 2 yLku 3

108.	 {wÂM÷{ {rn÷kykuLkk (÷øLkLkk yrÄfkhkuLkwt hûký) ¾hzku, 2019Lke yãíkLk ÂMÚkrík (latest status) þwt Au ?

	 (A)	 yk ¾hzku ÷kufMk¼k{kt hsq fhkÞku níkku.

	 (B)	 yk ¾hzku ÷kufMk¼k îkhk ÃkMkkh fhðk{kt ykÔÞku níkku yLku hkßÞMk¼k{kt Ãkzíkh Au.

	 (C)	 çktLku hkßÞMk¼k yLku ÷kufMk¼k îkhk ¾hzku ÃkMkkh fhkÞku Au.

	 (D)	 ¾hzku fkÞËku çkLke økÞku Au.

109.	 ¼khíkeÞ çktÄkhýLkk yLkwåAuË 35A çkkçkíku Lke[uLkk Ãkife fÞwt / fÞkt Mkk[wt / Mkk[kt Au ?

	 1.	 hk»xÙÃkríkLkk ykËuþ îkhk çktÄkhý{kt íkuLku W{uhðk{kt ykÔÞku.

	 2.	 yk yLkwåAuËLku yLkwåAuË 370 MkkÚku Ëk¾÷ fhðk{kt ykÔÞku níkku.

	 3.	 íku hkßÞLkeríkLkk {køkoËþof rMkæÄktíkku nuX¤Lke yuf rðþu»k òuøkðkE níke.

	 4.	 íku çktÄkhýeÞ WÃkkÞLkk yrÄfkh ÷økík Au.

	 (A) {kºk 1	 (B) {kºk 1 yLku 2	 (C) {kºk 1, 3 yLku 4	 (D) 1, 2, 3 yLku 4
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105.	 Which of the following statements are correct regarding the evolution of Indian Constitution?

	 1.	 The Constituent Assembly held its first meeting on December 9, 1946

	 2.	 Dr. Rajendra Prasad was elected the permanent Chairman of the Constituent Assembly

	 3.	 C. Rajagopalachari moved the ‘Objective Resolution’ on January 11, 1947

	 4.	� The ‘Objective Resolution’ laid down the fundamentals and philosophy of the constitutional 
structure

	 (A) 1, 2 and 4 only	 (B) 1, 2 and 3 only	 (C) 2 and 3 only	 (D) 3 and 4 only

106.	� Which of the following statements are correct regarding the legislative powers of the President of 
India?

	 1.	� The President has the power to promulgate Ordinances during recess of Parliament and may 
promulgate such Ordinance as the circumstances appear to him to require

	 2.	� An Ordinance promulgated by the President shall have the same force and effect as an Act of 
Parliament

	 3.	� But every such Ordinance shall be laid before both Houses of Parliament and shall cease to 
operate at the expiration of three weeks from the reassembly of Parliament.

	 4.	 Once promulgated, an ordinance can’t be withdrawn at any time by the President

	 (A) 1, 2 and 3 only		  (B) 1 and 2 only

	 (C) 1 and 3 only		  (D) 1, 2, 3 and 4

107.	� Which of the following statements are correct regarding the Fundamental Rights mentioned in the 
Constitution of India:

	 1.	� The State shall not deny to any person equality before the law or the equal protection of the laws 
within the territory of India

	 2.	� Article 29 of the Constitution enshrined in the Fundamental Rights emphasizes that all citizens of 
India shall have the right to freedom of speech and expression

	 3.	� Freedom of conscience and free profession, practice and propagation of religion are included in 
the Fundamental rights

	 (A) 1 and 2 only	 (B) 1 and 3 only	 (C) 2 and 3 only	 (D) 1, 2 and 3

108.	 What is the latest status of the Muslim Women (Protection of Rights on Marriage) Bill, 2019?

	 (A) The Bill was presented in Lok Sabha.

	 (B) The Bill was passed by Lok Sabha and is pending in Rajya Sabha.

	 (C) The Bill has been passed both by Rajya Sabha and Lok Sabha.

	 (D) The Bill has become an Act.

109.	 Which of the following is/are correct regarding Article 35A of Indian Constitution?

	 1.	 It was added to the Constitution by a Presidential order

	 2.	 The Article was introduced with Article 370

	 3.	 It was a special provision under directive Principles of State Policy

	 4.	 It deals with right to Constitutional Remedies

	 (A) 1 only	 (B) 1 and 2 only	 (C) 1, 3 and 4 only	 (D) 1, 2, 3 and 4
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110.	 økðLko{uLx ykuV ELzeÞk rð. yu÷.ykE.Mke. ykuV ELzeÞk, 1995 fuMk{kt Mkðkuoå[ LÞkÞk÷Þu Xhkðu÷ Au fu -

	 (A)	 yk{w¾ yu ¼khíkLkk çktÄkhýLkku yuf yr¼LLk ¼køk Au.

	 (B)	 yk{w¾ yu ¼khíkLkk çktÄkhýLkku yuf yr¼LLk ¼køk LkÚke.

	 (C)	 yk{w¾{kt MkwÄkhku fhe þfkíkku LkÚke.

	 (D) “y®nMkk” þçËLkku yk{w¾{kt Mk{kðuþ Úkðku òuEyu.

111.	� ðzk«ÄkLkLkk Mkr[ðk÷ÞLkwt Lkk{ ðzk«ÄkLkLkk fkÞko÷Þ (PMO) íkhefu ðzk«ÄkLk .......... Lkk Mk{Þ Ëhr{ÞkLk Lkk{ 
çkË÷ðk{kt ykðu÷ níkwt.

	 (A) ©e sðknh÷k÷ LkunY		  (B) ©e ÷k÷çknkËwh þkMºke

	 (C) ©e {kuhkhS ËuMkkE		  (D) ©e{íke EÂLËhk økktÄe

112.	 Lkerík ykÞkuøk îkhk ònuh fhkÞu÷k çkeò ykhkuøÞ Mkq[fktf (2017-18) yLkwMkkh Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	 yuftËhu ykhkuøÞ fk{økeheLkk {k{÷u W¥kh«ËuþLkku ¢{ MkkiÚke Lke[ku Au.

	 2.	 fuhk÷kyu Mkíkík çkeS ð¾ík yuftËhu ykhkuøÞ Mkq[fktf{kt «Úk{ ¢{Lkwt MÚkkLk {u¤ÔÞwt Au.

	 3.	 Mkq[fktf{kt økwshkík [kuÚkk ¢{u hÌkwt Au.

	 4.	 Ãktòçk yLku rn{k[÷ «Ëuþ Mkkík{k yLku ykX{k MÚkkLku Au.

	 (A) {kºk 1 yLku 4	 (B) {kºk 2, 3 yLku 4	 (C) 1, 2, 3 yLku 4	 (D) {kºk 1, 2 yLku 3

113.	� Lke[uLkk Ãkife fE Ãkt[ / Mkr{ríkyu ¼÷k{ý fhe níke fu hk»xÙÃkríkLkk Äkuhýu hkßÞÃkk÷Lku hkßÞLke rðÄkLkMk¼k îkhk 
{nkyr¼Þkuøk fhðkLke òuøkðkE nkuðe òuEyu ?

	 (A) Ëðu Mkr{rík	 	 (B) S. ðe. hk{r¢&™k Mkr{rík

	 (C) yu{. yu{. ÃkwL[e Ãkt[		  (D) fu. MkLÚkLkk{ Mkr{rík

114.	 Lke[uLkk Ãkife fÞwt Mk{ðíkeo ÞkËe{kt LkÚke ?

	 (A) VkusËkhe fkÞËku	 (B) ÷øLk	 (C) støk÷	 (D) xkuÕMk (WÃkÞkuøk ðuhk)

115.	 Lke[uLkk Ãkife fE ¼khíkLke MktMkËLke LkkýkfeÞ MÚkkÞe Mkr{rík LkÚke ?

	 (A) ònuh rnMkkçk Mkr{rík		  (B) ðkrýßÞ Mkr{rík

	 (C) ytËks Mkr{rík		  (D) ònuh WÃk¢{ku Mkr{rík

116.	 çkktø÷kËuþ yLku ¼khík Lke[uLkk Ãkife fÞk sqÚk{kt fku{Lk {uBçkMko Au ?

	 1. Mkkfo (SAARC)		  2. çke{Mxuf (BIMSTEC)

	 3. ykEykuykhyu (IORA)		  4. fku{LkðuÕÚk

	 (A) 1, 2, 3 yLku 4		  (B) {kºk 1, 2 yLku 4

	 (C) {kºk 1, 2 yLku 3		  (D) {kºk 2, 3 yLku 4
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110.	 In the case of Government of India Vs LIC of India, 1995 the Supreme Court of India held that

	 (A) Preamble is an integral part of the Constitution of India

	 (B) Preamble is not an integral part of the Constitution of India

	 (C) Preamble cannot be amended

	 (D) The word ‘non-violence’ should be included in Preamble

111.	� The Prime Minister’s Secretariat was renamed to the Prime Minister’s Office (PMO) during the Prime 
Minstership of _______ .

	 (A) Shri Jawaharlal Nehru		 (B) Shri Lal Bahadur Shastri

	 (C) Shri Morarji Desai		  (D) Smt. Indira Gandhi

112.	� Which of the following statements are correct, according to the 2nd Health Index (2017-18) published 
by NITI Aayog?

	 1.	 Uttar Pradesh ranks lowest in terms of overall health performance

	 2.	 For the Second time in row Kerala has become number one in overall Health Index

	 3.	 Gujarat stood at the fourth place in the Index

	 4.	 Punjab and Himachal Pradesh stood at 7th and 8th spots

	 (A) 1 and 4 only		  (B) 2, 3 and 4 only

	 (C) 1, 2, 3 and 4		  (D) 1, 2 and 3 only

113.	� Which one of the following Commissions/Committees recommended that ‘there should be provision 
for impeachment of the Governor by the State Legislature along the same line as that of President of 
India?

	 (A) Dave Committee

	 (B) G.V. Ramkrishna Committee

	 (C) M.M. Punchi Commission

	 (D) K. Santhanam Committee

114.	 Which of the following is not in the concurrent list?

	 (A) Criminal Law		  (B) Marriage

	 (C) Forest		  (D) Tolls

115.	 Which one of the following is not a financial standing Committee of the Parliament of India?

	 (A) Public Accounts Committee

	 (B) Committee on Commerce

	 (C) Estimates Committee

	 (D) Committee on Public Undertakings

116.	 Bangladesh and India are common members of which of the following groups?

	 1. SAARC	 2. BIMSTEC	 3. IORA	 4. Commonwealth

	 (A) 1, 2, 3 and 4		  (B) 1, 2 and 4 only

	 (C) 1, 2 and 3 only		  (D) 2, 3 and 4 only

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight



CSP – 1 – M] 38 [Contd.

M
117.	 çkktzwtøk fkuLVhLMk (Bandung Conference), 1955 {kt Mkt{ík ÚkÞu÷k rMkæÄktíkku yu Lke[u Ãkife fkuLku sL{ ykÃÞku ?

	 (A) NAM		  (B) ASEAN

	 (C) SAARC		  (D) BRICS

118.	 Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	 ¼khíkLkk çktÄkhýLkk yLkwåAuË 31 Lku 42 {k çktÄkhýeÞ MkwÄkhk îkhk hË fhðk{kt ykÔÞku.

	 2.	� ¼khíkLkk çktÄkhý{kt r{ÕfíkLkk yrÄfkhLku {q¤¼qíkheíku yLkwåAuË 19(i)(f) yLku 31 nuX¤ {q¤¼qík yrÄfkh íkhefu 
çkktnuÄhe ykÃkðk{kt ykðe níke.

	 3. yLkwåAuË 300-A r{÷fíkLkk yrÄfkhLkku WÕ÷u¾ fhu Au.

	 4. 25 {k çktÄkhýeÞ MkwÄkhkÚke ¼khíkLkk çktÄkhý{kt Lkð{e yLkwMkqr[ Ëk¾÷ ÚkÞu÷ Au.

	 (A) {kºk 1 yLku 4		  (B) {kºk 3 yLku 4

	 (C) {kºk 2 yLku 3		  (D) {kºk 1, 2 yLku 3

119.	 Lke[uLkk{ktÚke fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 (A)	� ¼khíkLkk çktÄkhýLkk yLkwåAuË-13 yLkwMkkh “fkÞËk”{kt ¼khíkLkk hkßÞûkuºk{kt fkÞËkLkku «¼kð Ähkðíkk ðxnwf{, 
nwf{, WÃk-rLkÞ{, rLkÞ{, rðrLkÞ{, ònuhLkk{wt, YrZ yÚkðk «ÄkLkkuLkku Mk{kðuþ ÚkkÞ Au.

	 (B) �çktÄkhý (24 {ku MkwÄkhku) yrÄrLkÞ{, 1971 yu çktÄkhýeÞ MkwÄkhk fkÞËkLku ¼khíkLkk çktÄkhýLkk yLkwåAuË 13 
nuX¤ “fkÞËk”Lkk ûkuºkkrÄfkh{ktÚke çkkfkík hk¾u÷ Au.

	 (C)	 (A) yLku (B) çktLku

	 (D)	 (A) yLku (B) çktLku Ãkife fkuE Lknª

120.	 fuLÿ hkßÞ MktçktÄ ytøkuLke hks{LLkkh Mkr{ríkLke Lke[uLkk Ãkife fE ¼÷k{ýku íkífk÷eLk fuLÿ Mkhfkhu Mðefkhe Au ?

	 (A)	 Mkt½ ÞkËe yLku Mk{ðíkeo ÞkËe{ktÚke fux÷ef òuøkðkEykuLkwt hkßÞ ÞkËe{kt MÚkkLkktíkhý

	 (B)	 yLkwåAuË 356, 357 yLku 365 hË fhðk

	 (C)	 ykÞkusLkÃkt[Lku çkË÷e ðiÄkrLkf MktMÚkk {qfðe

	 (D)	 WÃkhLkk Ãkife fkuE Lknª

121.	 Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	� Mkk{kLÞ heíku, hkßÞLkk hkßÞÃkk÷ çknw{íke {u¤ðLkkh ÃkûkLkk LkuíkkLku hkßÞ rðÄkLkMk¼k{kt {wÏÞ{tºke íkhefu rLk{ýqf 
fhu Au.

	 2.	� ßÞkhu rðÄkLkMk¼k{kt fkuE ÃkûkLku MÃkü çknw{íke Lk {¤u íÞkhu hkßÞÃkk÷ ÃkMktËøke{kt íku{Lke ÔÞÂõíkøkík rððufçkwrØLkku 
WÃkÞkuøk fheLku {wÏÞ{tºkeLke rLk{ýqf fhu Au.

	 3.	 hkßÞLkk rðÄkMk¼kLkk MkÇÞ {kºk {wÏÞ«ÄkLk çkLkðk {kxu ÷kÞf Au.

	 (A) {kºk 2 yLku 3		  (B) {kºk 1 yLku 3

	 (C) {kºk 1 yLku 2		  (D) 1, 2 yLku 3
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117.	 The principles agreed at Bandung Conference, 1955 gave birth to which of the following?

	 (A) NAM		  (B) ASEAN

	 (C) SAARC		  (D) BRICS

118.	 Which of the following statements are correct?

	 1.	 Article 31 of the Indian Constitution was repealed by 42nd Constitutional Amendment

	 2.	� Right to Property was originally guaranteed as Fundamental Right under Article 19(i) (f) and 
Article 31 in Indian Constitution.

	 3.	 Article 300-A refers to Right to Property

	 4.	� 25th Constitutional Amendment led to the insertion of 9th Schedule of the Indian Constitution

	 (A) 1 and 4 only		  (B) 3 and 4 only

	 (C) 2 and 3 only		  (D) 1, 2 and 3 only

119.	 Which of the following statements is/are correct?

	 (A)	� According to Article 13 of the Indian Constitution, “law” includes any Ordinance, order, byelaw, 
rule, regulation, notification, custom or usage having in the territory of India the force of law.

	 (B)	� Constitution (Twenty-fourth Amendment) Act, 1971 excluded Constitutional Amendment Acts 
from the purview of “law” under Article 13 of the Indian Constitution.

	 (C)	 Both A and B

	 (D)	 Neither A nor B

120.	� Which of the following recommendations of the Rajamannar committee on Centre-State relation has 
been accepted by the then Central Government?

	 (A) Transfer of certain provisions from Union List and Concurrent list to State List

	 (B) Omission of Article 356, 357 and 365

	 (C) Replacement of Planning Commission with a statutory body

	 (D) None of the above

121.	 Which of the following statements are correct?

	 1.	� In general, the Governor of a State appoints the leader of the majority party in the state legislative 
assembly as the Chief Minister

	 2.	� When no party gets clear majority in assembly, Governor may exercise his personal discretion in 
the selection and appointment of the Chief Minister.

	 3.	� A member of legislative assembly of the State is only eligible to become Chief Minister.

	 (A) 2 and 3 only		  (B) 1 and 3 only

	 (C) 1 and 2 only		  (D) 1, 2 and 3
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122.	 ÃkAkíkðøkkuo {kxuLkwt hk»xÙeÞ ykÞkuøk yu Mkðkuoå[ LÞkÞk÷ÞLkk Lke[uLkk Ãkife fÞk Mke{kr[Ln [wfkËkLkwt Ãkrhýk{ Au ?

	 (A)	 þtfhe«MkkË rð. ÞwrLkÞLk ykuV ELzeÞk, 1951

	 (B)	 {eLkhðk {eÕMk r÷r{xuz rð. ÞwrLkÞLk ykuV ELzeÞk yuLz yÄMko, 1980

	 (C)	 ELÿk MkkunLke yuLz yÄMko rð. ÞwrLkÞLk ykuV ELzeÞk, 1992

	 (D)	 WÃkhLkk Ãkife fkuE Lknª

123.	 Lke[uLkk{ktÚke fÞwt rðÄkLk / rðÄkLkku ònuh rníkLke yhSLku ÷økíkkt Au ?

	 (A) su ÔÞÂõík yhS Ëk¾÷ fhe hÌkku Au íku {wfÆ{k{kt yMkhøkúMík ÔÞÂõík / rÃkrzík nkuðk ykð~Þf Au.

	 (B) yhS òu yËk÷ík îkhk MðefkhkÞ íkku s òu íku{kt yMkhøkúMík ÔÞÂõík / rÃkrzíkLkwt rník nkuÞ.

	 (C) (A) íkÚkk (B) çktLku 

	 (D) (A) yÚkðk (B) çktLku{ktÚke fkuE Lknª

124.	� .......... {tºkk÷Þ MktMkËLkk MkÇÞkuLkk MkË¼kðLkk «ríkrLkrÄ {tz¤Lku yLÞ Ëuþ{kt «kÞkursík fhu Au yLku rðËuþe çkkçkíkkuLkk 
{tºkk÷Þ îkhk yLÞ ËuþkuLkk rðrLk{Þ fkÞo¢{ nuX¤ MktMkËMkÇÞkuLkk Mkhfkhe «kÞkursík «ríkrLkrÄyku {u¤ðu Au.

	 (A) MktMf]rík {tºkk÷Þ		  (B) rðËuþ {tºkk÷Þ

	 (C) MktMkËeÞ çkkçkíkkuLkwt {tºkk÷Þ	 (D) {kLkð MktMkkÄLk rðfkMk {tºkk÷Þ

125.	� LkøkhÃkkr÷fkyku îkhk ¾kíkkLke ò¤ðýe yLku ykðk ¾kíkkykuLkk yLðu»ký fhðk çkkçkíku Lke[uLkk Ãkife fkuý òuøkðkE  
fhe þfu Au ?

	 (A) hkßÞLkk hkßÞÃkk÷		  (B) MkeyuS

	 (C) hkßÞLke rðÄkLkMk¼k		  (D) ¼khíkLkk hk»xÙÃkrík

126.	 hk»xÙeÞ ðMíke hrsMxh ytøku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	 íku Lkkøkrhfíð yrÄrLkÞ{, 1955 nuX¤ íkiÞkh fhðk{kt ykðu÷ Au.

	 2.	 yuLkÃkeykh øk]n {tºkk÷Þ nuX¤ ykðu Au.

	 3.	 íku{kt [ku¬Mk ðMíke rð»kÞf rðøkíkku Mkk{u÷ Au.

	 (A) {kºk 1 yLku 3	 (B) {kºk 1 yLku 2	 (C) {kºk 2 yLku 3	 (D) 1, 2 yLku 3

127.	 Lke[uLkk Ãkife fÞkt rðÄkLkku ¼khík{kt rxÙçÞqLkÕMk çkkçkíku Mkk[kt Au ?

	 1.	 rxÙçÞqLkÕMk yu ðneðxe MktMÚkkyku Au suLke MÚkkÃkLkk yÄo-LÞkrÞf Vhòu çkòððk {kxu ÚkÞu÷ Au.

	 2.	 «kf]ríkf LÞkÞLkk rMkæÄktík Ãkh rxÙçÞqLk÷ fkÞo fhu Au.

	 3.	 44 {k çktÄkhýeÞ MkwÄkhk yrÄrLkÞ{, 1976 îkhk çktÄkhý{kt rxÙçÞqLkÕMk W{uhðk{kt ykÔÞk níkk.

	 4.	 ¼khík{kt rxÙçÞqLkÕMkLke h[Lkk MðýoMkªøk Mkr{ríkLke ¼÷k{ý Ãkh fhðk{kt ykðe níke.

	 (A) {kºk 1 yLku 2	 (B) {kºk 1, 2 yLku 3	 (C) {kºk 1, 2 yLku 4	 (D) 1, 2, 3 yLku 4
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122.	� National Commission for Backward Classes is an outcome of which of the following landmark 

judgments of Supreme Court?

	 (A) Shankari Prasad vs Union of India, 1951

	 (B) Minerva Mills Ltd and others vs Union of India and others, 1980

	 (C) Indra Sawhney & Others. Vs. Union of India, 1992

	 (D) None of the above

123.	 Which of the following statements is/are regarding Public Interest Litigation?

	 (A)	� The person who is filing the petition must be the affected person/victim in the litigation

	 (B)	� The petition is accepted by the court only if there is interest of the affected person/victim involved.

	 (C) Both A and B

	 (D) Neither A Nor B

124.	� _______ ministry sponsors Goodwill Delegation of Members of Parliament to other countries and 
receives similar Government-sponsored delegations of parliamentarians under the exchange 
programme from other countries through the Ministry of External Affairs.

	 (A)	 Ministry of Culture

	 (B)	 Ministry of External Affairs

	 (C)	 The Ministry of Parliamentary Affairs

	 (D)	 Ministry of Human Resource Development

125.	� Which of the following may make provisions with respect to the maintenance of accounts by the 
Municipalities and the auditing of such accounts?

	 (A) Governor of State		  (B) CAG

	 (C) Legislature of a State		  (D) President of India

126.	 Which of the following statements are correct regarding  National Population Register (NPR)?

	 1.	 It is prepared under The Citizenship Act, 1955.

	 2.	 NPR comes under the Ministry Of Home Affairs.

	 3.	 It includes certain demographic particulars.

	 (A) 1 and 3	 (B) 1 and 2	 (C) 2 and 3	 (D) 1, 2 and 3

127.	 Which of  the following statements are correct  regarding ‘Tribunals’ in India?

	 1.	� Tribunals are administrative bodies established for the purpose of discharging quasi-judicial 
duties.

	 2.	� Tribunals act on the Principle of Natural Justice.

	 3.	� Tribunals were added to the Constitution by the 44th Constitutional Amendment Act, 1976.

	 4.	 Tribunals in India were created on the recommendation of the Swaran Singh Committee.

	 (A) 1 and 2 only	 (B) 1, 2 and 3 only	 (C) 1, 2 and 4 only	 (D) 1, 2, 3 and 4
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128.	� ºkkMk rðÁæÄ MktÞwõík hk»xÙ Mkt{u÷Lk (U.N. (United Nations) Convention against Torture (CAT)) ytøku 

Lke[uLkk{ktÚke fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 (A)	� íku yuf yktíkhhk»xÙeÞ {kLkð yrÄfkh MkkÄLk Au suLkku nuíkw rðï¼hLkk {kLkðeÞ yÄkuøkríkLkk ÔÞðnkhLku 
yxfkððkLkku Au.

	 (B)	 ¼khíku íkksuíkh{kt yk Mkt{u÷LkLku çknk÷e ykÃke Au.

	 (C)	 (A) yLku (B) çktLku

	 (D)	 (A) yLku (B) Ãkife fkuE Lknª

129.	 Lke[uLke ½xLkkykuLku fk÷¢r{f ¢{{kt økkuXðku.

	 1. r¢ÃMk r{þ™	 2. {kWLxçkuxLk ÞkusLkk	 3. ®nË Akuzku [¤ð¤	 4. nku{ Y÷ ÷eøk

	 (A) 1, 2, 4, 3	 (B) 3, 4, 1, 2	 (C) 1, 2, 3, 4	 (D) 4, 1, 3, 2

130.	 ßÞkhu nkEfkuxoLkk {wÏÞ LÞkÞkÄeþLkku nkuÆku ¾k÷e nkuÞ íÞkhu íku{Lke Vhòu .......... îkhk çkòððk{kt ykðþu.

	 (A) ðrhcík{ WÃk÷çÄ LÞkÞkÄeþ

	 (B) fkuxoLkk çkeò LÞkÞkÄeþku{ktÚke hk»xÙÃkrík Lke{u íku

	 (C) hkßÞLkk hkßÞÃkk÷ MkkÚku Ãkhk{þo fÞko çkkË fkuxoLkk çkeò LÞkÞkÄeþku{ktÚke hk»xÙÃkrík Lke{u íku

	 (D) {tºke{tz¤Lkk Ãkhk{þo çkkË ðrhcík{ WÃk÷çÄ LÞkÞkÄeþ

131.	 fux÷k yurþÞLk Ëuþku S-20 Lkk MkÇÞku Au ?

	 (A) 5	 (B) 6	 (C) 7	 (D) 8

132.	� ¼khíkLkk çktÄkhýLke Ãkkt[{e yLkwMkqr[ nuX¤ fkuEÃký rðMíkkhLku “yLkwMkqr[ík rðMíkkh” íkhefu ònuh fhðkLkk {kÃkËtz  
þwt Au?

	 1. ykrËðkMke ðMíkeLkk «¼kðLke {kºkk

	 2. rðMíkkhLkwt yufsÚÚku nkuðwt yLku íkuLkwt ðksçke fË nkuðwt

	 3. yuf ðneðxe yuf{ su{ fu rsÕ÷ku, ç÷kuf yÚkðk íkk÷wfk çkLke þfu

	 4. Ãkzkuþe rðMíkkhLke Mkh¾k{ýe{kt rðMíkkhLkwt ykŠÚkf ÃkAkíkÃkýwt

	 (A) {kºk 1 yLku 4	 (B) {kºk 2 yLku 3	 (C) {kºk 1, 2 yLku 3	 (D) 1, 2, 3 yLku 4

133.	 ¼khíkeÞ çktÄkhýLkk ½zðk çkkçkíku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	 fux÷kf hsðkzkykuLkwt çktÄkhý Mk¼k{kt «ríkrLkrÄíð fhðk{kt ykÔÞwt Lk níkwt.

	 2.	 çktÄkhý Mk¼kLke [qtxýeyku MkeÄe níke, Ãkhtíkw {ÞkorËík {íkkrÄfkh MkkÚku.

	 3.	 çktÄkhý Mk¼k Ãký fk{[÷kW MktMkË íkhefu fk{ fhíke níke.

	 4.	 fux÷ef çktÄkhýeÞ òuøkðkEyku 26 òLÞwykhe 1950 Ãknu÷kt y{÷{kt ykðe níke.

	 (A) {kºk 1, 2 yLku 3	 (B) {kºk 1, 3 yLku 4	 (C) {kºk 1, 2 yLku 4	 (D) 1, 2, 3 yLku 4
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128.	� Which of the following statements is/are correct regarding the U.N. (United Nations) Convention 

against Torture (CAT)?

	 (A)	� It is an international human rights instrument aimed to prevent inhuman degrading treatment 
around the world.

	 (B)	 India has recently ratified this Convention.

	 (C)	 Both A and B

	 (D)	 Neither A nor B

129.	 Arrange the following incidents in chronological order:

	 1. Cripps Mission		  2. Mountbatten Plan

	 3. Quit India Movement		  4. Home Rule League

	 (A) 1, 2, 4, 3		  (B) 3, 4, 1, 2

	 (C) 1, 2, 3, 4		  (D) 4, 1, 3, 2

130.	� When the office of Chief Justice of a High Court is vacant, the duties of the office shall be  
performed by

	 (A)	 Senior most judge available

	 (B)	 Such one of the other Judges of the Court as the President may appoint

	 (C)	� Such one of the other judges of the court as the President may appoint after consultation with 
Governor of State

	 (D)	 Senior most judge available after consultation with council of ministers.

131.	 How many  Asian Countries are members of G-20 ?

	 (A) 5	 (B) 6	 (C) 7	 (D) 8

132.	� What are the criteria for declaring any area as a “Scheduled Area” under the fifth schedule of Indian 
Constitution?

	 1.	 Preponderance of Tribal Population

	 2.	 Compactness and reasonable size of the area

	 3.	 A viable administrative entity such as a district, Block or Taluka

	 4.	 Economic Backwardness of the area as compared to the neighbouring area

	 (A) Only 1 and 4		  (B) Only 2 and 3

	 (C) Only 1, 2 and 3		  (D) 1, 2, 3 and 4

133.	 Which of the following statements are correct regarding the making of the Indian Constitution?

	 1.	 Some of the Princely states were not represented in the Constituent Assembly.

	 2.	 Elections to the Constituent Assembly were direct, but with a limited franchise

	 3.	 The Constituent Assembly also functioned as a provisional Parliament

	 4.	 Some of the Constitutional provisions came into effect before 26th January 1950

	 (A) 1, 2 and 3 only		  (B) 1, 3 and 4 only

	 (C) 1, 2 and 4 only		  (D) 1, 2, 3 and 4
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134.	 yk{w¾{kt ËþkoÔÞk «{kýu Lke[uLkk Ãkife fE òuze ÞkuøÞ heíku òuzkÞu÷ Au ?
	 1.	 LÞkÞ – Mkk{krsf, ykŠÚkf yLku hksfeÞ
	 2.	 Mðíktºkíkk – rð[kh, yr¼ÔÞÂõík, {kLÞíkk yLku ©æÄk
	 3.	 Mk{kLkíkk – Ëhßò yLku íkfLke
	 4.	 çktÄwíð – yuf Lkkøkrhfíð îkhk
	 (A) 1, 2, 3 yLku 4	 (B) {kºk 2, 3 yLku 4	 (C) {kºk 1, 3 yLku 4	 (D) {kºk 1, 2 yLku 3

135.	 ¼khíkeÞ Mk{ksðkË rðþu Lke[uLkk{ktÚke fÞwt / fÞkt rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?
	 (A) ¼khíku Mk{ksðkËLkk WÆuþku «kÃík fhðk {kxu yuf [ku¬Mk ykŠÚkf {k¤¾wt yÃkLkkÔÞwt Au.
	 (B) ¼khík íkuLkk {kxu [ku¬Mk ykŠÚkf {k¤¾wt yÃkLkkÔÞk rðLkk Mk{ksðkËLkk WÆuþku «kÃík fhðkLkku «ÞkMk fhu Au.
	 (C) ¼khíkeÞ Mk{ksðkË Mk{ksðkËLkk æÞuÞku yÃkLkkÔÞk rðLkk Mk{ksðkËe ËuþkuLke ykŠÚkf h[LkkLku yÃkLkkðu Au.
	 (D) WÃkh{ktÚke fkuE Lknª

136.	 ¼khíkLkk hk»xÙÃkríkLke rðrðfkÄeLk Mk¥kk ytøku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?
	 1.	 òu {tºke Ãkrh»kËu Mk÷kn ykÃke Lk nkuÞ íkku Ãký hk»xÙÃkrík Mkºkku çkku÷kðe þfu Au.
	 2.	 hk»xÙÃkrík {tºke {tz¤Lku [uíkðýe yLku «kuíMkknLk ykÃke þfu Au.
	 3.	 hk»xÙÃkrík ÃkkMku MkhfkhLkk fk{fksLkk ÔÞðnkh {kxuLkk rLkÞ{ku ytøku rððufkÄeLk Mk¥kkyku nkuÞ Au.
	 (A) {kºk 1, 2 yLku 3	 (B) {kºk 1 yLku 3	 (C) {kºk 2 yLku 3	 (D) {kºk 1 yLku 2

137.	 ÷kufMk¼kLkk rðMksoLkLku fkhýu Lke[uLkk Ãkife fÞkt ¾hzkt rð÷Þ Ãkk{íkk LkÚke ?
	 1.	 ¾hzku fu su hkßÞMk¼k{kt WËT¼ÔÞku níkku yLku hkßÞMk¼k Mk{ûk Ãkzíkh Au.
	 2.	 ¾hzku fu su ÷kufMk¼k{kt WËT¼ÔÞku níkku yLku ÷kufMk¼k Mk{ûk Ãkzíkh Au.
	 3.	 ¾hzku ÷kufMk¼k îkhk ÃkMkkh ÚkÞku nkuÞ, Ãkhtíkw hkßÞMk¼k Mk{ûk Ãkzíkh Au.
	 4.	 ¾hzku hkßÞMk¼k îkhk ÃkMkkh ÚkÞku nkuÞ, Ãkhtíkw ÷kufMk¼k Mk{ûk Ãkzíkh Au.
	 (A) {kºk 1 yLku 4	 (B) {kºk 1	 (C) {kºk 1, 2 yLku 3	 (D) {kºk 2, 3 yLku 4

138.	 Lke[uLkk Ãkife fE òuze ÞkuøÞ heíku òuzkÞu÷e LkÚke ?
	 1.	 íkkhktrfík «&™ – suLkku MkÇÞ {kir¾f sðkçk {ktøku Au.
	 2.	 yíkkhktrfík «&™ – Ãkqhf «&™ íÞkhçkkË ÃkqAe þfkÞ Au.
	 3.	 xqtfe LkkuxeMkLkku «&™ – Ãkqhf «&™ íÞkhçkkË ÃkqAe þfkÞ Au.
	 4.	 íkkhktrfík «&™ – {kir¾f sðkçkku {kxu rËðMkLkk Võík 50 «&™ku Mkqr[çkæÄ fhe þfkÞ Au.
	 (A) 1, 2, 3 yLku 4	 (B) {kºk 1, 2 yLku 3	 (C) {kºk 2 yLku 4	 (D) {kºk 1 yLku 3

139.	 ®LkËk «Míkkð çkkçkíku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?
	 1.	 yk «Míkkð{kt yrðïkMk «MíkkðÚke rðÃkheík ÷kufMk¼k{kt íkuLku nkÚk WÃkh ÷uðk {kxuLkkt fkhýku sýkððk òuEyu.
	 2.	 íku yuf ÔÞÂõíkøkík {tºke, {tºke sqÚk yÚkðk Mk{økú {tºke{tz¤Lke rðÁæÄ ÷kðe þfkÞ Au.
	 3.	 òu ÃkMkkh ÚkkÞ íkku {tºke{tz¤u ÃkËÚke hkSLkk{wt ykÃkðwt Ãkzþu.
	 (A) {kºk 1, 2 yLku 3	 (B) {kºk 1 yLku 3	 (C) {kºk 2 yLku 3		  (D) {kºk 1 yLku 2
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134.	 Which of the following pairs are correctly matched as mentioned in the present Preamble?

	 1.	 Justice - Social, Economic and Political

	 2.	 Liberty of – Thought, Expression, Belief and Faith

	 3.	 Equity of – Status and Opportunity

	 4.	 Fraternity by - the single citizenship

	 (A) 1, 2, 3 and 4	 (B) 2, 3 and 4 only	 (C) 1, 3 and 4 only	 (D) 1, 2 and 3 only

135.	 Which of the following statements is/are correct regarding to Indian Socialism?

	 (A)	 India has adopted a definite economic structure to attain objectives of socialism

	 (B)	� India seeks to attain objectives of socialism without adopting a definite economic structuring  
for it.

	 (C)	� Indian socialism adopts the economic structure of socialist countries without adopting goals of 
socialism

	 (D)	 None of the above

136.	� Which of the following statements are correct regarding Discretionary powers of the President of 
India?

	 1.	 President can call sessions even if Council of Ministers has not advised to do so.

	 2.	 President can warn and encourage Council of Ministers

	 3.	� President has discretionary powers regarding rules for transaction of business of government

	 (A) 1, 2 and 3	 (B) 1 and 3 only	 (C) 2 and 3 only	 (D) 1 and 2 only

137.	 Which of the following Bills do not lapse on dissolution of the Lok Sabha?

	 1.	 A Bill that originated in Rajya Sabha and is pending before Rajya Sabha

	 2.	 A Bill that originated in Lok Sabha and is pending before Lok Sabha

	 3.	 A Bill passed by Lok Sabha but is pending before Rajya Sabha

	 4.	 A Bill which has been passed by Rajya Sabha but is pending before Lok Sabha

	 (A) 1 and 4 only	 (B) 1 only	 (C) 1, 2 and 3 only	 (D) 2, 3 and 4 only

138.	 Which of the following pairs is incorrectly matched?

	 1.	 A Starred Question - Which a member desires an Oral Answer

	 2.	 An unstarred Question - Supplementary  questions can be asked subsequently

	 3.	 A short Notice Question - Supplementary questions can be asked subsequently

	 4.	 A Starred Question - Only 50 questions can be listed for oral answer a day

	 (A) 1, 2, 3 and 4	 (B) 1, 2 and 3 only	 (C) 2 and 4 only	 (D) 1 and 3 only

139.	 Which of the following statements are correct regarding Censure Motion?

	 1.	� The motion should state the reasons for its adoption in Lok Sabah unlike No Confidence Motion.

	 2.	� It can be moved against an individual minister, group of ministers or entire council of ministers.

	 3.	 If passed the council of ministers must resign from the office.

	 (A) 1, 2 and 3	 (B) 1 and 3 only	 (C) 2 and 3 only	 (D) 1 and 2 only
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140.	 MktMkË{kt ¾hzkLkk ðkt[Lk çkkçkíku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	 «Úk{ ðkt[Lk – yk íkçk¬u ¾hzk ytøku fkuE [[ko Úkíke LkÚke.

	 2.	 çkesw ðkt[Lk – øk]n çktLku øk]nkuLkk MkÇÞkuLke çkLku÷e MktÞwõík Mkr{ríkLku ¾hzku {kuf÷e þfu Au.

	 3.	 ºkeswt ðkt[Lk – øk]n ÷kufkuLkku yr¼«kÞ {u¤ððk {kxu ¾hzkLku ÃkrhÃkrºkík fhe þfu Au.

	 4.	 ºkeswt ðkt[Lk – ¾hzku r«MkkEzªøk ykurVMkhLku {kuf÷ðk{kt ykðþu su íkuLku «{krýík fhu Au.

	 (A) 1, 2, 3 yLku 4	 (B) {kºk 1, 3 yLku 4	 (C) {kºk 1, 2 yLku 4	 (D) {kºk 1, 2 yLku 3

141.	 Lke[uLkk Ãkife fE çkkçkíkku ¼khíkLkk çktÄkhýLkk yLkwåAuË 110 {wsçk LkkýkfeÞ rðÄuÞf nuX¤ LkkýkfeÞ çkkçkíkku çkLku Au ?

	 1.	 Mkt½ yÚkðk hkßÞLkwt yLðu»ký yLku rnMkkçkku.

	 2.	 ¼khíkLkk ònuh rnMkkçkLkku nðk÷ku.

	 3.	 ¼khík Mkhfkh îkhk Lkkýk fhsu ÷uðk fu çkktÞÄhe ykÃkðe.

	 4.	 ¼khíkLkk ykfÂM{f Vtz{kt nðk÷ku yÚkðk [qfðýe.

	 (A) {kºk 1, 2, 3 yLku 4	 (B) {kºk 2, 3 yLku 4	 (C) {kºk 1, 3 yLku 4	 (D) {kºk 1, 2 yLku 4

142.	 MktMkËeÞ rðþu»kkrÄfkhku yLku hûký çkkçkíku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	 çktÄkhý{kt MktMkËLkk øk]nLke fkÞoðkne{kt ¼køk ÷uðk {kxu nfËkh ÔÞÂõíkLku rðþu»kkrÄfkhku ykÃkðk{kt ykÔÞkt Au.

	 2.	 MktMkËLkk Ëhuf øk]n Mkk{qrnf YÃku rðþu»kkrÄfkhku ¼kuøkðu Au.

	 3.	 MkÇÞku îkhk rðþu»kkrÄfkhku ÔÞÂõíkøkíkYÃku ¼kuøkððk{kt ykðu Au.

	 4.	� MktMkËLkk Mkºk Ëhr{ÞkLk rËðkLke íku{s VkusËkhe yLku yxfkÞík rLkðkhýLkk fuMkku{kt MkÇÞLke ÄhÃkfz fhðk{kt 
ykðþu Lknª.

	 (A) {kºk 1, 2, 3 yLku 4	 (B) {kºk 1, 2 yLku 3	 (C) {kºk 2, 3 yLku 4	 (D) {kºk 1, 3 yLku 4

143.	 ðkŠ»kf LkkýkfeÞ Ãkºkf ytøku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	 ytËksÃkºk ºký ¼køkku yux÷u fu, {nuMkq÷, ¾[o yLku ¾kã Ähkðu Au.

	 2.	 ytËksÃkºk çku ¼køk{kt, rð¥k rðÄuÞf yLku rðrLkÞkuøk rðÄuÞf{kt, hsq fhðk{kt ykðu Au.

	 3.	 rð¥k rðÄuÞf{kt ßÞktÚke ykðf yufrºkík fhðk{kt ykðþu íku MºkkuíkkuLku ÷økíke òuøkðkEyku Mkk{u÷ Au.

	 4.	 rðrLkÞkuøk rðÄuÞf{kt yuu ûkuºkLku ÷økíke òuøkðkEyku Mkk{u÷ Au su{kt ¾[o fhðk{kt ykðþu.

	 (A) 1, 2, 3 yLku 4	 (B) {kºk 1, 3 yLku 4	 (C) {kºk 2, 3 yLku 4	 (D) {kºk 3 yLku 4

144.	 ¼khíkLke Mkðkuoå[ LÞkÞk÷ÞLkk yuz-nkuf LÞkÞkÄeþku çkkçkíku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	� Mkðkuoå[ LÞkÞk÷Þ{kt nkEfkuxoLkk LÞkÞkÄeþ yLku Mkðkuoå[ LÞkÞk÷ÞLkk rLkð]¥k LÞkÞkÄeþ çktLku yuz-nkuf LÞkÞkÄeþ 
íkhefu fkÞo fhe þfu Au.

	 2.	� ¼khíkLkk {wÏÞ LÞkÞkÄeþ MktMkËLke Ãkqðo {tsqheÚke s rLkð]¥k LÞkÞkÄeþLke yuz-nkuf LÞkÞkÄeþ íkhefu rLk{ýqf  
fhe þfu Au.

	 3.	 Mkðkuoå[ LÞkÞk÷ÞLkk LÞkÞkÄeþLku Ëqh fhðk Mkk{u çktÄkhýeÞ Mkthûký íku{Lku Ãký ÷køkw Ãkzu Au.

	 (A) {kºk 1, 2 yLku 3		  (B) {kºk 2 yLku 3

	 (C) {kºk 1 yLku 2		  (D) {kºk 1 yLku 3
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140.	 Which of the following statements are correct regarding readings of a Bill in the Parliament?

	 1.	 First Reading - No Discussion of the Bill takes place at this stage

	 2.	� Second Reading - House may refer the Bill to a joint committee consisting of the members  from 
both the Houses.

	 3.	 Third Reading - House may circulate the Bill to gather public opinion

	 4.	� Third Reading - The Bill will be transmitted to the presiding officer who authenticates the Bill.

	 (A) 1, 2, 3 and 4	 (B) 1, 3 and 4 only	 (C) 1, 2 and 4 only	 (D) 1, 2 and 3 only

141.	� Which of the following matters constitute Money Matters under Money Bill according to Article 110 of 
the Indian Constitution?

	 1.	 Audit and Accounts of Union or a State

	 2.	 Custody of Public Account of India

	 3.	 Borrowing or Guarantee by Government of India

	 4.	 Custody or Payment into Contingency Fund of India

	 (A) 1, 2, 3 and 4	 (B) 2, 3 and 4 only	 (C) 1, 3 and 4 only	 (D) 1, 2 and 4 only

142.	� Which of the following statements are correct regarding the Parliamentary Privileges and Immunities?

	 1.	� The Constitution has also extended the parliamentary privileges  to those person who are entitled 
to take part in the proceedings of House of Parliament.

	 2.	 Privileges are enjoyed  by each House of Parliament collectively.

	 3.	 Privileges are enjoyed by the members individually.

	 4.	� No member shall be arrested during the session of Parliament for both civil as well as criminal 
and prevention of detention cases.

	 (A) 1, 2, 3 and 4	 (B) 1, 2 and 3 only	 (C) 2, 3 and 4 only	 (D) 1, 3 and 4 only

143.	 Which of the following statements are correct regarding Annual Financial Statement?

	 1.	 The Budget consists of three parts namely : Revenue, Expenditure and Deficit.

	 2.	 The Budget is presented in two parts, Finance Bill and Appropriation Bill.

	 3.	� Finance Bill consists of provisions relating to sources from where revenue would be collected.

	 4.	 Appropriation bill contains  provisions relating to area in which expenses will be incurred.

	 (A) 1, 2, 3 and 4	 (B) 1, 3 and 4 only	 (C) 2, 3 and 4 only	 (D) 3 and 4 only

144.	� Which of the following statements are correct regarding ad hoc judges in Supreme Court of India?

	 1.	� In the Supreme Court both High Court judge  and the retired Supreme Court judge can act as ad 
hoc judge.

	 2.	� The Chief Justice of India can appoint retired judge as ad hoc judge only with the previous consent 
of the Parliament.

	 3.	� The Constitutional protection against removal of Judge of the Supreme Court is also applicable  
to him.

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 2 only	 (D) 1 and 3 only
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145.	 hkßÞ rðÄkLk Ãkrh»kË ytøku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	� rðÄkLk Ãkrh»kËLkk MkÇÞkuLke MktÏÞk íku hkßÞLke rðÄkLkMk¼kLkk MkÇÞkuLke fw÷ MktÏÞkLkk yuf ík]íkeÞktþ fhíkk ðÄw  
hnuþu Lknª.

	 2.	 rðÄkLk Ãkrh»kËLkk MkÇÞkuLke MktÏÞk [k÷eMkÚke ykuAe nkuðe òuEþu Lknª.

	 3.	 hkßÞLkk {wÏÞ{tºke hkßÞ rðÄkLk Ãkrh»kËLkk Lkuíkk íkhefu Ãký fkÞo fhu Au.

	 4.	 hkßÞ rðÄkLkMk¼kLkk [qtxkÞu÷k MkÇÞku îkhk hkßÞ rðÄkLk Ãkrh»kËLkk yuf »kcktþ MkÇÞku [qtxðk{kt ykðu Au.

	 (A) 1, 2, 3 yLku 4	 (B) {kºk 2, 3 yLku 4	 (C) {kºk 1, 2 yLku 3	 (D) {kºk 1, 2 yLku 4

146.	 ¼khík{kt Wå[ LÞkÞk÷ÞLku ÷økíkk Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	 Mkk{kLÞ heíku Wå[ LÞkÞk÷Þku{kt LÞkÞkÄeþkuLke [kh fûkk nkuÞ Au.

	 2.	� Wå[ LÞkÞk÷Þ{kt [kh «fkhLkk LÞkÞkÄeþ – fkÞ{e LÞkÞkÄeþ, ðÄkhkLkk LÞkÞkÄeþ, fkÞofkhe LÞkÞkÄeþ yLku 
yuznkuf LÞkÞkÄeþ nkuÞ Au.

	 3.	 økwshkík Wå[ LÞkÞk÷ÞLke MÚkkÃkLkk ð»ko 1965 {kt fuhu÷k Wå[ LÞkÞk÷ÞLke MkkÚku ÚkE níke.

	 4.	 nk÷{kt ¼khík{kt 25 Wå[ LÞkÞk÷Þku Au.

	 (A) 1, 2, 3 yLku 4	 (B) {kºk 1 yLku 2	 (C) {kºk 1, 2 yLku 4	 (D) {kºk 1, 3 yLku 4

147.	 Lke[uLkk W{uËðkhku Ãkife fkuý ¼khík{kt rLk:þqÕf fkLkqLke Mkuðkyku {kxu Ãkkºk Au ?

	 1. {rn÷kyku yLku çkk¤fku		  2. fMxze{kt hnu÷k ÔÞÂõíkyku

	 3. rðf÷ktøk ÔÞÂõíkyku		  4. ykiãkurøkf fk{Ëkhku

	 (A) 1, 2, 3 yLku 4		  (B) {kºk 1, 2 yLku 3

	 (C) {kºk 2, 3 yLku 4		  (D) {kºk 1, 2 yLku 4

148.	 ¼khík{kt Mknfkhe {tz¤eyku ytøku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	 Mknfkhe {tz¤eyku h[ðkLkku yrÄfkh ¼khík{kt {q¤¼qík yrÄfkh Au.

	 2.	 97 {ku çktÄkhýeÞ MkwÄkhk yrÄrLkÞ{ Mknfkhe {tz¤eykuLku çktÄkhýeÞ Ëhßòu Ãkqhku Ãkkzu Au.

	 3.	� Ëhuf Mknfkhe {tz¤eykuLke ðkŠ»kf Mkk{kLÞ Mk¼k LkkýkfeÞ ð»koLkk ytík ÃkAe A {rnLkkLkk Mk{Þøkk¤k{kt çkku÷ððk{kt 
ykðþu.

	 (A) {kºk 1 yLku 2	 (B) {kºk 2 yLku 3	 (C) {kºk 1 yLku 3	 (D) 1, 2 yLku 3

149.	 Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?

	 1.	 ÍkuLk÷ fkWÂLMk÷ku ðiÄkrLkf MktMÚkkyku nkuÞ Au fkhý fu íku MktMkËeÞ fkÞËk nuX¤ çkLkkððk{kt ykðe níke.

	 2.	 hkßÞ ÃkwLkøkoXLk yrÄrLkÞ{ 1956 nuX¤ fw÷ A ÍkuLk÷ fkWÂLMk÷kuLke h[Lkk fhðk{kt ykðe níke.

	 3.	 ÍkuLk÷ fkWÂLMk÷{kt fuLÿeÞ Lkkýk«ÄkLk yLku ÍkuLkLkk ík{k{ hkßÞkuLkk {wÏÞ{tºkeyku nkuÞ Au.

	 4.	� ÃkkA¤Úke yuf y÷øk W¥kh Ãkqðo ÍkuLk÷ fkWÂLMk÷Lke h[Lkk fhðk{kt ykðe suLkkÚke ¼khík{kt fw÷ A ÍkuLk÷  
fkWÂLMk÷ku ÚkE.

	 (A) 1, 2, 3 yLku 4		  (B) {kºk 1, 3 yLku 4

	 (C) {kºk 1, 2 yLku 4		  (D) {kºk 1, 2 yLku 3
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145.	 Which of the following statements are correct regarding Legislative Council of the State?

	 1.	� The strength of the legislative council shall not exceed one-third of the total strength of State 
Legislative Assembly.

	 2.	 The Strength of Legislative Council shall not be less than 40.

	 3.	 The Chief Minister of the state acts as the leader of the State Legislative Council also.

	 4.	� One-sixth members of the State Legislative Council are elected by the elected members of the 
State Legislative Assembly.

	 (A) 1, 2, 3 and 4		  (B) 2, 3 and 4 only

	 (C) 1, 2 and 3 only		  (D) 1, 2 and 4 only

146.	 Which of the following statements are correct regarding High Courts in India?

	 1.	 Generally there are four categories of Judges in the High Courts.

	 2.	� Permanent Judge, Additional Judge, Acting Judge  and Ad Hoc Judges are the four types of judges 
in High Court.

	 3.	 The Gujarat High Court was established in the year 1965 along with Kerala High Court

	 4.	 At present there are 25 High Courts in India

	 (A) 1, 2, 3 and 4		  (B) 1 and 2 only

	 (C) 1, 2 and 4 only		  (D) 1, 3 and 4 only

147.	 Who among the following are eligible for free legal services in India?

	 1. Women and Children		  2. Persons in Custody

	 3. Disabled Persons		  4. Industrial Workmen

	 (A) 1, 2, 3 and 4	 (B) 1, 2 and 3 only	 (C) 2, 3 and 4 only	 (D) 1, 2 and 4 only

148.	 Which of the following statements are correct regarding Cooperative Societies in India?

	 1.	 Right to form cooperative societies is a fundamental right in India

	 2.	� The 97th Constitutional Amendment  Act provided constitutional status to cooperative societies.

	 3.	� The annual general meeting of every cooperative society shall be convened within a period of 6 
months after the end of the financial year.

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

149.	 Which of the following statements are correct?

	 1.	 The Zonal Councils are statutory bodies as they were created under parliamentary law

	 2.	 In total six Zonal Councils were created under States Reorganization Act 1956

	 3.	 Zonal Council consists of Union Finance Minister and Chief Ministers of all States in the zone.

	 4.	� A separate North East Zonal Council was created later which made total 6 (six) Zonal councils in 
India

	 (A) 1, 2, 3 and 4		  (B) 1, 3 and 4 only

	 (C) 1, 2 and 4 only		  (D) 1, 2 and 3 only
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150.	 Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?
	 1.	 hkßÞLke rðÄkLkMk¼k hkßÞ{kt WÃkÞkuøk{kt fkuEÃký yuf yÚkðk ðÄw ¼k»kkykuLku yÃkLkkðe þfu Au.
	 2.	� çktÄkhýLke ykX{e yLkwMkqr[{kt WÕ÷ur¾ík Lk nkuÞ íkuðe ¼k»kkLke hkßÞ Mk¥kkðkh ¼k»kk íkhefu ÃkMktËøke fhe  

þfíkwt LkÚke.
	 3.	� MktMkË òuøkðkE Lk fhu íÞkt MkwÄe, Wå[¥k{ LÞkÞk÷Þ yLku Ëhuf Wå[ LÞkÞk÷Þku{kt ík{k{ fkÞoðkne Võík ytøkúuS 

¼k»kk{kt s hnuþu.
	 (A) 1, 2 yLku 3	 (B) {kºk 1 yLku 2	 (C) {kºk 1 yLku 3	 (D) {kºk 2 yLku 3

151.	� yuf hf{ [¢ð]ræÄ ÔÞksu {qfŒk 3 ð»kuo ÔÞks {wÆ÷ Yk. 13380 y™u 6 ð»kuo ÔÞks {wÆ÷ Yk. 20070 ÚkkÞ Au. Œku Œu  
hf{ ..........

	 (A) Yk. 8820	 (B) Yk. 8920	 (C) Yk. 8980	 (D) Yk. 9920

152.	 ™e[u …ife fÞwt rðÄk™ / fÞk rðÄk™ku ‚k[wt/‚k[k Au?
	 1.	 yuf 100 rf{e/f÷kf™e Íz…u ËkuzŒe 350 {exh ÷ktƒe xÙu™ 750 {exh ÷ktƒku Ã÷uxVku{o 25 ‚uftz{kt …‚kh fhu Au.
	 2.	 yuf 90 rf{e/f÷kf™e Íz…u ËkuzŒe 750 {exh ÷ktƒe xÙu™ yuf Úkkt¼÷ku 6 ‚uftz{kt …‚kh fhu Au.
	 3.	 yuf 90 rf{e/f÷kf™e Íz…u ËkuzŒe 750 {exh ÷ktƒe xÙu™ 350 {exh ÷ktƒku Ã÷uxVku{o 40 ‚uftz{kt …‚kh fhu Au.
	 (A) VõŒ 1 y™u 2	 (B) VõŒ 1 y™u 3	 (C) VõŒ 2	 (D) VõŒ 3

153.	 ™e[u yk…u÷e ©uýe{kt ¾kuxe ‚tÏÞk þkuÄku
	 6, 15, 35, 63, 143, 221…

	 (A) 63	 (B) 143	 (C) 35	 (D) WÃkhLkk Ãkife fkuE Lknª

154.	� yuf fwxwtƒ{kt «íÞuf …wºke™u sux÷e ƒnu™ku Au Œux÷e ‚tÏÞk{kt s ¼kEyku Au. ßÞkhu «íÞuf …wºk™u sux÷k ¼kEyku Au Œu™kÚke 
ƒ{ýe ‚tÏÞk{kt ƒnu™ku Au. Œku Œu fwxwtƒ{kt fux÷k …wºkku nþu?

	 (A) 4	 (B) 6	 (C) 5	 (D) WÃkhLkk Ãkife fkuE Lknª

155.	� [kh yrð¼kßÞ ‚tÏÞkyku™u [zŒk f{{kt „kuXððk{kt ykðu Au. «Úk{ ºký ‚tÏÞkyku™ku „wýkfkh 1001 y™u ytrŒ{ ºký 
‚tÏÞkyku™ku „wýkfkh 2431 Au. Œku «Úk{ ‚tÏÞk þkuÄku.

	 (A) 3	 (B) 7	 (C) 11	 (D) WÃkhLkk Ãkife fkuE Lknª

156.	� yuf ÔÞrõŒ 1 rf{e …qðo ŒhV, íÞkhƒkË 5 rf{e Ërûký ŒhV, …Ae 2 rf{e …qðo ŒhV y™u íÞkhƒkË 9 rf{e W¥kh ŒhV 
òÞ Au. Œku Œu {q¤ MÚkk™Úke fux÷ku Ëqh nþu?

	 (A) 3 rf{e	 (B) 4 rf{e	 (C) 5 rf{e	 (D) WÃkhLkk Ãkife fkuE Lknª

157.	� „ku¤ : …]Úðe ‚kÚku ‚{k™ ‚tƒtÄ ÄhkðŒe þçËku™e òuze þkuÄku.

	 (A) …kŒ¤wt : fk„¤	 (B) ô[kR : …ðoŒ	 (C) ‚{½™ : …k‚k	 (D) ÷kfzwt : xuƒ÷

158.	� r…Œk y™u …wºke™e nk÷™e W{h™ku „wýku¥kh 3 : 1 Au, 4 ð»ko …nu÷k Œu „wýku¥kh 4 : 1 nŒku. Œku r…Œk y™u …wºke™e yksÚke  
2 ð»ko …Ae™e W{h™e ‚huhkþ fux÷e Úkþu?

	 (A) 25 ð»ko	 (B) 26 ð»ko	 (C) 28 ð»ko	 (D) WÃkhLkk Ãkife fkuE Lknª
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150.	 Which of the following statements are correct ?

	 1.	� The Legislature of a State may adopt any one or more of the languages in use within the state.

	 2.	� The State cannot  choose official language which is not mentioned in Schedule 8 of the Constitution

	 3.	� Until Parliament provides, all proceedings in the Supreme Court and every High Court to be in 
English language only.

	 (A) 1, 2 and 3	 (B) 1 and 2 only	 (C) 1 and 3 only	 (D) 2 and 3 only

151.	� A sum of money amounts to Rs. 13380 at the end of 3 years and to Rs. 20070 at the end of 6 years on 
compound interest. The sum is _____

	 (A) Rs. 8820 	 (B) Rs. 8920	 (C) Rs. 8980 	 (D) Rs. 9920

152.	 Which of the following statement/statements is/are true?

	 1.	� A 350 meters long train running at a speed of 100 kms/hr takes 25 seconds to cross a platform of 
length 750 meters.

	 2.	 A 750 meters long train running at a speed of 90 kms/hr takes 6 seconds to cross a pole.

	 3.	� A 750 meters long train running at a speed of 90 kms/hr takes 40 seconds to cross a platform of 
length 350 meters.

	 (A) only 1 and 2 	 (B) only 1 and 3	 (C) only 2	 (D) only 3

153.	 Find out the wrong number in the given series

	 6, 15, 35, 63, 143, 221…

	 (A) 63 		  (B) 143 

	 (C) 35		  (D) None of the above

154.	� In a family, each daughter has the same number of brothers as she has sisters and each son has twice 
as many sisters as he has brothers. How many sons are there in the family?

	 (A) 4 		  (B) 6

	 (C) 5 		  (D) None of the above

155.	� There are 4 prime numbers written in ascending order. The product of first three is 1001 and that of the 
last three is 2431. Find the first prime number.

	 (A) 3		  (B) 7

	 (C) 11		  (D) None of the above

156.	� A man goes 1 km east, then 5 km south, then 2 km east and then 9 km north. How much far away is he 
from his origin?

	 (A) 3 km 	 (B) 4 km 	 (C) 5 km	 (D) None of the above

157.	 Choose the pair of words which have the same relationship as given by Round: Earth

	 (A) Thin : Paper	 (B) Height : Mountain 	 (C) Cube : Dice	 (D) Wood : Table

158.	� The ratio of the ages of father and the daughter at present is 3 :1, 4 years ago the ratio was 4 : 1. The 
average age of the father and daughter 2 year hence will be?

	 (A) 25 years 	 (B) 26 years 	 (C) 28 years	 (D) None of the above
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159.	 yuf ‚ktfurŒf ¼k»kk{kt ‘RED’ ™ku ‚tfuŒ ‘2076’ nkuÞ Œku ‘GREEN’™ku ‚tfuŒ fÞku nþu?

	 (A) 9207716	 (B) 9197717	 (C) 1677209	 (D) 9207616

160.	� ƒu ‚tÏÞkyku™ku ÷.‚k.y (x + y) y™u Œu{™ku „w.‚k.y P(x – y) Au. sku Œu …ife yuf ‚tÏÞk P nkuÞ, Œku ƒeS ‚tÏÞk  
fE nþu?

	 (A) Pxy	 (B) 
1
xy	 (C) x² – y²	 (D) ( x + y )

( x – y )

* � (r™Ëuoþ «§ku 161Úke 164) yuf fwxwtƒ{kt P, Q, R, S, T, U, V y™u W yu{ fw÷ ykX ‚ÇÞku Au. yk ykX ‚ÇÞku ºký y÷„ 
y÷„ …uZeyku (Generations) ‚kÚku ‚tƒtrÄŒ Au, su{kt ºký Ët…Œe Au y™u 2 ‚ÇÞku fwtðkhk Au. «íÞuf Ët…Œe™u ykuAk{kt 
ykuAwt yuf ‚tŒk™ Au.

   �ðÄw{kt, yk ykX ÷kufku ykX y÷„ y÷„ ft…™eyku A, B, C, D, E, F, G y™u H {kt (¢{k™w‚kh nkuÞ Œu sYhe ™Úke) fk{ 
fhu Au. fwxwtƒ{kt VõŒ V y™u R yuf {kŒk™k ‚tŒk™ku (siblings) Au. U, W, R y™u S yuf s òrŒ™k Au. W y™u V Ët…Œe 
™Úke. A ft…™e{kt fk{ fhŒe ÔÞrõŒ yu F ft…™e{kt fk{ fhŒe Mºke™e {kŒk Au. V yu E ft…™e{kt fk{ fhŒku ™Úke y™u S Œu™e 
…wºke Au. R yu ft…™e B {kt fk{ fhu Au. ft…™e G y™u ft…™e E {kt fk{ fhŒe ÔÞrõŒyku yuf s …uZe™e Au. ft…™e G {kt fk{ 
fhŒe ÔÞrõŒ Mºke Au, ft…™e E {kt fk{ fhŒe ÔÞrõŒ …wÁ»k Au. ft…™e C {kt fk{ fhŒe ÔÞrõŒ yu Q, fu su ft…™e D {kt fk{ 
fhu Au, ™k ™k™k (maternal grandfather) Au. T ft…™e H {kt fk{ fhu Au.

161.	 W fE ft…™e{kt fk{ fhu Au?

	 (A) H		  (B) G

	 (C) F		  (D) A

162.	 ft…™e E {kt fk{ fhŒe ÔÞrõŒ ‚kÚku fku™k ÷ø™ ÚkÞk Au?

	 (A) R		  (B) S

	 (C) W		  (D) ft…™e E {kt fk{ fhŒe ÔÞrõŒ y…rhrýŒ Au.

163.	 ™e[u …ife fE skuze Ët…Œe Au?

	 (A) V, U		  (B) S, T

	 (C) R, P		  (D) WÃkhLkk Ãkife fkuE Lknª

164.	 ™e[u …ife fÞwt rðÄk™ / fÞk rðÄk™ku r™rùŒ…ýu ‚k[wt Au/ ‚k[k Au ?

	 (A) U ft…™e A {kt fk{ fhu Au.	 (B) W yu P ™e …wºke Au

	 (C) Q …wY»k Au		  (D) WÃkhLkk Ãkife fkuE Lknª

165.	� P y™u Q Œktƒk y™u r™f÷ ÄkŒwyku™u y™w¢{u 2:7 y™u 7:11™k r{©ý{kt yufºk fhe ƒ™kððk{kt ykðu÷ r{©ÄkŒwyku 
Au. òu yk ƒu r{©ÄkŒwyku™u ‚h¾k «{ký{kt yku„k¤e yuf ºkeS r{©ÄkŒw Z ƒ™kððk{kt ykðu Œku, Z {kt r™f÷ y™u 
Œktƒk™wt «{ký fux÷wt nþu ?

	 (A) 5:11		  (B) 1:2

	 (C) 11:25		  (D) 25:11
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159.	 In a certain code language ‘RED’ is coded as ‘2076’, then how would ‘GREEN’ be coded?

	 (A) 9207716		  (B) 9197717 

	 (C) 1677209		  (D) 9207616

160.	� The LCM of two numbers is (x + y) and their HCF is P(x – y). If one of the numbers is P, the another 
number is

	 (A) Pxy	 (B) 1
xy	 (C) x² – y²	 (D) 

( x – y )
( x + y )

* � (Directions to Questions 161 to 164) There are eight members P, Q, R, S, T, U, V, and W in a family. These 
eight persons belong to three different generations, such that there are three married couples, while two 
members are unmarried. Each couple has at least a child.

    �Further it is known that each of these eight persons works with a different company among A, B, C, D, E, 
F, G and H (Not necessarily in that order). V and R are the only siblings in the family and U, W, R and S are 
of the same gender. W and V do not form a married couple. The person who works with A is the mother 
of the female who works with F. V does not work with E and his daughter is S. R works with B. The person 
who works with G and the one who works with E belong to the same generation. The person who works 
with G is female, whereas the person who is working with E is a male. The persons who works with C is the 
maternal grandfather of Q, who in turn works with D. T works with H.

161.	 Which company does W work with? 

	 (A) H		  (B) G

	 (C) F		  (D) A

162.	 Who among the following is married with the person working with E?

	 (A) R		  (B) S

	 (C) W		  (D) The person works with E is unmarried. 

163.	 Which of the following pairs of persons form a married couple?

	 (A) V, U		  (B) S, T

	 (C) R, P		  (D) None of the above

164.	 Which of the following statements is/are definitely true?

	 (A) U works with A		  (B) W is the daughter of P

	 (C) Q is male		  (D) None of the above

165.	� P and Q are two alloys of copper and nickel prepared by mixing metals in the ratio of 2:7 and 7:11 
respectively. If equal quantities of these two alloys are melted to form a third alloy Z, then what would 
be the ratio of nickel and copper in Z ?

	 (A) 5:11		  (B) 1:2

	 (C) 11:25		  (D) 25:11
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166.	 ™e[u™k rðÄk™ku æÞk™u ÷ku :

	 1.	 òu fkuE ‚{÷tƒ [Œw»fkuý™e ‚{ktŒh ™ nkuÞ Œuðe ƒkswyku ‚h¾e nkuÞ, Œku Œu [r¢Þ [Œw»fkuý Au.

	 2.	 ‚{ktŒhƒksw [Œw»fkuý™k rðfýkuo yufƒeò™u Ëw¼k„u Au.

	 3.	 ‚{÷tƒ [Œw»fkuý™k …k‚…k‚u™k ¾qýk …qhf nkuÞ Au.

	 W…h …ife fÞwt rðÄk™ / fÞk rðÄk™ku ‚k[wt / ‚k[k Au?

	 (A) VõŒ 1		  (B) VõŒ 1 y™u 2

	 (C) VõŒ 3		  (D) 1, 2 yLku 3

167.	 òu 2 x=3 y=12 z Œku = 1z =1
y ..........

	 (A) 	2x 	 (B) 1x 	 (C) 2
x– 	 (D) 1

x–

168.	 1 sw÷kE, 1901 ™k hkus fÞku ðkh nŒku ?

	 (A) hrððkh		  (B) ‚ku{ðkh

	 (C) {t„¤ðkh		  (D) ƒwÄðkh

169.	� P, Q y™u R yuf ÄtÄk{kt y™w¢{u Yk. 40000, Yk. 50000 y™u Yk. 60000 ™wt hkufký fhu Au. P ÄtÄk™k ‚t[k÷™ {kxu 
™Vk™ku 25% ¼k„ {u¤ðu Au. ƒkfe™ku ™Vku P, Q y™u R ðå[u Œu{™k hkufký™k «{ký{kt ðnU[ðk{kt ykðu Au. òu fkuE 
[ku¬‚ ð»ko{kt, P ™u Q y™u R yu {u¤ðu÷ fw÷ hf{ fhŒk P Lku Yk. 2000 ykuAk {¤u, Œku Œu ð»ko{kt fw÷ ™Vku fux÷ku ÚkÞku 
nþu?

	 (A) Yk. 20000		  (B) Yk. 25000

	 (C) Yk. 30000		  (D) WÃkhLkk Ãkife fkuE Lknª

170.	� rþhe™™e ô{h 12 ð»ko Au. ºký ð»koÚke Œu Œu™k {kŒkr…Œk …k‚u fqŒhk™e {kt„ýe fhu Au. Œu™k {kŒkr…Œkyu Œu™u fÌkwt Au fu 
fqŒhku yu…kxo{uLx{kt ¾qþ ™rn hnu yu{ Œuyku {k™u Au, …htŒw Œuykuyu Œu™u …ûke hk¾ðk™e …hðk™„e yk…e Au. rþhe™ nS 
™¬e ™Úke fhe þfe fu fÞk «fkh™wt …ûke Œu™u hk¾ðwt „{þu.

	 fÞtw rðÄk™ yk…u÷e {krnŒe …hÚke r™rùŒ Y…u ‚íÞ Au?

	 (A) rþhe™™k {kŒkr…Œk™u fqŒhk fhŒkt …ûke ðÄkhu „{u Au.

	 (B) rþhe™™u …ûke „{Œk ™Úke.

	 (C) rþhe™ y™u Œu™k {kŒkr…Œk yu…kxo{uLx{kt hnu Au.

	 (D) rþhe™ y™u Œu™k {kŒkr…Œk ½h ƒË÷ðk {k„u Au.

171.	� yuf ¾k™k{kt 3 ÷k÷, 4 ÷e÷k y™u 5 ðkË¤e Ëzk Au. ¾k™k{ktÚke yuf Ëzku ÷uðk{kt ykðu Au y™u …hŒ {qfðk{kt ykðŒku 
™Úke. íÞkhƒkË ¾k™k{ktÚke ƒesku Ëzku ÷uðk{kt ykðu Au. Œku «Úk{ Ëzku ÷k÷ y™u ƒesku Ëzku ðkË¤e nkuÞ Œu™e ‚t¼kð™k 
fux÷e?

	 (A) 7/12		  (B) 3/44

	 (C) 5/44		  (D) 2/3
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166.	 Consider the following statements:

	 1. If the non-parallel sides of a trapezium are equal, then it is cyclic quadrilateral.

	 2. Diagonals of a parallelogram bisect each other.

	 3. Adjacent angles of a trapezium are supplementary.

	 Which of the above statement/ statements is/are true?

	 (A) Only 1		  (B) Only 1 and 2

	 (C) Only 3		  (D) 1, 2 and 3

167.	 If 2 x=3 y=12 z then  = 1
z =1

y
 _____

	 (A) 2
x 		  (B) 1

x

	 (C) 2
x– 		  (D) 1

x–

168.	 What was the day on 1st July, 1901? 

	 (A) Sunday 		  (B) Monday 

	 (C) Tuesday 		  (D) Wednesday

169.	� P, Q and R invested Rs. 40000, Rs. 50000 and Rs. 60000 respectively in a business. P gets 25% of profit 
earned for managing the business. The rest of the profit is divided among P, Q and R in proportion to 
their investments. If in a particular year, P gets Rs. 2000 lesser than the amount received by Q and R 
together, then what is the total profit for that year?

	 (A) Rs. 20000		  (B) Rs. 25000

	 (C) Rs. 30000		  (D) None of the above

170.	� Shirin is twelve years old. For three years, she has been asking her parents for a dog. Her parents 
have told her that they believe a dog would not be happy in an apartment, but they have given her 
permission to have a bird. Shirin has not yet decided what kind of bird she would like to have.

	 Which statement must be true according to the given information ?

	 (A) Shirin’s parents like birds more than they like dogs.

	 (B) Shirin does not like birds

	 (C) Shirin and her parents live in an apartment.

	 (D) Shirin and her parents would like to change the home

171.	� A drawer contains 3 red balls, 4 green balls, and 5 blue balls. One ball is taken from the drawer and is 
NOT replaced. Then another ball is taken from the drawer. What is the probability that the first ball is 
red and the second ball is blue?

	 (A) 7/12		  (B) 3/44

	 (C) 5/44		  (D) 2/3
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* � (r™Ëuoþ- «§ku 172 Úke 174 {kxu) yuf ™k™e ft…™e{kt Wå[ yrÄfkheyku : ‚eRyku, «{w¾, W…«{w¾, ‚r[ð y™u ¾ò™[e 

{kxu Œu s ¢{{kt …ko®f„™e søÞk y™k{Œ hk¾u÷ Au. …ko®f„ søÞk™ku „kzo „kzeyku™k ht„ skuR ûký¼h{kt „kzeyku ÞkuøÞ 
heŒu …kfo ÚkÞu÷ Au fu fu{ Œu fne þfu Au. „kzeyku™k ht„ …e¤ku, ÷e÷ku, òtƒwrzÞku, ÷k÷ y™u ðkË¤e ŒÚkk yrÄfkheyku™k ™k{ 
P, Q, R, S, y™u T Au. (ht„ y™u ™k{ ¢{k™w‚kh nkuÞ Œu sYhe ™Úke)

   «Úk{ MÚkk™u ÷k÷ ht„™e „kze Au.
   ðkË¤e ht„™e „kze ÷k÷ y™u ÷e÷k ht„™e „kzeyku ðå[u …kfo ÚkÞu÷e Au.
   AuÕ÷e søÞk{kt òtƒwrzÞk ht„™e „kze Au.
   ‚r[ð …e¤e „kze [÷kðu Au.
   P ™e „kze S ™e „kze™e íkhík çkksw{kt Ãkkfo ÚkÞu÷e Au.
   T ÷e÷k ht„™e „kze [÷kðu Au.
   Q ™e „kze R y™u T ™e „kzeyku™e ðå[u Au.
   S ™e „kze AuÕ÷e søÞk{kt …kfo ÚkÞu÷e Au.

172.	 W…«{w¾™e „kze™ku ht„ fÞku Au?

	 (A) ÷e÷ku	 (B) …e¤ku	 (C) ðkË¤e	 (D) WÃkhLkk Ãkife fkuE Lknª

173.	 ‚eEyku fkuý Au?

	 (A) P 	 (B) Q	 (C) R	 (D) S

174.	 ‚r[ð fkuý Au?

	 (A) P	 (B) Q	 (C) T	 (D) S

175.	� yuf Ëwfk™Ëkh [ku¬‚ ðMŒw™e ytrfŒ ®f{Œ …h 12% ð¤Œh yk…u Au. òufu Œu{ AŒkt Œu {q¤ ®f{Œ …h 32% ™Vku {u¤ðu 
Au. òu Œu ðMŒw™e {q¤ ®f{Œ Yk. 2500 nkuÞ Œku Œu™e ytrfŒ ®f{Œ fux÷e nþu?

	 (A) Yk. 3300	 (B) Yk. 3600	 (C) Yk. 3750	 (D) WÃkhLkk Ãkife fkuE Lknª

176.	� Yk. 4500 {kxu ƒu swËe swËe çkUfku{ktÚke 2.5 ð»ko ƒkË {¤u÷ ‚kËk ÔÞks™ku ŒVkðŒ Yk. 450 Au. Œku Œu{™k ÔÞks Ëh™ku 
ŒVkðŒ fux÷ku nþu?

	 (A) 2.5%	 (B) 4%	 (C) 4.5%	 (D) 5%

177.	 ‚whu¾ ‚{efhýku: 3x – 4y = 7 yLku 6y = x + 4 {kxu ™e[u …ife fÞwt / fÞkt ‚k[wt / ‚k[k Au ?
	 1.	 yk ‚whu¾ ‚{efhýku™u yufÚke ðÄw Wfu÷ Au.
	 2.	 Wfu÷ yk {wsƒ Au: x = 19/14 yLku y = 25/28

	 3.	 yk ‚whu¾ ‚{efhýku™u y™LÞ Wfu÷ Au.
	 (A) VõŒ 1	 (B) VõŒ 2 yLku 3	 (C) VõŒ 3	 (D) yuf…ý ‚k[wt ™Úke

178.	� 6 fkhe„hku yuf rËðk÷ [ýðk™wt fk{ þY fhu Au. Œuyku ƒÄk …nu÷ku rËð‚ ‚kÚku fk{ fhu Au. íÞkhƒkË, ƒeò rËð‚Úke 
Ëhuf rËð‚u yuf fkhe„h fk{ Akuze òÞ Au. yk heŒu yk¾w fk{ 4 rËð‚{kt …whwt ÚkkÞ Au. òu fkuE fkhe„h fk{ Akuze™u 
™ „Þku nkuŒ Œku Œu fk{ fux÷k rËð‚{kt …whwt ÚkkŒ?

	 (A) 2 rËð‚	 (B) 2.5 rËð‚	 (C) 3 rËð‚	 (D) 3.5 rËð‚
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* � (Directions for questions 172 to 174.) In a small company, parking spaces are reserved for the top executives: 

CEO, president, vice-president, secretary, and treasurer — with the spaces lined up in that order. The 
parking lot guard can tell at a glance if the cars are parked correctly by looking at the color of the cars. 
The cars are yellow, green, purple, red, and blue, and the executives’ names are P, Q, R, S, and T (colors 
and names are not necessarily in that order).

   The car in the first space is red.
   A blue car is parked between the red car and the green car.
   The car in the last space is purple.
   The secretary drives a yellow car.
   P’s car is parked next to S’s.
   T drives a green car.
   Q’s car is parked between R’s and T’s.
   S’s car is parked in the last space.

172.	 What color is the vice-president’s car?

	 (A) Green		  (B) Yellow

	 (C) Blue		  (D) None of the above

173.	 Who is the CEO?

	 (A) P 	 (B) Q	 (C) R	 (D) S

174.	 Who is the secretary?

	 (A) P	 (B) Q	 (C) T	 (D) S

175.	� A shopkeeper gives 12% discount on certain goods on marked price. However he still makes gross 
profit of 32% on cost price. If Rs. 2500 is cost price of that goods what is the marked price of that 
goods?

	 (A) Rs. 3300		  (B) Rs. 3600

	 (C) Rs. 3750		  (D) None of the above

176.	� The difference of the simple interests received for Rs. 4500 from two different banks after 2.5 years is 
Rs. 450. The difference between their rates of interest is 

	 (A) 2.5%	 (B) 4%	 (C) 4.5%	 (D) 5%

177.	 For two linear equations 3x – 4y = 7 and 6y = x + 4, which of the following is/are true ?
	 1. These linear equations have more than one solution.
	 2. The solution is : x = 19/14 and y = 25/28
	 3. These linear equations have unique solution

	 (A) Only 1		  (B) Only 2 and 3

	 (C) Only 3		  (D) None is true

178.	� 6 workers start to work in the construction of a wall. They all work together for 1st day. Thereafter, from 
second day one worker leaves the work every day. Thus, the total job is completed in 4 days. If none 
of the workers would leave the job, how many days they would have taken to complete the work?

	 (A) 2 days	 (B) 2.5 days	 (C) 3 days	 (D) 3.5 days
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179.	 ™e[u™e ykf]rŒ{kt ABCD ‚{ktŒh ƒksw [Œw»fkuý nkuÞ, Œku ∠DEB þkuÄku.

	

	 (A) 55	 (B) 45	 (C) 35	 (D) 30

180.	� yuf 6 ‚u{e ƒksw™k ‚{½™™e ƒÄe ƒkswÚke ÷k÷ ht„ ðzu ht„e Œu™u 1 ‚u{e çkksw™k ™k™k ‚{½™ku{kt fk…ðk{kt ykðu Au. 
Œku yk ™k™k ‚{½™ku …ife su™e ykuAk{kt ykuAe ƒu ƒkswyku ht„u÷e nkuÞ Œuðk ‚{½™™e ‚tÏÞk fux÷e ?

	 (A) 4	 (B) 16	 (C) 32	 (D) WÃkhLkk Ãkife fkuE Lknª

181.	 ™e[u™e {krnŒe {kxu {æÞf, {æÞMÚk y™u ƒnw÷f™e ®f{Œ y™w¢{u fux÷e nþu?

	 13, 18, 13, 14, 13, 16, 14, 21, 13.

	 (A) 13, 14, 15	 (B) 15, 14, 13	 (C) 15, 13, 14	 (D) 14, 13, 15

182.	� r…Œk™e ô{h Œu™k …wºk™k sL{ ‚{Þu, …wºk™e nk÷™e ô{h sux÷e nŒe. 12 ð»ko …Ae r…Œk y™u …wºk™e ô{h™ku  
„wýku¥kh 5 : 3 nþu. Œku r…Œk™e nk÷™e ô{h fux÷e ?

	 (A) 44	 (B) 48	 (C) 54	 (D) WÃkhLkk Ãkife fkuE Lknª

183.	� yuf ‚ktfurŒf ¼k»kk{kt “what was it” ™ku ‚tfuŒ “mi ra de” ; “you go” ™ku ‚tfuŒ “mo nil” ; “you take it” ™ku 
‚tfuŒ “nil pom ra” ; “she was sick” ™ku ‚tfuŒ “tok mi fo” Au. Œku “what you take” Lku ‚ktfurŒf ¼k»kk{kt fE 
heŒu ÷¾kþu ?

	 (A) pom nil ra	 (B) pom ra mi	 (C) nil ra mi	 (D) WÃkhLkk Ãkife fkuE Lknª

* � (r™Ëuoþ: «§ku 184 Úke 188) : ™e[u yk…u÷k …ºkf{kt 5 «fkh™k Mxku‚o P, Q, R, S y™u T îkhk 5 {rn™k ËhBÞk™ ðu[ðk{kt 
ykðu÷ …wMŒfku™e rð„Œku yk…u÷e Au. yk ÃkºkfLkku yÇÞkMk fhe íku{kt ykÃku÷e {krníkeLkku WÃkÞkuøk fhe ykÃku÷k «&™kuLkk sðkçk 
ykÃkku.

Stores 
Month

→ P Q R S T↓
March 115 253 187 230 175
April 200 211 234 145 214
May 310 215 188 190 276
June 120 243 300 175 182
July 140 140 180 190 420

184.	� Mxkuh P îkhk {u {rn™k{kt ðu[ðk{kt ykðu÷ …wMŒfku™e ‚tÏÞk, Mxkuh T îkhk sw÷kE{kt ðu[ðk{kt ykðu÷ …wMŒfku™e ‚tÏÞk 
fhŒk ykþhu fux÷k xfk ykuAe Au?

	 (A) 26	 (B) 36	 (C) 46	 (D) W…h™k …ife fkuR ™ne
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179.	 If ABCD is parallelogram in the following figure, then find ∠DEB.

	
	 (A) 55	 (B) 45	 (C) 35		  (D) 30

180.	� A cube having a side of 6 cm is painted red on all the faces and then cut into smaller cubes of 1 cm 
each. How many smaller cubes will have at least two faces painted?

	 (A) 4		  (B) 16

	 (C) 32		  (D)  None of the above

181.	 For the following data what are the values of Mean, Median and Mode respectively ?

	 13, 18, 13, 14, 13, 16, 14, 21, 13.

	 (A) 13, 14, 15		  (B) 15, 14, 13

	 (C) 15, 13, 14		  (D) 14, 13, 15 

182.	� A father’s age was same as his sons today’s age, when his son was born. After 12 years the ratio of 
father’s age and son’s age will be 5 : 3. What is father’s present age ?

	 (A) 44		  (B) 48

	 (C) 54		  (D) None of the above

183.	� In a code language “what was it” is coded as “mi ra de” ; “you go” as “mo nil” ; “you take it” as  
“nil pom ra” ; “she was sick” as “tok mi fo”. Then how would “what you take” be written in that code 
language?

	 (A) pom nil ra	 (B) pom ra mi	 (C) nil ra mi	 (D)  None of the above

* � (Directions for questions 184 to 188): In the following table, number of books sold by 5 types of stores P, Q, 
R, S and T in 5 months is given. Study the table and answer the given questions using this data. 

Stores 
Month

→ P Q R S T↓
March 115 253 187 230 175
April 200 211 234 145 214
May 310 215 188 190 276
June 120 243 300 175 182
July 140 140 180 190 420

184.	� Number of books sold by store P in May is approximately what per cent less than the number of books 
sold by store T in July?

	 (A) 26		  (B) 36

	 (C) 46		  (D) None of the above
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185.	� Mxkuh P îkhk yur«÷ y™u sw™{kt ðu[ðk{kt ykðu÷ fw÷ …wMŒfku y™u Mxkuh T îkhk {u y™u sw÷kE{kt ðu[ðk{kt ykðu÷ fw÷ 

…wMŒfku™ku „wýku¥kh ykþhu fux÷ku Au?

	 (A) 5 : 16	 (B) 5 : 13	 (C) 5 : 11		  (D) 5 : 9

186.	� òu Mxku‚o Q, S y™u T îkhk yur«÷{kt ðu[u÷ fw÷ …wMŒfku …ife 30% …wMŒfku þiûkrýf «fkh™k nkuÞ Œku, yk s Mxku‚o îkhk 
yk s {rn™k ËhBÞk™ ðu[u÷ fw÷ rƒ™ þiûkrýf …wMŒfku™e ‚tÏÞk fux÷e nþu?

	 (A) 389	 (B) 413	 (C) 399	 (D) W…h™k …ife fkuE ™nª

187.	 Mxkuh R îkhk yur«÷, sw™ y™u sw÷kE{kt ðu[u÷ fw÷ …wMŒfku™e ‚huhkþ fux÷e?

	 (A) 238	 (B) 241	 (C) 243	 (D) W…h™k …ife fkuE ™nª

188.	� Mxkuh Q îkhk {u y™u sw÷kE{kt ðu[u÷ fw÷ …wMŒfku y™u Mxkuh S îkhk {k[o y™u sw™{kt ðu[ðk{kt ykðu÷ fw÷ …wMŒfku™ku 
ŒVkðŒ fux÷ku Au?

	 (A) 60	 (B) 85	 (C) 143	 (D) W…h™k …ife fkuE ™nª

189.	 òu x = 3 + 2√2 , Œku 
√x
1( )√x  –  ™e ®f{Œ ..........

	 (A) 	2√2	 (B) 2	 (C) 4	 (D) 
1

2√2
190.	 ™e[u™k rðÄk™ku æÞk™u ÷ku.

	 1.	 132651 yu …qýo½™ Au.

	 2.	 fkuE ‚tÏÞk™k yuf{™ku ytf 2, 3, 7 yÚkðk 8 nkuÞ Œku Œu ‚tÏÞk …qýoð„o nkuE þfu ™ne.

	 3.	 5808 ™u 7 ðzu „wýŒk Œu …qýoð„o ƒ™u Au.

	 W…h™k …ife fÞwt rðÄk™/ fÞkt rðÄk™ku ‚k[wt / ‚k[k Au ?

	 (A) VõŒ 1 y™u 2	 (B) VõŒ 1 y™u 3	 (C) 1, 2 y™u 3	 (D) yuf…ý ‚k[wt ™Úke

191.	 òu y2∝ (x+b) y™u y = 6 ßÞkhu x = 13, y = 9 ßÞkhu x = 46 3
4

, Œku b ™e ®f{Œ fux÷e?

	 (A) 8 	 (B) 14	 (C) 18	 (D) 16 3
4

192.	� ykf]rŒ{kt ËþkoÔÞk «{kýu [kh þnuhku hMŒk™k ™uxðfoÚke skuzkÞu÷k Au. fkuE yuf þnuhÚke þY fhe™u yuf s hMŒk  
…h yufÚke ðÄw ðkh «ðk‚ fÞko ð„h Œu s þnuh{kt fux÷e heŒu …hŒ Vhe þfkÞ?

	

	 (A) 8	 (B) 12	 (C) 16	 (D) W…h™k …ife fkuE ™nª
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185.	� What is the ratio between the total number of books sold by store P in April and June together and 

total number of books sold by store T in May and July together approximately?

	 (A) 5 : 16 	 (B) 5 : 13 	 (C) 5 : 11 	 (D) 5 : 9

186.	� If 30% of total number of books sold by store Q, S and T together in April were academic books, how 
many non-academic books were sold by the same stores together in same months?

	 (A) 389		  (B)  413

	 (C) 399  		  (D)  None of the above

187.	 What is the average of books sold by store R in April, June and July together?

	 (A) 238		  (B) 241

	 (C) 243		  (D) None of the above

188.	� What is the difference between the total number of books sold by store Q in May and July together and 
total number of books sold by store S in March and June together?

	 (A) 60 		  (B) 85

	 (C)  143 		  (D)  None of the above

189.	 If x = 3 + 2√2 , then the value of 
√x
1( )√x  –  is___

	 (A) 	 2√2 	 (B) 2	 (C) 4	 (D)  
1

2√2
190.	 Consider the following statements:

	 1.	 132651 is a perfect cube.

	 2.	 A number having 2, 3, 7 or 8 at unit’s place is never a perfect square.

	 3.	 By multiplying 5808 by 7, it becomes a perfect square

	 Which of the above statement/statements is/are true?

	 (A) Only 1 and 2		  (B) Only 1 and 3

	 (C) 1, 2 and 3		  (D) None is true

191.	 If y2 ∝ (x+b) and y = 6 when x = 13, y = 9 when x = 46 3
4

, what is the value of  b?

	 (A) 8 	 (B) 14	 (C) 18	 (D) 16 3
4

192.	� Four cities are connected by a road network as shown in the figure. In how many ways can one start 
from any city and come back to it without travelling on the same road more than once?

	
	 (A) 8 	 (B) 12	 (C) 16	 (D) None of the above
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193.	 3:40 f÷kfu ½rzÞk¤™k r{r™x fktxk y™u f÷kf fktxk ðå[u™ku ¾qýku fux÷ku nþu?

	 (A) 80	 (B) 100	 (C) 130		  (D) 140

* � (r™Ëuoþ: «§ku 194 Úke 196) ™e[u™e ykf]rŒ{kt, ðŒwo¤ yu ‚kûkh (Literate), rºkfkuý yu ƒuhkus„kh (Unemployed)  
y™u [kuh‚ yu „úkBÞs™ku (Villagers) Ëþkoðu Au. yk ykf]rŒ™ku yÇÞk‚ fhe ™e[u™k «§ku™k W¥kh yk…ku.

	 ‚kûkh

„úkBÞs™ku

ƒuhkus„kh

194.	 þnuhe (Urban) ‚kûkh ƒuhkus„kh™e fw÷ ‚tÏÞk –

	 (A) 8	 (B) 4	 (C) 12	 (D) 10

195.	 hkus„kh «kó nkuÞ Œuðk r™hûkh „úkBÞs™ku™e ‚tÏÞk –

	 (A) 12 	 (B) 14	 (C) 4	 (D) 20

196.	 ‚kûkh „úkBÞs™ku™e ‚tÏÞk –

	 (A) 12 	 (B) 13	 (C) 9	 (D) 4

197.	 ™e[u™e {krnŒe™ku {æÞMÚk fux÷ku Úkþu?

ðøko 0-10 10-20 20-30 30-40 40-50 50-60 60-70
ykð]Â¥k 07 18 34 50 35 20 06

	 (A) 34.3	 (B) 35.2	 (C) 36.4	 (D) W…h™k …ife fkuR ™ne

198.	� yuf ðu…khe 1 rf÷ku„úk{™u ƒË÷u 1250 „úk{ ËþkoðŒk ðs™fktxk™ku W…Þku„ fhu Au. ðÄw{kt, Œu {q¤ ®f{ŒÚke 20% sux÷e 
ðÄkhu ytrfŒ ®f{Œ hk¾u Au. Œku ™Vk™e xfkðkhe fux÷e Úkþu?

	 (A) 35%	 (B) 45%	 (C) 50%	 (D) W…h™k …ife fkuR ™ne

199.	�  ™e[u™e ykf]rŒ{kt PQ || RS, ∠PQM = 100° y™u ∠SMQ= 25° nkuÞ  
Œku ∠RSM ™wt {qÕÞ fux÷wt Úkþu?

	 (A) 115°	 (B) 120°

	 (C) 125°	 (D) WÃkhLkk Ãkife fkuE Lknª

200.	 ‚kËw Y… yk…ku :  18 – [6 – {4 – 6
11  (8 – 2

3 )} + 12]
	 (A) 0	 (B) -2	 (C) 16

33	 (D) WÃkhLkk Ãkife fkuE Lknª
_____________________
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193.	 What is the angle between the minute hand and the hour hand when the time is 3:40 hours?

	 (A) 80 	 (B) 100	 (C) 130	 (D) 140

* � (Directions for questions : 194 to 196) In the following figure, circle shows Literate, triangle shows 
Unemployed, square Villagers. Study the diagram carefully and answer the following questions :

	

194.	 Total no. of Urban literate unemployed people is –

	 (A) 8	 (B) 4	 (C) 12	 (D) 10

195.	 Total no. of illiterate villagers who are employed is –

	 (A) 12 	 (B) 14	 (C) 4	 (D) 20

196.	 Total no. of literate villagers is –

	 (A) 12 	 (B) 13	 (C) 9	 (D) 4

197.	 What will be the median for following data?

Class 0-10 10-20 20-30 30-40 40-50 50-60 60-70

Frequency 07 18 34 50 35 20 06

	 (A) 34.3  		  (B) 35.2 

	 (C) 36.4 		  (D) None of the above

198.	� A trader uses a weighing balance that shows 1250 grams for a Kilogram. He further mark up his cost 
price by 20%. What is the profit percentage?

	 (A) 35% 		  (B) 45%

	 (C) 50%		  (D) None of the above

199.	 In the figure PQ || RS, ∠PQM = 100° and ∠SMQ= 25° what is the value of ∠RSM ?

	 (A) 115°	 (B) 120°

	 (C) 125°	 (D) None of the above

200.	 Simplify :  18 – [6 – {4 – 6
11  (8 – 2

3 )} + 12]
	 (A) 0 	 (B) –2	 (C) 16

33
	 (D) None of the above

_____________________
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